TOMO I

PESIN 2020 - 2034

ANEXO ¥

CURVAS QV
ESCENARIO DE REFERENCIA

(Corto Plazo)



01-2021CA-ModMax-Sec_6001

Minimo Margen de

750.000 Reactivo-356.18MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant(MVAR)
——128  Plant (MVAR)
250.000 ——L4 Plant (MVAR)
—— 148 Plant (MVAR)
125.000 ——18  Plant (MVAR)
| ——19 Plant (MVAR)
Q[MVAr]  0.000 —— T T " ’ ' —H4 ' ' ! ——L110 Plant (MVAR
0.700\0.750 0.800 0.850 0.900 0950 1000/ 1050 1.100 1.150 ant (MVAR)
/ ~—~—ST1 Plant (MVAR)
-125.000 NS
ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 -
——P3  Plant (MVAR)
375.000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000
V [pu]
01-2021CA-ModMax-Sec_6002
Minimo Margen de
750.000 Reactivo:-308.74MVAr
625.000
500.000
—— CASO BASE
375.000 7 ——11 Plant (MVAR)
;/ ——12B  Plant (MVAR)
250.000 ——14 Plant (MVAR)
——148  Plant (MVAR)
125.000 7 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 T T T T " " ' ! ' ——110 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 7/ 1.050 1.100 1.150 ant ( )
) ~——ST1  Plant (MVAR)
-125.000
ST2  Plant (MVAR)
250,000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
375.000 PS  Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000

V [pu]




01-2021CA-ModMax-Sec_6003

Minimo Margen de

750.000 Reactivo:-368.01MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant(MVAR)
——12B  Plant (MVAR)
250.000 ~—— L4 Plant(MVAR)
——L4B  Plant (MVAR)
125.000 i ——18 Plant (MVAR)
——L9 Plant (MVAR)
Q[MVAr]  0.000 - T T T " " I ' ’ ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 ant ( )
—~—ST1 Plant(MVAR)
-125.000
ST2 Plant (MVAR)
950000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
.375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14 Plant (MVAR)
-625.000
-750.000
V [pu]
01-2021CA-ModMax-Sec_6004
Minimo Margen de
750.000 Reactivo:-307.54MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant (MVAR)
y ——12B  Plant (MVAR)
250.000 ~——14 Plant(MVAR)
——14B  Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 T " " " ' ' ! ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.050 1.100 1.150 ant ( )
—~—ST1 Plant (MVAR)
-125.000
ST2  Plant (MVAR)
950000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
375,000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14 Plant(MVAR)
-625.000
-750.000

V [pu]




01-2021CA-ModMax-Sec_6005

Minimo Margen de

750.000 Reactivo:-391.06MVAr
625.000
500.000
—— CASO BASE
2
375.000 8 ——11 Plant(MVAR)
——12B Plant (MVAR)
250.000 7 ~——L4 Plant(MVAR)
/ —— 4B Plant (MVAR)
125.000 / ——18 Plant (MVAR)
/ ——L9 Plant (MVAR)
Q[MVAr]  0.000 T T T T " — 7 ' ' ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 ant ( )
—+—ST1 Plant (MVAR)
-125.000
ST2 Plant (MVAR)
550,000 ——P1 Plant (MVAR)
~——P3  Plant (MVAR)
.375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000
V [pu]
01-2021CA-ModMax-Sec_6008
Minimo Margen de
750.000 Reactivo:-668.98MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant (MVAR)
——12B Plant (MVAR)
250.000 ~——L4 Plant(MVAR)
——14B  Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 - - T T T T — T . 110 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 ant ( )
i —+—ST1 Plant (MVAR)
-125.000
ST2  Plant (MVAR)
250,000 ——P1 Plant (MVAR)
~——P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000

V [pu]




01-2021CA-ModMax-Sec_6009

Minimo Margen de

750.000 Reactivo:-508.98MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant(MVAR)
——128  Plant (MVAR)
250.000 ;
7 ~——14 Plant(MVAR)
7
// ——14B  Plant (MVAR)
125.000 ——18 Plant (MVAR)
/
V/Z —— 19 Plant (MVAR)
Q[MVAr]  0.000 - T T T " ' ’ ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.050 1.100 1.150 ant ( )
~~—ST1 Plant (MVAR)
-125.000
ST2 Plant (MVAR)
FZ ——P1 Plant (MVAR
-250.000 =~ ant (MVAR)
S R
o P3  Plant (MVAR)
.375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000
V [pu]
01-2021CA-ModMax-Sec_6018
Minimo Margen de
750.000 Reactivo:-306.45MVAr
625.000
500.000
—— CASO BASE
375.000 7 ——11 Plant(MVAR)
/ ——128B  Plant (MVAR)
250.000 ~——L4 Plant(MVAR)
—— 148 Plant (MVAR)
125.000 4 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : - - - - - - - . 10 Plant (MVAR
0.100 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 ant ( )
~~—ST1 Plant (MVAR)
-125.000
ST2  Plant (MVAR)
250,000 - ——P1 Plant (MVAR)
——P3  Plant (MVAR)
375,000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000

V [pu]




01-2021CA-ModMax-Sec_6173

Minimo Margen de

750.000 Reactivo:-249.25MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant(MVAR)
——128  Plant (MVAR)
250.000 ~——14 Plant(MVAR)
—— 148 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——L9 Plant (MVAR)
QIMVAr]  0.000 . . . " X — i ' ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 ant ( )
~~—ST1 Plant (MVAR)
-125.000
ST2 Plant (MVAR)
250,000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
.375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000
V [pu]
01-2021CA-ModMax-Sec_6182
Minimo Margen de
750.000 Reactivo:-808.38MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant(MVAR)
——128  Plant (MVAR)
250.000 ~——L4 Plant(MVAR)
—— 148 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : - - - - A - : O Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1000 / 1.050 1.100 1.150 ant ( )
~~—ST1 Plant (MVAR)
-125.000
// ST2  Plant (MVAR)
250,000 / ——P1 Plant (MVAR)
// ——P3  Plant (MVAR)
375,000 PS5 Plant (MVAR)
/ P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000

-750.000




01-2021CA-ModMed-Sec_6001

Minimo Margen de

750.000 Reactivo:-389.36MVAr
625.000
500.000
—— CASO BASE
Z —— L1 Plant(MVAR
375.000 % ( )
y 4 ——L2B  Plant (MVAR)

——14 Plant (MVAR)

250.000 7
// —— 4B Plant (MVAR)
y / ——18 Plant (MVAR)

125.000
/' ——19 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . J . . , ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 //  1.050 1.100 1150 571 plant (MVAR)
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ~——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7 Plant (MVAR)
-500.000
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
01-2021CA-ModMed-Sec_6002
Minimo Margen de
750.000 Reactivoi-337.06MVAr
625.000
500.000
—— CASO BASE
——1L1 Plant(MVAR)
375.000
——12B Plant (MVAR)
250,000 —— 14 Plant (MVAR)
——14B  Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVA]  0.000 . . . . . . . . , ~—~—110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 LOOO/ 1.050 1.100 1150 571 plant (MVAR)
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ~——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000

V [pu]




01-2021CA-ModMed-Sec_6003

Minimo Margen de

750.000 Reactivo=403.24MVAr
625.000
500.000
—— CASO BASE
=
/ ——11 Plant (MVAR
375.000 Za : )
///" ——12B Plant (MVAR)
250.000 ——14 Plant (MVAR)
4 ——14B  Plant (MVAR)
125.000 “ ——18 Plant (MVAR)
| ——19 Plant(MVAR)
Q[MVAr]  0.000 . . . . . . ‘ . . . ~——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 ,  1.050 1.100 1150 G711 plant (MVAR)
‘ 1
-125.000 ~x ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ——P2 Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5 Plant (MVAR)
P7 Plant (MVAR)
-500.000
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
01-2021CA-ModMed-Sec_6004
Minimo Margen de
750.000 Reactivo:-340.35MVAr
625.000
500.000
—— CASO BASE
——11 Plant(MVAR)
375.000
/ ——128  Plant (MVAR)
250.000 ——14 Plant (MVAR)
// ——14B  Plant (MVAR)
125.000 // ——18 Plant (MVAR)
’ ——19 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . . ~——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1150 G11 plant (MVAR)
-125.000 - ST2  Plant (MVAR)
/ ——P1  Plant (MVAR)
7
-250.000 ——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000

V [pu]




01-2021CA-ModMed-Sec_6005

Minimo Margen de

750.000 Reactivo:-422.22MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
—+—L2B Plant (MVAR)
250,000 ——L4 Plant (MVAR)
——L4B  Plant (MVAR)
125.000 ——L8 Plant (MVAR)
——19 Plant(MVAR)
Q[MVAr]  0.000 . . . . . . /A . . ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 / 1.050 1.100 1150 . gT1 Plant (MVAR)
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 - ~——P2 Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5 Plant (MVAR)
P7 Plant (MVAR)
-500.000
P14 Plant (MVAR)
-625.000
-750.000
V [pu]
01-2021CA-ModMed-Sec_6008
Minimo Margen de
750.000 Reactivo:-638MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
——1L2B Plant (MVAR)
250,000 ——L4 Plant (MVAR)
——L4B  Plant (MVAR)
125.000 —— L8 Plant(MVAR)
i ——19 Plant(MVAR)
Q[MVAr]  0.000 . . . . . . e . , —— 110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 //‘J‘ 1.050 1.100 1150 . sT1 Plant (MVAR)
-125.000 i ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ~——P2 Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5 Plant (MVAR)
P7 Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000

-750.000




01-2021CA-ModMed-Sec_6009

Minimo Margen de

750.000 Reactivo:-486.66MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
—+—L2B Plant (MVAR)
250.000 ——L4 Plant (MVAR)
——L4B  Plant (MVAR)
125.000 ——L8 Plant (MVAR)
/ ——19 Plant (MVAR)
VY
Q[MVAr]  0.000 . . . . . . Z . , ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 -7 1.050 1.100 1150 . sT1  plant (MVAR)
-125.000 - ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ~——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
= P7  Plant (MVAR)
-500.000
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
01-2021CA-ModMed-Sec_6018
Minimo Margen de
750.000 Reactivoi-334MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
S ——L2B  Plant (MVAR)
250,000 / ~——1L4 Plant(MVAR)
/ —— 4B Plant (MVAR)
125.000 / —— L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 . . . . . — . . , ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1A000/ 1.050 1.100 1150 . sT1  plant (MVAR)
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ~——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14 Plant (MVAR)
-625.000
-750.000

V [pu]




01-2021CA-ModMed-Sec_6173

Minimo Margen de

750.000 Reactivo-251.55MVAr
625.000
500.000
—— CASO BASE
——11 Plant(MVAR)
375.000
—+—L2B Plant (MVAR)
250,000 ~—~—14 Plant(MVAR)
——14B  Plant (MVAR)
125.000 = ——18 Plant (MVAR)
——19 Plant(MVAR)
Q[MVAr]  0.000 . . . . . — . . . ~——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1150 G711 plant (MVAR)
-125.000 — ST2  Plant (MVAR)
——P1 Plant (MVAR)
——P2 Plant (MVAR)
P3  Plant (MVAR)
-375.000 PS  Plant (MVAR)
P7 Plant (MVAR)
-500.000
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
01-2021CA-ModMed-Sec_6182
Minimo Margen de
750.000 Reactivo-768.49MVAr
625.000
500.000
—— CASO BASE
——11 Plant(MVAR)
375.000
/ ——12B  Plant (MVAR)
250,000 ~—~—14 Plant(MVAR)
/ ——14B  Plant (MVAR)
125.000 ——18 Plant (MVAR)
/ ——19 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . / . . . ~——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1000 /1050 1.100 1150 G11 plant (MVAR)
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 7 ~—=—P2 Plant (MVAR)
P3  Plant (MVAR)
-375.000 Y/ PS  Plant (MVAR)
72
y / P7  Plant (MVAR)
-500.000 // P14  Plant (MVAR)
-625.000 /
///
<
-750.000 A\ e




01-2021CA-ModMedNoct-Sec_6001

Minimo Margen de

750.000 Reactivo:-393.56MVAr
625.000
500.000
—— CASO BASE
/ L1 Plant (MVAR)
R ant
375.000
/ —+—L2B Plant (MVAR)
250,000 // ——14 Plant (MVAR)
/ ——148  Plant (MVAR)
125.000 ——18 Plant (MVAR)
/ ——19 Plant(MVAR)
Q[MVAr]  0.000 . . . . . — . . . ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 /, 1.050 1.100 1150 G711 plant (MVAR)
125.000 —— ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000 PS  Plant (MVAR)
P7 Plant (MVAR)
-500.000
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
01-2021CA-ModMedNoct-Sec_6002
Minimo Margen de
750.000 Reactivo:-339.88MVAr
625.000
500.000
—— CASO BASE
275,000 Z ——11 Plant(MVAR)
/// ——12B  Plant (MVAR)
250.000 ——14 Plant (MVAR)
/, ——148  Plant (MVAR)
125.000 / ——18 Plant (MVAR)
/ ——19 Plant (MVAR)
/,
Q[MVAr]  0.000 . . . . . . . . . ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 %00 1.050 1.100 1150 G711 plant (MVAR)
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ~—=—P2 Plant (MVAR)
P3  Plant (MVAR)
-375.000 PS  Plant (MVAR)
P7  Plant (MVAR)
~500.000 P14 Plant (MVAR)
-625.000
-750.000

V [pu]




01-2021CA-ModMedNoct-Sec_6003

Minimo Margen de

750.000 Reactivo-407.43MVAr
625.000
500.000
: —— CASO BASE
/ ——L1 Plant (MVAR)
375.000
4 ——L2B  Plant (MVAR)
250,000 / ——14 Plant (MVAR)
// ——14B  Plant (MVAR)
4
125.000 ——L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . . ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1150 G711 plant (MVAR)
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 - ——P2 Plant (MVAR)
P3  Plant (MVAR)
-375.000 PS  Plant (MVAR)
P7 Plant (MVAR)
-500.000
P14 Plant(MVAR)
-625.000
-750.000
V [pu]
01-2021CA-ModMedNoct-Sec_6004
Minimo Margen de
750.000 Reactivo-343.52MVAr
625.000
500.000
—— CASO BASE
275,000 ——11 Plant (MVAR)
- 7
// ——12B  Plant (MVAR)
250.000 . / ——14 Plant(MVAR)
——14B  Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 . . . . . - . . . ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1,000 1.050 1.100 1150 G11 plant (MVAR)
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ~—=—P2 Plant (MVAR)
P3  Plant (MVAR)
-375.000 PS  Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14 Plant (MVAR)
-625.000
-750.000

V [pu]




01-2021CA-ModMedNoct-Sec_6005

Minimo Margen de

750.000 Reactivo=425.97MVAr
625.000
500.000
—— CASO BASE
——11 Plant(MVAR
375.000 i i (MVAR)
74 —— 128 Plant (MVAR)
250,000 ——14 Plant (MVAR)
/ —— 148 Plant (MVAR)
/
125.000 ——L8 Plant (MVAR)
/ ——19 Plant(MVAR)
QIMVAr]  0.000 . . . . . . F— . . ~—~—110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 /  1.050 1.100 1150 §T1  Plant (MVAR)
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ——P2 Plant (MVAR)
P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7 Plant (MVAR)
-500.000
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
01-2021CA-ModMedNoct-Sec_6008
Minimo Margen de
750.000 Reactivoi-598.72MVAr
625.000
500.000 4
—— CASO BASE
——11 Plant(MVAR)
375.000
——128  Plant (MVAR)
250,000 . ——14 Plant (MVAR)
/// ——14B  Plant (MVAR)
125.000 J ——18 Plant (MVAR)
/// ——19 Plant(MVAR)
Q[MVAr]  0.000 . . . . . . W— . . ~—~—110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 /// 1.050 1.100 1150 . §T1 Pplant (MVAR)
-125.000 / ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000

-750.000




01-2021CA-ModMedNoct-Sec_6009

Minimo Margen de

750.000 Reactivo:-450.61MVAr
625.000
500.000
—— CASO BASE
——1L1 Plant(MVAR)
375.000
—+—L2B Plant (MVAR)
250.000 ——L4 Plant(MVAR)
/ ——14B  Plant (MVAR)
125.000 7 ——L8 Plant (MVAR)
/ ——19 Plant (MVAR)
,//
Q[MVAr]  0.000 . . . . . . — . . ~—~—110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.0007  1.050 1.100 1150 571 plant (MVAR)
-125.000 = ST2  Plant (MVAR)
>
Z ——P1 Plant (MVAR)
-250.000 < ——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7 Plant (MVAR)
-500.000
P14 Plant(MVAR)
-625.000
-750.000
V [pu]
01-2021CA-ModMedNoct-Sec_6018
Minimo Margen de
750.000 Reactivoi-336.78MVAr
625.000
500.000
—— CASO BASE
/ ——1L1 Plant(MVAR
375.000 7 (MVAR)
/ ——— 128 Plant (MVAR)
250.000 ——L4 Plant(MVAR)
/ ——14B  Plant (MVAR)
125.000 ’ ——18 Plant (MVAR)
/ ——19 Plant (MVAR)
/
Q[MVAr]  0.000 . . . . . . . . . ~—~—110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 7600 1.050 1.100 1150 571 plant (MVAR)
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ——P2 Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000

V [pu]




01-2021CA-ModMedNoct-Sec_6173

Minimo Margen de

750.000 Reactivo:-253.6MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
—+—L2B Plant (MVAR)
250.000 ~——L4 Plant(MVAR)
——L4B  Plant (MVAR)
=
125.000 _ ——L8 Plant (MVAR)
) ——19 Plant (MVAR)
Q[MVAr]  0.000 . . . . . ; . . , ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1150 . sT1  plant (MVAR)
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ~——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5 Plant (MVAR)
P7 Plant (MVAR)
-500.000
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
01-2021CA-ModMedNoct-Sec_6182
Minimo Margen de
750.000 Reactivoi-715.62MVAr
625.000
500.000
—— CASO BASE
/
——1L1 Plant(MVAR
375.000 ,é ( )
// ——L2B  Plant (MVAR)
250.000 ’ ~——L4 Plant(MVAR)
// ——1L4B  Plant (MVAR)
125.000 —— L8 Plant (MVAR)
i ——19 Plant (MVAR)
/
/
Q[MVAr]  0.000 . . . . . . H— . , ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 / 1.050 1.100 1150 . sT1  plant (MVAR)
-125.000 / ST2  Plant (MVAR)
/ ——P1 Plant (MVAR)
-250.000 / ~——P2  Plant (MVAR)
/ P3  Plant (MVAR)
-375.000 / P5  Plant (MVAR)
// P7  Plant (MVAR)
-500.000 % P14  Plant (MVAR)
-625.000
S
-750.000 AE N ==

V [pu]




01-2021CA-ModMin-Sec_6001

Minimo Margen de

750.000 Reactivo:-414.28MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant (MVAR)
7 ——12B  Plant (MVAR)
250.000 ~—— L4 Plant(MVAR)
——14B  Plant (MVAR)
125.000 ——18 Plant (MVAR)
——L9 Plant (MVAR)
Q[MVAr]  0.000 - T T T " " ’ ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.100 1.150 ant ( )
—~—ST1 Plant(MVAR)
-125.000
ST2 Plant (MVAR)
950000 ——P1 Plant (MVAR)
/ ——P3  Plant (MVAR)
.375.000 P5 Plant (MVAR)
\i::i__i;/ P7. Plant (MVAR)
-500.000 = P14 Plant (MVAR)
-625.000
-750.000
V [pu]
01-2021CA-ModMin-Sec_6002
Minimo Margen de
750.000 Reactivo:-367.58MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant (MVAR)
/ ——12B  Plant (MVAR)
250.000 / ~——L4 Plant(MVAR)
/ ——1L4B  Plant (MVAR)
125.000 / ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 - - - - T T T T : 110 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 LOOO/’ 1.050 1.100 1.150 ant ( )
/ —~—ST1 Plant (MVAR)
-125.000
/ ST2  Plant (MVAR)
950000 7 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
375,000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14 Plant(MVAR)
-625.000
-750.000

V [pu]




01-2021CA-ModMin-Sec_6003

Minimo Margen de
Reactivo:-422.53MVAr

750.000
625.000
500.000
—— CASO BASE
375.000 ——11 Plant(MVAR)
/ —— 128 Plant (MVAR)
250.000 / ~—— L4 Plant(MVAR)
—— 148 Plant (MVAR)
125.000 ] ——18 Plant (MVAR)
| —— 19 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T Za T ) L0 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 | 1.050 1.100 1.150 ant ( )
| —~—ST1 Plant (MVAR)
-125.000
ST2 Plant (MVAR)
250,000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
.375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000
V [pu]
01-2021CA-ModMin-Sec_6004
Minimo Margen de
750.000 Reactivo:-364.56MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant(MVAR)
X ——128  Plant (MVAR)
A
250.000 ——14 Plant (MVAR)
y —— 148 Plant (MVAR)
125.000 7 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 T T " " " —7 ' ! ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000/ 1.050 1.100 1.150 ant ( )
~<—ST1 Plant (MVAR)
-125.000
ST2  Plant (MVAR)
250,000 ——P1 Plant (MVAR)
‘ ——P3  Plant (MVAR)
375,000 PS5 Plant (MVAR)
= P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000

V [pu]




01-2021CA-ModMin-Sec_6005

Minimo Margen de

750.000 Reactivo:-441.6MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant(MVAR)
——1L2B Plant (MVAR)
250.000 — L4 Plant(MVAR)
——L4B  Plant (MVAR)
125.000

——1L8 Plant (MVAR)
——L9 Plant (MVAR)

Q[MVAr]  0.000 . . . . . .
~—+—L10 Plant(MVAR)

0.700 0.750 0.800 0.850 0.900 0.950 1.000 /' 1.050 1.100 1.150

4 ~—~—ST1 Plant (MVAR)
-125.000

ST2 Plant (MVAR)

-250.000 ——P1 Plant (MVAR)

~——P3 Plant (MVAR)

.375.000 P5 Plant (MVAR)

P7  Plant (MVAR)

-500.000 P14 Plant(MVAR)
-625.000
-750.000

V [pu]
01-2021CA-ModMin-Sec_6008
Minimo Margen de
750.000 Reactivo:-600.08MVAr
625.000
500.000
4 —— CASO BASE
4

375.000 ——L1 Plant (MVAR)

4 —— 128 Plant (MVAR)

250.000 ~——L4 Plant(MVAR)

——L4B  Plant (MVAR)
125.000

——18 Plant (MVAR)
——19 Plant (MVAR)

Q[MVAr]  0.000 . . . . . .
——110 Plant (MVAR)

0.700 0.750 0.800 0.850 0.900 0.950 1.100 1150
—~—ST1 Plant (MVAR)
-125.000
ST2  Plant (MVAR)
——P1  Plant (MVAR
-250.000 ant ( )
——P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000

-750.000




01-2021CA-ModMin-Sec_6009

Minimo Margen de

750.000 Reactivo:-460.74MVAr
625.000
500.000
—— CASO BASE
375.000 ——L1 Plant(MVAR)

——1L12B Plant (MVAR)

250.000 ——1L4 Plant (MVAR)
. —— 4B Plant (MVAR)

125.000 —— 18 Plant(MVAR)

——L9 Plant (MVAR)

Q[MVAr]  0.000 . . . . . . ; .

0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 L10  Plant (MVAR)

~—+—ST1 Plant (MVAR)
-125.000 4
/// ST2 Plant (MVAR)
950,000 ——P1 Plant (MVAR)
~=—P3 Plant (MVAR)
.375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14 Plant (MVAR)
-625.000
-750.000
V [pu]
01-2021CA-ModMin-Sec_6018
Minimo Margen de
750.000 Reactivo-364.91MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant (MVAR)
/ ——1L2B  Plant (MVAR)
250.000 ~——L4 Plant(MVAR)
/ ——1L4B  Plant (MVAR)
125.000 / ——18 Plant (MVAR)

—— L9 Plant (MVAR)

Q[MVAr]  0.000 . . . . . . .
——110 Plant (MVAR)

0.700 0.750 0.800 0.850 0.900 0.950 LOOO/’ 1.050 1.100 1.150
—~—ST1 Plant(MVAR)
-125.000
ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
——P3 Plant (MVAR)
-375.000 PS5  Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14 Plant (MVAR)
-625.000
-750.000

V [pu]




01-2021CA-ModMin-Sec_6173

Minimo Margen de

750.000 Reactivo:-274.61MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant (MVAR)
——1L2B  Plant (MVAR)
250.000 ~——L4 Plant(MVAR)
——1L4B  Plant (MVAR)
125.000 ——18 Plant (MVAR)
~ ——L9 Plant (MVAR)
Q [MVAr] 0.000 T T T T T — T d o Pl MVAR
0.700 0.750 0.800 0.850 0.900 0.950 711000 1.050 1.100 1.150 ant ( )
o ~—~—ST1 Plant (MVAR)
-125.000 =
ST2 Plant (MVAR)
950,000 ——P1 Plant (MVAR)
~=—P3 Plant (MVAR)
.375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14 Plant (MVAR)
-625.000
-750.000
V [pu]
01-2021CA-ModMin-Sec_6182
Minimo Margen de
750.000 Reactivo:-743.41MVAr
625.000
500.000
—— CASO BASE
375.000 4 ——11 Plant (MVAR)
——1L2B  Plant (MVAR)
250.000

Q [MVAr]

——L4 Plant(MVAR)
——14B  Plant (MVAR)

0.000 . . . . , /.

/

——1L18 Plant(MVAR)
—— L9 Plant (MVAR)

0.700 0.750 0.800 0.850 0.900 0.950 1.000 / 1.050 1.100 1.150

——110 Plant (MVAR)
—~—ST1 Plant (MVAR)

ST2  Plant (MVAR)
——P1 Plant (MVAR)

-250.000 /

~——P3 Plant (MVAR)
P5 Plant (MVAR)

P7  Plant (MVAR)
P14 Plant(MVAR)

-500.000 £
y 4

-625.000
AN 7

-750.000




02-2021CA-ModMax-Lluv_6001

Minimo Margen de

750.000 Reactivo-135.63MVAr
625.000
500.000
—— CASO BASE
375.000
——1L1 Plant(MVAR)
250.000 \\\ \ X ——128B  Plant (MVAR)
\\\\\\ 14 Plant (MVAR)
125.000 \ ——14B  Plant (MVAR)
N ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . ——19  Plant (MVAR)
0.700 0.750 0.800 0.950 1.000 / 1.050 1.100 1150 . 10 Plant(MVAR)
-125.000 ~———ST1 Plant (MVAR)
ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7 Plant (MVAR)
-500.000
-625.000
-750.000
V [pu]
02-2021CA-ModMax-Lluv_6002
Minimo Margen de
750.000 Reactivo-131.26MVAr
625.000
500.000
—— CASO BASE
375.000
/ ——11 Plant(MVAR)
/
250.000 ——128B  Plant (MVAR)
% ——14 Plant(MVAR)
125.000 ——14B  Plant (MVAR)
\\\&\ / —— L8 Plant (MVAR)
Q[MVAr]  0.000 ——19  Plant (MVAR)
0.700 0.750 o. 30\& 0.900 0.950 1. 000/ 1.050 1.100 1150 . 10 plant(MVAR)
-125.000 / ~—~—ST1 Plant (MVAR)
\*&*ﬁj ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000
-625.000
-750.000

V [pu]




02-2021CA-ModMax-Lluv_6003

Minimo Margen de

750.000 Reactivo-134.69MVAr
625.000
500.000
—— CASO BASE
375.000
——1L1 Plant(MVAR)
250,000 & \ % ——12B  Plant (MVAR)
\\\\\\\\ / —~—L4 Plant(MVAR)
125.000 \ ——L4B  Plant (MVAR)
\\\ / ——18 Plant (MVAR)
Q[MVAr]  0.000 - . . . y DA . , ——19 Plant (MVAR)
0.700 0.750 0.800 0.900 0.950 1.000 / 1.050 1.100 1150 |19 plant (MVAR)
-125.000 —~—ST1 Plant (MVAR)
ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
~——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7 Plant (MVAR)
-500.000
-625.000
-750.000
V [pu]
02-2021CA-ModMax-Lluv_6004
Minimo Margen de
750.000 Reactivo-123.6MVAr
625.000
500.000
—— CASO BASE
375.000
——1L1 Plant(MVAR)
250,000 ——12B Plant (MVAR)
~—~—L4 Plant(MVAR)
125.000 \ ——L4B  Plant (MVAR)
\\ ——18 Plant (MVAR)
Q[MVAr]  0.000 . N\ . . . , ——19 Plant (MVAR)
0.700 0.750 o.gsf\x\ 0 0.900 0.950 1.050 1.100 1150 |19 plant (MVAR)
-125.000 ~—~—ST1 Plant (MVAR)
ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000
-625.000
-750.000

V [pu]




02-2021CA-ModMax-Lluv_6005

Minimo Margen de

750.000 Reactivo-142.44MVAr
625.000
500.000 3
\\ —— CASO BASE
375.000
“ % ——L1 Plant(MVAR)
250,000 WL ——12B  Plant (MVAR)
\X\\\\ // ——L4 Plant(MVAR)
125.000 7 ——14B  Plant (MVAR)
\ / ——1L8 Plant (MVAR)
Q[MVAr]  0.000 . . . . — . . . ——19 Plant (MVAR)
0.700 0.750 0.800 \\ 0.900 0.950 1.00y 1.050 1.100 1150 |10 plant(MVAR)
-125.000 \ ——ST1  Plant(MVAR)
\ == ST2  Plant (MIVAR)
S ———
-250.000 e ————— ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7 Plant (MVAR)
-500.000
-625.000
-750.000
V [pu]
02-2021CA-ModMax-Lluv_6008
Minimo Margen de
750.000 Reactivo-238MVAr
625.000
500.000
—— CASO BASE
375.000
——11 Plant (MVAR)
250,000 ——12B  Plant (MVAR)
~——14 Plant (MVAR)
125.000 ——14B  Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . — . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 111}0/// 1.050 1.100 1150 |19 plant(MVAR)
-125.000 / ~~—ST1 Plant (MVAR)
/ ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000
-625.000
-750.000

V [pu]




02-2021CA-ModMax-Lluv_6009

Minimo Margen de

750.000 Reactivo-226.46MVAr
625.000
500.000
—— CASO BASE
375.000
——1L1 Plant(MVAR)
250,000 —— 128  Plant (MVAR)
——14 Plant (MVAR)
125.000 ——14B  Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 /ug/ 1.050 1.100 1150 . 19 Pplant(MVAR)
>
-125.000 7 —~—ST1 Plant(MVAR)
ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7 Plant (MVAR)
-500.000
-625.000
-750.000
V [pu]
02-2021CA-ModMax-Lluv_6018
Minimo Margen de
750.000 Reactivo-130.82MVAr
625.000
500.000
—— CASO BASE
375.000
/ ——1L1 Plant (MVAR)
250.000 = ——12B  Plant (MVAR)
/7///~ ~~—L4 Plant(MVAR)
125.000 AN ——14B  Plant (MVAR)
\\\\Q / ——18  Plant (MVAR)
Q[MVAr]  0.000 . > . . . . . . ——19 Plant (MVAR)
0.700 0.750 0'80\\ 0.900 0.950 1A0(7 1.050 1.100 1150 . |19 Pplant(MVAR)
-125.000 S ——ST1 Plant(MVAR)
ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000
-625.000
-750.000

V [pu]




02-2021CA-ModMax-Lluv_6173

Minimo Margen de

750.000 Reactivo:-161.75MVAr
625.000
500.000
—— CASO BASE
375.000
——1L1 Plant(MVAR)
250,000 ——128  Plant (MVAR)
/ —~—14 Plant (MVAR)
125.000 : ——14B  Plant (MVAR)
/ ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . — . . , ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1 om/ 1.050 1.100 1150 . 10 Plant(MVAR)
-125.000 — ~———ST1 Plant (MVAR)
\K\\&: ST2  Plant (MVAR)
-250.000 - ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7 Plant (MVAR)
-500.000
-625.000
-750.000
V [pu]
02-2021CA-ModMax-Lluv_6182
Minimo Margen de
750.000 Reactivo-339.61MVAr
625.000
500.000
—— CASO BASE
375.000
——11 Plant(MVAR)
250,000 ——128  Plant (MVAR)
——14 Plant (MVAR)
125.000 ——14B  Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . ——19  Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.100 1150 . 10 plant(MVAR)
-125.000 ~—~—ST1 Plant (MVAR)
ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000
-625.000
-750.000

V [pu]




02-2021CA-ModMed-Lluv_6001

Minimo Margen de

750.000 Reactivo:251.8MVAr
625.000
500.000
—— CASO BASE
375.000
——1L1 Plant(MVAR)
_—1
250.000 AN P —= ——12B  Plant (MVAR)
\N \ p L 14 Plant (MVAR)
125.000 / ——14B  Plant (MVAR)
\\ \\ / ——18 Plant (MVAR)
Q[MVAr]  0.000 . . \N - . . . . . . ——19 Plant (MVAR)
0.700 0.750 0.800 \g\,gm 0.950 1.000/ 1.050 1.100 1150 . 10 Plant(MVAR)
-125.000 / ~———ST1 Plant (MVAR)
N;ﬁ/ ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7 Plant (MVAR)
-500.000
-625.000
-750.000
V [pu]
02-2021CA-ModMed-Lluv_6002
Minimo Margen de
750.000 Reactivo:277.9MVAr
625.000
500.000
—— CASO BASE
375.000
——11 Plant(MVAR)
250,000 S ——L2B  Plant (MVAR)
/ 14 Plant(MVAR)
125.000 \ AN ——14B  Plant (MVAR)
; / ——18 Plant (MVAR)
Q[MVAr]  0.000 - . . / . . . ——19 Plant (MVAR)
0.7 0.900 0.950 y .000 1.050 1.100 1150 . 10 plant(MVAR)
-125.000 \\\\@7/ ~——ST1 Plant(MVAR)
\\\// ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-500.000
-625.000
-750.000

V [pu]




02-2021CA-ModMed-Lluv_6003

Minimo Margen de

750.000 Reactivo-106.27MVAr
625.000
500.000
—— CASO BASE
375.000
——1L1 Plant(MVAR)
—
250,000 N % ——128  Plant (MVAR)
N\ ——14 Plant (MVAR)
125.000 \ ——14B  Plant (MVAR)
\ / ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . , ——19  Plant (MVAR)
0.700 0.750 0.800 0.950 1.050 1.100 1150 {10 plant(MVAR)
-125.000 ~———ST1 Plant (MVAR)
ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7 Plant (MVAR)
-500.000
-625.000
-750.000
V [pu]
02-2021CA-ModMed-Lluv_6004
Minimo Margen de
750.000 Reactivo:248.46MVAr
625.000
500.000
—— CASO BASE
375.000
——11 Plant(MVAR)
250,000 ——128  Plant (MVAR)
——14 Plant (MVAR)
125.000 A ——14B  Plant (MVAR)
\ \ \ / ——18 Plant (MVAR)
Q[MVAr]  0.000 — N\ \Q . . . . . . . ——19 Plant(MVAR)
0.700 0.750 \N\?&sso 0.900 0.950 /1000 1.050 1.100 1150 {10 plant(MVAR)
-125.000 - w ~——ST1 Plant(MVAR)
% T2 Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000
-625.000
-750.000

V [pu]




02-2021CA-ModMed-Lluv_6005

Minimo Margen de

750.000 Reactivo:260.58MVAr
625.000
500.000
—— CASO BASE
375.000
\\\\ ——11 Plant (MVAR)
\ =
250,000 A / ——12B Plant (MVAR)
\\ \ ——14 Plant (MVAR)
125.000 / ——L4B  Plant (MVAR)
\\\ / ——18 Plant (MVAR)
Q[MVAr]  0.000 v . v . . / . . , ——19 Plant (MVAR)
0.700 0.750 0.800 N 0.950 1.000/ 1.050 1.100 1150 |19 plant (MVAR)
-125.000 w —~—ST1 Plant (MVAR)
& ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
~——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7 Plant (MVAR)
-500.000
-625.000
-750.000
V [pu]
02-2021CA-ModMed-Lluv_6008
Minimo Margen de
750.000 Reactivo-188.4MVAr
625.000
500.000
—— CASO BASE
375.000
——1L1 Plant(MVAR)
250000 ——12B Plant (MVAR)
\ —— 14 Plant (MVAR)
125.000 ——L4B  Plant (MVAR)
\ ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . ! . . . . ~——19 Plant (MVAR)
0.7 0.750 0.800 0.850 0.900 \ 0.950 1000/ 1.050 1.100 1150 . |19 Pplant(MVAR)
-125.000 \ A\ ) 7 ~—~—ST1 Plant (MVAR)
i
\\\ ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
7/ ——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000
-625.000
-750.000

V [pu]




02-2021CA-ModMed-Lluv_6009

Minimo Margen de

750.000 Reactivo-178.99MVAr
625.000
500.000
—— CASO BASE
375.000
——1L1 Plant(MVAR)
250,000 ——128  Plant (MVAR)
——14 Plant (MVAR)
125.000 . ——L4B  Plant (MVAR)
/ ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . , ——19  Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 }0@// 1.050 1.100 1150 {10 plant(MVAR)
-125.000 “ ~———ST1 Plant (MVAR)
ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7 Plant (MVAR)
-500.000
-625.000
-750.000
V [pu]
02-2021CA-ModMed-Lluv_6018
Minimo Margen de
750.000 Reactivo:277.89MVAr
625.000
500.000
—— CASO BASE
375.000
——11 Plant(MVAR)
250,000 = ——128  Plant (MVAR)
/ —— 14 Plant (MVAR)
125.000 ——14B  Plant (MVAR)
/' ——18  Plant (MVAR)
Q[MVAr] 0.000 . v Z ; v v . —+—1L9 Plant(MVAR)
0.700 0.900 0.950 .000 1.050 1.100 1150 {10 plant(MVAR)
-125.000 \::U, ~—~—ST1 Plant (MVAR)
\\?7 ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000
-625.000
-750.000

V [pu]




02-2021CA-ModMed-Lluv_6173

Minimo Margen de

750.000 Reactivo-99.54MVAr
625.000
500.000
—— CASO BASE
375.000
——1L1 Plant(MVAR)
250,000 ——12B  Plant (MVAR)
——L4 Plant (MVAR)
=
125.000 ——L4B  Plant (MVAR)
s ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . / . . . ——19 Plant (MVAR)
0.7 0.900 #71.000 1.050 1.100 1150 |19 plant (MVAR)
-125.000 - —~—ST1 Plant (MVAR)
ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
~——P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7 Plant (MVAR)
-500.000
-625.000
-750.000
V [pu]
02-2021CA-ModMed-Lluv_6182
Minimo Margen de
750.000 Reactivo:477.22MVAr
625.000
4
500.000
—— CASO BASE
375.000
——1L1 Plant(MVAR)
250,000 v ——12B Plant (MVAR)
// ~——14 Plant (MVAR)
125.000 /7 ——L4B  Plant (MVAR)
// ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . , ~——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 117/ 1.050 1.100 1150 |19 plant (MVAR)
-125.000 ; ~—~—ST1 Plant (MVAR)
ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-500.000
-625.000
-750.000

V [pu]




02-2021CA-ModMedNoct-Lluv_6001

Minimo Margen de

750.000 Reactivo:-111.81MVAr
625.000
500.000
—— CASO BASE
375.000
——1L1 Plant(MVAR)
250,000 g ——12B  Plant (MVAR)
\\ \ 7 ——14 Plant (MVAR)
125.000 A \ —— 148 Plant (MVAR)
\\\\\\ / ——18 Plant (MVAR)
Q[MVAr] 0.000 v - - - - / - - . ——1L9 Plant(MVAR)
0.700 0.750 0.800 No 0.950 1.000/ 1.050 1.100 1150 |10 plant(MVAR)
-125.000 \_‘—':% ~~—ST1 Plant (MVAR)
- : — ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7 Plant (MVAR)
-500.000
-625.000
-750.000
V [pu]
02-2021CA-ModMedNoct-Lluv_6002
Minimo Margen de
750.000 Reactivo:-109.99MVAr
625.000
500.000
—— CASO BASE
375.000
——11 Plant (MVAR)
250,000 = ——12B  Plant (MVAR)
ﬁ ——L4 Plant(MVAR)
125.000 ——14B  Plant (MVAR)
/ ——18 Plant (MVAR)
Q[MVAr] 0.000 . —t . . Y ——19 Plant (MVAR)
0.700 0.750 1060 1.050 1.100 1150 |19 plant(MVAR)
-125.000 \\_7/ ~——ST1 Plant(MVAR)
= ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000
-625.000
-750.000

V [pu]




02-2021CA-ModMedNoct-Lluv_6003

Minimo Margen de

750.000 Reactivo-110.91MVAr
625.000
500.000
—— CASO BASE
375.000
——1L1 Plant(MVAR)
250,000 ; ——128  Plant (MVAR)
\ \ = —— L4 Plant (MVAR)
125.000 x\\ ——L4B  Plant (MVAR)
\\\\ / ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . ——19  Plant (MVAR)
0.7 \&% 0.950 1.000 / 1.050 1.100 1150 . 10 Plant(MVAR)
-125.000 - \\\‘—“‘”‘7{ ~———ST1 Plant (MVAR)
~
ST2  Plant (MVAR)
-250.000 - ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7 Plant (MVAR)
-500.000
-625.000
-750.000
V [pu]
02-2021CA-ModMedNoct-Lluv_6004
Minimo Margen de
750.000 Reactivo-103.85MVAr
625.000
500.000
—— CASO BASE
375.000
——11 Plant(MVAR)
250,000 /; ——128  Plant (MVAR)
p ——14 Plant (MVAR)
125.000 ——14B  Plant (MVAR)
y
——1L18 Plant (MVAR
\ \ ) (MVAR)
Q[MVAr]  0.000 . - . . . e . . . ——19  Plant (MVAR)
0.700 0.750 0.900 0.950 /1000 1.050 1.100 1150 . 10 plant(MVAR)
-125.000 - W/ ~—~—ST1 Plant (MVAR)
. ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000
-625.000
-750.000

V [pu]




02-2021CA-ModMedNoct-Lluv_6005

Minimo Margen de

750.000 Reactivo-116.15MVAr
625.000
500.000 |
\\ 1 —— CASO BASE
375.000 5
N ——1L1 Plant(MVAR)
A\ \ \ %’/ — lant (MVAR
250,000 : 128 Plant ( )
\\\\ 4 ——14 Plant (MVAR)
125.000 \ \ ——14B  Plant (MVAR)
N\
\\\\\ ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . y 24 . . ——19 Plant (MVAR)
0.700 0.750 0.800 N‘m 0.950 1.000/ 1.050 1.100 1150 . 10 Plant(MVAR)
-125.000 \\—*”47 ~———ST1 Plant (MVAR)
—— ST2  Plant (MVAR)
-250.000 B ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7 Plant (MVAR)
-500.000
-625.000
-750.000
V [pu]
02-2021CA-ModMedNoct-Lluv_6008
Minimo Margen de
750.000 Reactivo-170.36MVAr
625.000
500.000
—— CASO BASE
375.000
——11 Plant(MVAR)
250,000 ——128  Plant (MVAR)
——14 Plant (MVAR)
125.000 ——14B  Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . —4 . — . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0‘900\\\ 0.950 1A 1.050 1.100 1150 . 10 plant(MVAR)
-125.000 \ / ~—~—ST1 Plant (MVAR)
\ / ST2  Plant (MVAR)
-250.000 N ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000
-625.000
-750.000

V [pu]




02-2021CA-ModMedNoct-Lluv_6009

Minimo Margen de

750.000 Reactivo-157.1MVAr
625.000
500.000
—— CASO BASE
375.000
——1L1 Plant(MVAR)
250,000 ——128  Plant (MVAR)
——14 Plant(MVAR
) / ant ( )
125.000 ——14B  Plant (MVAR)
/ ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . — . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 % 1.050 1.100 1150 {10 plant(MVAR)
/
-125.000 - ~———ST1 Plant (MVAR)
——— ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7 Plant (MVAR)
-500.000
-625.000
-750.000
V [pu]
02-2021CA-ModMedNoct-Lluv_6018
Minimo Margen de
750.000 Reactivo-109.88MVAr
625.000
500.000
—— CASO BASE
375.000
——11 Plant(MVAR)
250,000 é ——L2B Plant (MVAR)
k ~——L4 Plant(MVAR)
125.000 A ——14B  Plant (MVAR)
~\\§\\\ / ——18 Plant (MVAR)
Q[MVAr]  0.000 \- . . . . . . ——19 Plant(MVAR)
0.7 0.900 0.950 1%0 1.050 1.100 1150 . 10 plant(MVAR)
-125.000 - =~ \\_7: ~—~—ST1 Plant (MVAR)
ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000
-625.000
-750.000

V [pu]




02-2021CA-ModMedNoct-Lluv_6173

Minimo Margen de

750.000 Reactivo-113.44MVAr
625.000
500.000
—— CASO BASE
375.000
——1L1 Plant(MVAR)
250,000 ——128  Plant (MVAR)
——14 Plant (MVAR)
125.000 = ——L4B  Plant (MVAR)
- ——18 Plant (MVAR)
-
Q[MVAr]  0.000 . . . . . . . , ——19  Plant (MVAR)
0.700 0.750 0.80(\ \0.&& 0.900 0.950/1.000 1.050 1.100 1150 {10 plant(MVAR)
-125.000 \W ~ ——ST1 Plant (MVAR)
———a—s— ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7 Plant (MVAR)
-500.000
-625.000
-750.000
V [pu]
02-2021CA-ModMedNoct-Lluv_6182
Minimo Margen de
750.000 Reactivo-247.15MVAr
625.000
Yy
500.000
—— CASO BASE
375.000
——11 Plant(MVAR)
250,000 ——128  Plant (MVAR)
——14 Plant (MVAR)
125.000 ——14B  Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . , ——19  Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 1.050 1.100 1150 {10 plant(MVAR)
-125.000 ~—~—ST1 Plant (MVAR)
ST2  Plant (MVAR)
-250.000 \7/ ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 ="
P5  Plant (MVAR)
A
P7  Plant (MVAR)
-500.000
-625.000
-750.000

V [pu]




02-2021CA-ModMin-Lluv_6001

Minimo Margen de

750.000 Reactivo:-147.58MVAr
625.000
500.000
375.000 —— CASO BASE
\ ——11 Plant (MVAR)
250.000 ——12B  Plant (MVAR)
——14 Plant (MVAR)
125.000 ——L4B  Plant (MVAR)
—— 18 Plant(MVAR)
Q[MVAr]  0.000 T T y L9 Plant (MVAR
0.700 0.900 0.950 1.150 ant )
——110 Plant(MVAR)
-125.000
~—+—ST1 Plant(MVAR)
250,000 ST2  Plant (MVAR)
——P3  Plant (MVAR)
-375.000 ——P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000
-625.000
-750.000
V [pu]
02-2021CA-ModMin-Lluv_6002
Minimo Margen de
750.000 Reactivoi-139.76MVAr
625.000
500.000
375.000 —— CASO BASE
——1L1 Plant (MVAR)
250.000 /é ~——12B Plant (MVAR)
/ ———14 Plant(MVAR)
125.000 / ——L4B  Plant (MVAR)
\ : —— 18 Plant (MVAR)
Q[MVAr]  0.000 NN " " " ' ' ' ' X L9 Plant (MVAR
0.700 \800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 ant ( )
——110 Plant(MVAR)
-125.000 -
w ——ST1 Plant(MVAR)
= ~
750000 - = = ST2  Plant (MVAR)
——P3  Plant (MVAR)
375,000 ——P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000
-625.000
-750.000

V [pu]




02-2021CA-ModMin-Lluv_6003

Minimo Margen de

750.000 Reactivo:-147.13MVAr
625.000
500.000
375.000 \ —— CASO BASE
\ ——11 Plant(MVAR)
250.000 % ~——12B  Plant (MVAR)
——14 Plant(MVAR
125.000 ) / ant (MVAR)
- ——14B  Plant (MVAR)
\ ——— 18 Plant (MVAR)
Q[MVAr]  0.000 - - - - e - . L9 Plant (MVAR
0.700 0.750 0.850 0.900 0.950 1.000 1.050 1.100 1.150 ant )
[ ~——110 Plant (MVAR)
-125.000 - /
/ L
Wﬁ ST1 Plant (MVAR)
250,000 - ST2  Plant (MVAR)
——P3  Plant (MVAR)
.375.000 ——P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000
-625.000
-750.000
V [pu]
02-2021CA-ModMin-Lluv_6004
Minimo Margen de
750.000 Reactivo:-137.73MVAr
625.000
500.000
375.000 —— CASO BASE
——11 Plant(MVAR)
250.000 ——12B Plant (MVAR)
/ ——14 Plant (MVAR)
125.000 = ——14B  Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . - - - - T : L9 Plant (MVAR
0.7 \0.800 0.850 0.900 1.050 1.100 1.150 ant( )
~——110 Plant (MVAR)
-125.000 -
~—~—ST1 Plant (MVAR)
250,000 ST2  Plant (MVAR)
——P3  Plant (MVAR)
375.000 ——P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000
-625.000
-750.000

V [pu]




02-2021CA-ModMin-Lluv_6005
Minimo Margen de

750.000 Reactivo:-156.69MVAr

625.000

500.000

375.000 —— CASO BASE
——L1 Plant(MVAR)

250.000 \ ; ——128B  Plant (MVAR)
\\ \ ‘ / ——14 Plant (MVAR)

125.000 // ——14B  Plant (MVAR)
/ —— 18 Plant(MVAR)
Q[MVAr]  0.000 - . . . — . . .
017 . N0800 0 0.900 0.950 1000/ 1050 1.100 1.150 LS Plant{MVAR)
\ “ ~——110 Plant (MVAR)
-125.000 - NS 4
\~ - \‘_—//% ——ST1 Plant(MVAR)
— = ,/
-250.000 ST2  Plant (MVAR)
——P3  Plant (MVAR)
-375.000 ——P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000
-625.000
-750.000
V [pu]
02-2021CA-ModMin-Lluv_6008
Minimo Margen de
750.000 Reactivo:-242.85MVAr
625.000
500.000

375.000 —— CASO BASE

——1L1 Plant (MVAR)

250.000 ——12B  Plant (MVAR)
/ ——L14 Plant(MVAR)

125.000 A ——L4B  Plant (MVAR)
I/ ——18 Plant (MVAR)

Q[MVAr]  0.000 T " " ' ' ' ' X L9 Plant (MVAR
0.700 0.750 0.800 0.900 0.950 1.000 1.050 1.100 1.150 ant( )
~——110 Plant (MVAR)
-125.000
‘ ~—~—ST1 Plant (MVAR)
T2 Plant (MVAR
-250.000 s ant( )
——P3  Plant (MVAR)
-375.000 ——P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000
-625.000
-750.000

V [pu]




02-2021CA-ModMin-Lluv_6009

Minimo Margen de

750.000 Reactivo:-220.5MVAr
625.000
500.000
375.000 —— CASO BASE
——11 Plant (MVAR)
250.000 ——12B  Plant (MVAR)
/ ——L14 Plant(MVAR)
125.000 ——L4B  Plant (MVAR)
—— 18 Plant(MVAR)
Q[MVAr]  0.000 - - T T T T T T y L9 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.0 1.050 1.100 1.150 ant )
——110 Plant(MVAR)
-125.000
~—+—ST1 Plant(MVAR)
250,000 ST2  Plant (MVAR)
——P3  Plant (MVAR)
-375.000 ——P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000
-625.000
-750.000
V [pu]
02-2021CA-ModMin-Lluv_6018
Minimo Margen de
750.000 Reactivoi-139.28MVAr
625.000
500.000
375.000 —— CASO BASE
——1L1 Plant (MVAR)
250.000 /ﬁ ~——12B Plant (MVAR)
/ L4 Plant(MVAR)
125.000 //’4 ——L4B  Plant (MVAR)
\ 4 ——L8 Plant(MVAR)
Q[MVAr]  0.000 A N\ — . - - — T T : 19 Plant (MVAR
0.700 \800 0.850 0.900 0950 1.?0 1.050 1.100 1.150 ant (MVAR)
\ / ——110 Plant(MVAR)
-125.000 - /
= ——ST1 Plant(MVAR)
250000 ST2  Plant (MVAR)
——P3  Plant (MVAR)
375,000 ——P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000
-625.000
-750.000

V [pu]




02-2021CA-ModMin-Lluv_6173

Minimo Margen de

750.000 Reactivo:-130.77MVAr
625.000
500.000
375.000 —— CASO BASE
——11 Plant(MVAR)
250.000 ——12B Plant (MVAR)
~—~—L14 Plant(MVAR)
125.000 ——1L4B  Plant (MVAR)
// ——18 Plant (MVAR)
Q[MVAr]  0.000 T T " " " : ' ! X ——19 Plant(MVAR
0.700 0.750 0.800 0.850 0.900 0.950 000 1.050 1.100 1.150 ant ( )
~——110 Plant (MVAR)
-125.000 -
~—~—ST1 Plant (MVAR)
250000 ST2  Plant (MVAR)
——P3  Plant (MVAR)
375000 ——P5  Plant (MVAR)
P7 Plant (MVAR)
-500.000
-625.000
-750.000
V [pu]
02-2021CA-ModMin-Lluv_6182
Minimo Margen de
750.000 Reactivoi-331.46MVAr
625.000
500.000 Z
375.000 —— CASO BASE
——1L1 Plant(MVAR)
250.000 ——12B Plant (MVAR)
——L14 Plant(MVAR)
125.000 ——L4B  Plant (MVAR)
/ ——18 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T T T J L9 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1. 1.050 1.100 1.150 ant ( )
——110 Plant (MVAR)
-125.000
/// ~~—ST1 Plant(MVAR)
/ T2 Plant (MVAR
-250.000 7 ° an )
/% ——P3  Plant (MVAR)
375,000 _ ——P5  Plant (MVAR)
\\ \ ! % ;5/ P7  Plant (MVAR)
-500.000 ——
-625.000
-750.000

V [pu]




03-2022CA-ModMax-Sec_6001

Minimo Margen de

750.000 Reactivo:-425.08MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant(MVAR)
——1L2B Plant (MVAR)
250.000 — L4 Plant(MVAR)
——L4B  Plant (MVAR)
125.000

——18 Plant (MVAR)

——L9 Plant (MVAR)

Q[MVAr] 0.000 - T T T T T T T T

0.700 0.750 0.800 0850 0.900 0950 1.000 1.050 1.100 1.150 L10  Plant (MVAR)

—~—ST1 Plant(MVAR)

-125.000 -
ST2 Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
~=—P3 Plant (MVAR)
-375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14 Plant (MVAR)
-625.000
-750.000
V [pu]
03-2022CA-ModMax-Sec_6002
Minimo Margen de
750.000 Reactivo:-366.93MVAr
625.000
500.000
—— CASO BASE
375.000 ——L1 Plant (MVAR)

——12B  Plant (MVAR)

——14B  Plant (MVAR)

125.000 ——1L18 Plant(MVAR)

——19  Plant (MVAR)

250.000 / —— L4 Plant(MVAR)

Q[MVAr]  0.000 . . . . . .

0.700 0.750 0.800 0.850 0.900 0950 1.000 1.050 1.100 1150 110 Plant(MVAR)

—+—ST1 Plant (MVAR)
-125.000 =
ST2  Plant (MVAR)
——P1 Plant (MVAR
-250.000 ant ( )
~——P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000

V [pu]




03-2022CA-ModMax-Sec_6003

Minimo Margen de

750.000 Reactivo:-438.26MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant(MVAR)
——128  Plant (MVAR)
250.000 ~——14 Plant(MVAR)
—— 148 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——L9 Plant (MVAR)
Q[MVAr]  0.000 - T T T " " ] ' ’ ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 ant ( )
~~—ST1 Plant (MVAR)
-125.000
ST2 Plant (MVAR)
——P1 Plant (MVAR
-250.000 ant (MVAR)
——P3  Plant (MVAR)
.375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000
V [pu]
03-2022CA-ModMax-Sec_6004
Minimo Margen de
750.000 Reactivo:-363.46MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant(MVAR)
——128  Plant (MVAR)
250.000 7 ——L4 Plant(MVAR)
—— 148 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : - - - - — - - : 10 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 ant ( )
~~—ST1 Plant (MVAR)
-125.000
ST2  Plant (MVAR)
~
/
-250.000 £ P1  Plant (MVAR)
——P3  Plant (MVAR)
375,000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000

V [pu]




03-2022CA-ModMax-Sec_6005

Minimo Margen de

750.000 Reactivo:-467.49MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant (MVAR)
——128  Plant (MVAR)
250.000 ~——L4 Plant(MVAR)
/ —— 4B Plant (MVAR)
125.000 ——18 Plant (MVAR)
/ ——L9 Plant (MVAR)
Q[MVAr]  0.000 - T T T " " ' ’ ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.00(/ 1.050 1.100 1.150 ant ( )
/ ~——ST1 Plant (MVAR)
-125.000
/ ST2 Plant (MVAR)
250,000 / ——P1 Plant (MVAR)
// ——P3  Plant (MVAR)
-375.000 /// PS  Plant (MVAR)
/ P7 Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000
V [pu]
03-2022CA-ModMax-Sec_6008
Minimo Margen de
750.000 Reactivo:496.01MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant (MVAR)
——128  Plant (MVAR)
250.000 ~——L4 Plant(MVAR)
—— 148 Plant (MVAR)
125.000

——1L18 Plant(MVAR)
—— L9 Plant (MVAR)

Q[MVAr]  0.000 T " " " ' i ' L10  Plant (MVAR
| 1050 1100 1.150 ant (MVAR)

0.700 0.750 0.800 0.850 0.900 0.950 1.000
~——ST1 Plant(MVAR)

-125.000 /
// ST2  Plant (MVAR)
y ——P1 Plant (MVAR)

-250.000
// ~——P3 Plant (MVAR)
/ P5 Plant (MVAR)

-375.000

P7  Plant (MVAR)
P14 Plant(MVAR)

-500.000

-625.000

-750.000




03-2022CA-ModMax-Sec_6009

Minimo Margen de

750.000 Reactivo:268.17MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant (MVAR)
// ——12B  Plant (MVAR)
250.000 / ~——L4 Plant(MVAR)
——14B  Plant (MV
125.000 / .
- / ——18 Plant (MVAR)
——L9 Plant (MVAR)
Q[MVAr]  0.000 - T T T " " ' ’ ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1000/ 1050 1.100 1.150 ant ( )
/ —~—ST1 Plant(MVAR)
-125.000
ST2 Plant (MVAR)
——P1  Plant (MVAR
-250.000 = ant (MVAR)
7 ——P3  Plant (MVAR)
Z
.375.000 / P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 ~ P14 Plant (MVAR)
-625.000
-750.000
V [pu]
03-2022CA-ModMax-Sec_6018
Minimo Margen de
750.000 Reactivo:-362.65MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant (MVAR)
/ ——12B  Plant (MVAR)
250.000 7 ~——L4 Plant(MVAR)
——14B  Plant (MVAR)
125.000 , ——18 Plant (MVAR)
: ——19 Plant (MVAR)
Q[MVAr]  0.000 - - - - - T T T ) 110 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 ant ( )
—~—ST1 Plant (MVAR)
-125.000
ST2  Plant (MVAR)
250,000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14 Plant(MVAR)
-625.000
-750.000

V [pu]




03-2022CA-ModMax-Sec_6173

Minimo Margen de

750.000 Reactivo:-277.7MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant (MVAR)
——128  Plant (MVAR)
250.000 ~——L4 Plant(MVAR)
/ ——14B  Plant (MVAR)
125.000 Pt ——18 Plant (MVAR)
——L9 Plant (MVAR)
Q[MVAr]  0.000 - - - - - — - - : 10 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 ant ( )
’ ——ST1 Plant (MVAR)
-125.000
ST2 Plant (MVAR)
7
= -
950000 — P1  Plant (MVAR)
E - e ——P3  Plant (MVAR)
.375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000
V [pu]
03-2022CA-ModMax-Sec_6182
Minimo Margen de
750.000 Reactivo:-857.81MVAr
625.000
500.000 ,
/ —— CASO BASE
375.000 ——11 Plant(MVAR)
/ ——L2B  Plant (MVAR)
250.000 ~——L4 Plant(MVAR)
——14B  Plant (MVAR)
125.000 ——18 Plant (MVAR)
/ ——19 Plant (MVAR)
Q[MVAr]  0.000 - - - - - - - - . 10 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 ant ( )
/ ~~—ST1 Plant (MVAR)
-125.000
/ ST2  Plant (MVAR)
950000 ——P1 Plant (MVAR)
//// ——P3  Plant (MVAR)
-375.000 / / P5  Plant (MVAR)
P7  Plant (MVAR
// ant ( )
-500.000 4 P14  Plant (MVAR)
-625.000

-750.000




03-2022CA-ModMed-Sec_6001

Minimo Margen de

750.000 Reactivo:510.79MVAr
625.000
500.000 o
y 4 —— CASO BASE
///
y ——11 Plant(MVAR)
375.000
/ —+—L2B Plant (MVAR)
250.000 ——14 Plant (MVAR)
/ ——L4B  Plant (MVAR)
125.000 ——L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . . ~——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 ST1  Plant (MVAR)
-125.000 - ST2  Plant (MVAR)

——P1 Plant (MVAR)

-250.000 - ~——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7 Plant (MVAR)
-500.000
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
03-2022CA-ModMed-Sec_6002
Minimo Margen de
750.000 Reactivo:390.29MVAr
625.000
500.000
£ —— CASO BASE
|
——1L1 Plant(MVAR
375.000 , g ( )
——12B Plant (MVAR)
250.000 ~——L4 Plant(MVAR)
——14B  Plant (MVAR)
125.000 / ——18 Plant (MVAR)
/
/ ——19 Plant (MVAR)
Q[MVAr]  0.000 . . . . . r . . , ~—~—110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1150 571 plant (MVAR)
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ~——P2  Plant (MVAR)
=
=== P3  Plant (MVAR)
_————————
-375.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000

V [pu]




03-2022CA-ModMed-Sec_6003

Minimo Margen de

750.000 Reactivo:405.6MVAr
625.000
500.000
—— CASO BASE
——1L1 Plant(MVAR)
375.000
—+—L2B Plant (MVAR)
250.000 ~——L4 Plant(MVAR)
——14B  Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
[
Q[MVAr]  0.000 v . v v . —A . . , —— 110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 | 1.050 1.100 1150 . sT1  plant (MVAR)
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ~——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5 Plant (MVAR)
P7 Plant (MVAR)
-500.000
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
03-2022CA-ModMed-Sec_6004
Minimo Margen de
750.000 Reactivo:369.92MVAr
625.000
500.000
—— CASO BASE
i ——11 Plant (MVAR
375.000 7 ( )
/ ——12B Plant (MVAR)
250.000 ~——L4 Plant(MVAR)
——14B  Plant (MVAR)
125.000 / ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . , ~—~—110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1150 571 plant (MVAR)
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ~——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000

V [pu]




03-2022CA-ModMed-Sec_6005

Minimo Margen de

750.000 Reactivo:480.23MVAr
625.000
500.000
7 —— CASO BASE
——1L1 Plant(MVAR)
375.000
/ ——1L12B Plant (MVAR)
250,000 ) —— 14 Plant (MVAR)
/ ——14B  Plant (MVAR)
125.000 ——L8 Plant (MVAR)
// ——19 Plant (MVAR)
QIMVAf]  0.000 . , . . , —/ , . . ———L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.073 1.050 1.100 1150 571 plant (MVAR)
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ~——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7 Plant (MVAR)
-500.000
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
03-2022CA-ModMed-Sec_6008
Minimo Margen de
750.000 Reactivo:444.42MVAr
625.000
/
500.000
—— CASO BASE
7 / ——11 Plant(MVAR)
375.000
——12B Plant (MVAR)
250,000 —— 14 Plant (MVAR)
——14B  Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . , ~—~—110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.100 1150 571 plant (MVAR)
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ~——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000




03-2022CA-ModMed-Sec_6009

Minimo Margen de

750.000 Reactivo:203.76MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
—+—L2B Plant (MVAR)
i L
250.000 L4  Plant (MVAR)
/ ——L4B  Plant (MVAR)
125.000 ——L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVA 0000 . . . . . — . . . ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 yo/ 1.050 1.100 1150 . sT1  plant (MVAR)
-125.000 : ST2  Plant (MVAR)
/ ——P1 Plant (MVAR)
-250.000 ~——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5 Plant (MVAR)
P7 Plant (MVAR)
-500.000
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
03-2022CA-ModMed-Sec_6018
Minimo Margen de
750.000 Reactivo:386.34MVAr
625.000
500.000
P —— CASO BASE
/ ——L1 Plant(MVAR
375.000 , S (MVAR)
/ ——L2B  Plant (MVAR)
250.000 ~——L4 Plant(MVAR)
——L4B  Plant (MVAR)
125.000 —— L8 Plant (MVAR)
/ ——19 Plant (MVAR)
Q[MVAr]  0.000 . . . . . /A . . , ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1150 . sT1  plant (MVAR)
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ~——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000

V [pu]




03-2022CA-ModMed-Sec_6173

Minimo Margen de

750.000 Reactivo:-210.54MVAr
625.000
500.000
—— CASO BASE
——1L1 Plant(MVAR)
375.000
—+—L2B Plant (MVAR)
250,000 ——L4 Plant (MVAR)
A ——14B  Plant (MVAR)
125.000 e ——L8 Plant (MVAR)
o ——1L9 Plant (MVAR)
Q[MVAr]  0.000 . . . . . A . . , ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0950 -~ 1.000 1.050 1.100 1150 . sT1  plant (MVAR)
-125.000 = ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ~——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7 Plant (MVAR)
-500.000
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
03-2022CA-ModMed-Sec_6182
Minimo Margen de
750.000 Reactivo:562.19MVAr
625.000
500.000 A
—— CASO BASE
/ ——1L1 Plant(MVAR)
375.000
——12B Plant (MVAR)
250,000 ——L4 Plant (MVAR)
/ ——14B  Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . , ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1150 . sT1  plant (MVAR)
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ~——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000

V [pu]




03-2022CA-ModMedNoct-Sec_6001

Minimo Margen de

750.000 Reactivo:-288.85MVAr
625.000
500.000
—— CASO BASE
——11 Plant(MVAR)
375.000 /
/ —— 2B Plant (MVAR)
250.000 ——14 Plant (MVAR)
// ——14B  Plant (MVAR)
125.000 [ —— L8 Plant(MVAR)
/ ——19 Plant(MVAR)
Q[MVAr]  0.000 - / . . ~——110 Plant (MVAR)
0.7 1.100 1150 571 Plant(MVAR)
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ——P2 Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5 Plant (MVAR)
P7 Plant (MVAR)
-500.000
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
03-2022CA-ModMedNoct-Sec_6002
Minimo Margen de
750.000 Reactivo:-248.7MVAr
625.000
500.000 A
/ —— CASO BASE
Y
——11 Plant(MVAR)
375.000
/ ——128  Plant (MVAR)
250.000 / ——14 Plant (MVAR)
/ ——14B  Plant (MVAR)
125.000 / ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . . ~——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 /1000 1.050 1.100 1150 G11 plant (MVAR)
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000

V [pu]




03-2022CA-ModMedNoct-Sec_6003

Minimo Margen de

750.000 Reactivo:-298.13MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
—+—L2B Plant (MVAR)
250,000 ——L4 Plant (MVAR)
——L4B  Plant (MVAR)
125.000 ——L8 Plant (MVAR)
/ ——1L9 Plant (MVAR)
Q[MVAr]  0.000 + . . . . . / . . . ——L10 Plant(MVAR)
0. 0.750 0.800 0.850 0.900 0.950 1.0/{0 1.050 1.100 1150 . sT1  plant (MVAR)
-125.000 ST2  Plant (MVAR)
8 ——P1 Plant (MVAR)
-250.000 ~——P2 Plant (MVAR)
P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7 Plant (MVAR)
-500.000
P14 Plant (MVAR)
-625.000
-750.000
V [pu]
03-2022CA-ModMedNoct-Sec_6004
Minimo Margen de
750.000 Reactivoi-253.85MVAr
625.000
500.000
Vi —— CASO BASE
/. ——L1 Plant(MVAR)
375.000 7
——L2B  Plant (MVAR)
250.000 ~——L4 Plant(MVAR)
7 ——L4B  Plant (MVAR)
125.000 /- —— L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . . ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 " ./ 1.000 1.050 1.100 1150 . sT1  plant (MVAR)
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ~——P2 Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14 Plant (MVAR)
-625.000
-750.000

V [pu]




03-2022CA-ModMedNoct-Sec_6005

Minimo Margen de

750.000 Reactivo:-317.04MVAr
625.000
500.000
—— CASO BASE
——1L1 Plant(MVAR)
375.000
—+—L2B Plant (MVAR)
250000 —— 14 Plant (MVAR)
——14B  Plant (MVAR)
125.000 ——L8 Plant (MVAR)
——19 Plant (MVAR)
QIMVAr]  0.000 . . . , ~—~—110 Plant (MVAR)
0.7 0.800 0.850 0.900 1150 571 Plant(MVAR)
-125.000 - ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ~——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5 Plant (MVAR)
P7 Plant (MVAR)
-500.000
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
03-2022CA-ModMedNoct-Sec_6008
Minimo Margen de
750.000 Reactivo:-540.14MVAr
625.000
500.000 /A
—— CASO BASE
——1L1 Plant(MVAR)
375.000
/ ——12B Plant (MVAR)
250000 —— 14 Plant (MVAR)
!// ——14B  Plant (MVAR)
[f
125.000 ! ——18 Plant(MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . . ~—~—110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1150 571 plant (MVAR)
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ~——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000




03-2022CA-ModMedNoct-Sec_6009

Minimo Margen de

750.000 Reactivo:-449.26MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
—+—L2B Plant (MVAR)
250,000 ——L4 Plant (MVAR)
——L4B  Plant (MVAR)
125.000 ——L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . A . , ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 - 1.050 1.100 1150 . sT1  plant (MVAR)
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ~——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7 Plant (MVAR)
-500.000 -
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
03-2022CA-ModMedNoct-Sec_6018
Minimo Margen de
750.000 Reactivoi-246.69MVAr
625.000
500.000 .
/ —— CASO BASE
/
/ ——1L1 Plant(MVAR)
375.000 -
/ ——12B Plant (MVAR)
250,000 ——L4 Plant (MVAR)
// ——14B  Plant (MVAR)
125.000 —— L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . , ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 /1000 1.050 1.100 1150 . sT1  plant (MVAR)
i
-125.000 S ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ~——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000

V [pu]




03-2022CA-ModMedNoct-Sec_6173

Minimo Margen de

750.000 Reactivo-193.23MVAr
625.000
500.000
—— CASO BASE
——1L1 Plant(MVAR)
375.000
—+—L2B Plant (MVAR)
250000 —— 14 Plant (MVAR)
_~ ——L4B  Plant (MVAR)
125.000 P —— L8 Plant (MVAR)
——19 Plant (MVAR)
//
Q[MVAr]  0.000 v . v v . //', . . , —— 110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0950~ 1.000 1.050 1.100 1150 §T1  Plant (MVAR)
et
-125.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000 ~——P2 Plant (MVAR)
P3  Plant (MVAR)
-375.000 PS  Plant (MVAR)
P7 Plant (MVAR)
-500.000
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
03-2022CA-ModMedNoct-Sec_6182
Minimo Margen de
750.000 Reactivo-681.16MVAr
625.000
500.000
—— CASO BASE
——1L1 Plant(MVAR)
375.000
——12B Plant (MVAR)
250000 —— 14 Plant (MVAR)
——14B  Plant (MVAR)
125.000 ——18 Plant (MVAR)
4 ——19 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . y - . . ———110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 // 1.050 1.100 1150 . §T1 Pplant (MVAR)
-125.000 7 ST2  Plant (MVAR)
// ——P1 Plant (MVAR)
-250.000 / ——P2  Plant (MVAR)
P3  Plant (MVAR)
-375.000
7 P5  Plant (MVAR)
/// P7  Plant (MVAR)
-500.000 // P14  Plant (MVAR)
-625.000 <
s
R\
-750.000 =

V [pu]




03-2022CA-ModMin-Sec_6001

Minimo Margen de

750.000 Reactivo:-382.27MVAr
625.000
500.000
—— CASO BASE
375.000 ——L1 Plant(MVAR)

——12B  Plant (MVAR)

250.000 ~— L4 Plant(MVAR)

——L4B  Plant (MVAR)

125.000 —— 18 Plant(MVAR)

——L9 Plant (MVAR)

Q[MVAr]  0.000 . . . . . , o p
1.100 1150 0 ant (MVAR)

0.700 0.750 0.800 0.850 0.900 0.950
~—~—ST1 Plant(MVAR)
-125.000
ST2 Plant (MVAR)
250,000 ——P1 Plant (MVAR)
~——P3 Plant (MVAR)
375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 - P14  Plant (MVAR)
-625.000
-750.000
V [pu]
03-2022CA-ModMin-Sec_6002
Minimo Margen de
750.000 Reactivo-339.76MVAr
625.000
500.000
—— CASO BASE
375.000 ——L1 Plant (MVAR)
P
S ——L2B  Plant (MVAR)
250.000 A L4 Plant(MVAR)
/ ——L4B  Plant (MVAR)
/
125.000 / —— L8 Plant (MVAR)
/ ——19 Plant (MVAR)
Q[MVAr] 0.000 T T T T T — T T y Lo Pl MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000, 1.050 1.100 1.150 ant ( )
~—~—ST1 Plant(MVAR)
-125.000
ST2  Plant (MVAR)
250,000 ——P1 Plant (MVAR)
~——P3 Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14 Plant (MVAR)
-625.000
-750.000

V [pu]




03-2022CA-ModMin-Sec_6003

Minimo Margen de

750.000 Reactivoi-389.72MVAr
625.000
500.000
—— CASO BASE
./

375.000 - ——11 Plant(MVAR)

/ ——128  Plant (MVAR)
250.000 ——14 Plant (MVAR)

——148  Plant (MVAR)

125.000 ——18 Plant (MVAR)
/ ——L9 Plant (MVAR)
Q [MVAr] 0.000 T T T T T T T T d o Pl MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 ant ( )
~—+—ST1 Plant (MVAR)
-125.000 /
/ ST2 Plant (MVAR)
950,000 ——P1 Plant (MVAR)
~=—P3 Plant (MVAR)
.375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14 Plant (MVAR)
-625.000
-750.000
V [pu]
03-2022CA-ModMin-Sec_6004
Minimo Margen de
750.000 Reactivo-337.82MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant (MVAR)
7 ——1L2B  Plant (MVAR)
250.000 ~——L4 Plant(MVAR)
——1L4B  Plant (MVAR)
125.000

——18 Plant (MVAR)
——19 Plant (MVAR)

Q[MVAr]  0.000 . . . . . —A . .
——110 Plant (MVAR)

0.700 0.750 0.800 0.850 0.900 0.950 1.000” 1.050 1.100 1.150
/ ~—~—ST1 Plant (MVAR)
-125.000
/ ST2  Plant (MVAR)
250,000 - ‘ ——P1  Plant (MVAR)
/ ——P3  Plant (MVAR)
=

375.000 \ —= PS5 Plant (MVAR)

-375. =
— - P7  Plant (MVAR)
-500.000 P14 Plant (MVAR)

-625.000

-750.000
V [pu]




03-2022CA-ModMin-Sec_6005

Minimo Margen de

750.000 Reactivo:-407.6MVAr
625.000
500.000
—— CASO BASE
375.000 7 ——11 Plant (MVAR)
¥ ——128  Plant (MVAR)
250.000 4
. y ——14 Plant (MVAR)
——L4B  Plant (MVAR)
125.000 / ——18 Plant (MVAR)
/ ——L9 Plant (MVAR)
Q[MVAr]  0.000 - T T T " " f ’ ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 / 1.050 1.100 1.150 ant ( )
~——ST1 Plant (MVAR)
-125.000
ST2 Plant (MVAR)
250,000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
.375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000
V [pu]
03-2022CA-ModMin-Sec_6008
Minimo Margen de
750.000 Reactivo:-553.02MVAr
625.000
500.000
/ —— CASO BASE
375.000 a ——11 Plant (MVAR)
/ ——128  Plant (MVAR)
250.000 / 14 Plant (MVAR)
/4 ——148  Plant (MVAR)
125.000 ] ——18 Plant (MVAR)
——19  Plant (MVAR)
Q[MVAr]  0.000 . . - - - - - - : O Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 ant ( )
~——ST1 Plant (MVAR)
-125.000 }
‘ ST2  Plant (MVAR)
250,000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
375.000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000

V [pu]




03-2022CA-ModMin-Sec_6009

Minimo Margen de

750.000 Reactivo:-459.39MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant (MVAR)
——128  Plant (MVAR)
250.000 7 ~——L14 Plant(MVAR)
Y 4 ——L4B  Plant (MVAR)
125.000 -
g i ——18 Plant (MVAR)
L9 Plant (MVAR)
Q[MVAr]  0.000 . . - - - - - - . 110 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 / 1.050 1.100 1.150 ant ( )
~——ST1 Plant (MVAR)
-125.000
ST2 Plant (MVAR)
250,000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
.375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
500,000 P14  Plant (MVAR)
-625.000
-750.000
V [pu]
03-2022CA-ModMin-Sec_6018
Minimo Margen de
750.000 Reactivo:-337.25MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant (MVAR)
#
/ ——128B  Plant (MVAR)
250.000 3 ——14 Plant(MVAR)
——148  Plant (MVAR)
125.000 ——18 Plant (MVAR)
) ——19  Plant (MVAR)
Q[MVAr]  0.000 . . - - - - - - . O Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 Loot/ 1.050 1.100 1.150 ant ( )
~——ST1 Plant (MVAR)
-125.000
ST2  Plant (MVAR)
250,000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
375.000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14  Plant (MVAR)
-625.000
-750.000

V [pu]




03-2022CA-ModMin-Sec_6173

Minimo Margen de

750.000 Reactivo:-257.72MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant (MVAR)
——12B  Plant (MVAR)
250.000 ~——L4 Plant(MVAR)
——L4B  Plant (MVAR)
125.000
P ——18 Plant (MVAR
- ( )
¥ ——L9 Plant (MVAR)
Q[MVAr]  0.000 T T " " " — ' ! ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1000 1.050 1.100 1.150 ant ( )
—~—ST1 Plant(MVAR)
-125.000 —
//// ST2 Plant (MVAR)
250,000 4 D — ——P1 Plant (MVAR)
= ~——P3  Plant (MVAR)
.375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14 Plant (MVAR)
-625.000
-750.000
V [pu]
03-2022CA-ModMin-Sec_6182
Minimo Margen de
750.000 Reactivo:-664.72MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant (MVAR)
——12B  Plant (MVAR)
250.000 ~——L4 Plant(MVAR)
——L4B  Plant (MVAR)
125.000 , ——18 Plant (MVAR)
/ ——19 Plant (MVAR)
Q[MVAr]  0.000 : - - - T — T T : 110 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 / 1.050 1.100 1.150 ant ( )
/ —~—ST1 Plant (MVAR)
-125.000
ST2  Plant (MVAR)
250,000 ——P1 Plant (MVAR)
——P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 P14 Plant(MVAR)
-625.000

-750.000




04-2022CA-ModMax-Lluv_6001

Minimo Margen de

750.000 Reactivo:103.71MVAr
625.000
500.000
—— CASO BASE
275,000 s ——1L1 Plant (MVAR)
1 ——L12B Plant (MVAR)
250.000 {\\ \ ~——L4 Plant(MVAR)
\\ ——14B  Plant (MVAR)
125.000 . ——1L5 Plant (MVAR)
\\ / ——18 Plant (MVAR)
Q[MVAr]  0.000 - - . S “ . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 1.050 1.100 1150 . 19 Pplant(MVAR)
-125.000 ST1  Plant (MVAR)
——ST2  Plant(MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
04-2022CA-ModMax-Lluv_6002
Minimo Margen de
750.000 Reactivo=-70.46MVAr
625.000
500.000
—— CASO BASE
275,000 ——11 Plant (MVAR)
——12B  Plant (MVAR)
250000 . _ ——14 Plant (MVAR)
\\\ //,é’-\-f ——14B  Plant (MVAR)
125.000 A\ = ——15 Plant (MVAR)
\\ ' ——18 Plant (MVAR)
Q[MVAr]  0.000 - - s / . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 \ 1.050 1.100 1150 . 19 Pplant(MVAR)
-125.000 ST1  Plant (MVAR)
——ST2  Plant(MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7 Plant (MVAR)
-625.000
-750.000

V [pu]




04-2022CA-ModMax-Lluv_6003

Minimo Margen de

750.000 Reactivo:-83.56MVAr
625.000
500.000
—— CASO BASE
\ ——1L1 Plant (MVAR)
375.000
\ ——12B  Plant (MVAR)
\ A\ _ ——14 Plant (MVAR)
250.000 \ ==
% ——14B  Plant (MVAR)
125.000 A\ £ ——1L5 Plant (MVAR)
\\\ I ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . » — . . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 O,W 1.050 1.100 1150 . |10 Plant(MVAR)
-125.000 o ST1  Plant (MVAR
e ( )
——ST2  Plant(MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
04-2022CA-ModMax-Lluv_6004
Minimo Margen de
750.000 Reactivo:-75.12MVAr
625.000
500.000
—— CASO BASE
——11 Plant (MVAR)
375.000
——12B  Plant (MVAR)
250.000 ~——L4 Plant (MVAR)
\ = ——14B  Plant (MVAR)
A Z ——1L5 Plant(MVAR
125.000 7 ( )
\ ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . \ - . . . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 M 0 1.050 1.100 1150 110 Plant(MVAR)
-125.000 NS ST1  Plant (MVAR)
\\\zfy
——ST2  Plant(MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




04-2022CA-ModMax-Lluv_6005

Minimo Margen de

750.000 Reactivo:-83.65MVAr
625.000
500.000
—— CASO BASE
\ ——1L1 Plant(MVAR)
375.000
\\\ ——L12B Plant (MVAR)
250.000 \ N 2= ~——L4 Plant(MVAR)
\ \ e ——L4B  Plant (MVAR)
125.000 // ——1L5 Plant (MVAR)
/\ ——L8 Plant(MVAR)
Q[MVAr]  0.000 . . . / . . , ——19 Plant (MVAR)
0.700 0.750 0.800 1, 1.050 1.100 1150 10 Pplant (MVAR)
-125.000 ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
04-2022CA-ModMax-Lluv_6008
Minimo Margen de
750.000 Reactivoi-165.63MVAr
625.000
500.000
—— CASO BASE
——1L1 Plant(MVAR)
375.000
——12B Plant (MVAR)
250.000 ~——L4 Plant(MVAR)
——14B  Plant (MVAR)
125.000 77N ——1L5 Plant (MVAR)
// \ ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . — . . , ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 LOO% 1.050 \\1100 1150 10 Pplant (MVAR)
-125.000 / ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7 Plant (MVAR)
-625.000
-750.000

V [pu]




04-2022CA-ModMax-Lluv_6009

Minimo Margen de

750.000 Reactivo:544.86MVAr
625.000
500.000
—— CASO BASE
275,000 ——1L1 Plant (MVAR)
——L12B Plant (MVAR)
250.000 ——14 Plant (MVAR)
——14B  Plant (MVAR)
125.000 ——1L5 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 - : . . . . —— . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1150 |10 plant(MVAR)
-125.000 Z ST1  Plant (MVAR)
——ST2  Plant(MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
04-2022CA-ModMax-Lluv_6018
Minimo Margen de
750.000 Reactivo=70.19MVAr
625.000
500.000
—— CASO BASE
275,000 ——11 Plant (MVAR)
——12B  Plant (MVAR)
250000 . ——14 Plant (MVAR)
——14B  Plant (MVAR)
125.000 x\\ y ——15 Plant (MVAR)
\i\\\&; ——18 Plant (MVAR)
Q[MVAr]  0.000 - R\ \ . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 1.050 1.100 1150 |19 plant(MVAR)
-125.000 ST1  Plant (MVAR)
——ST2  Plant(MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7 Plant (MVAR)
-625.000
-750.000

V [pu]




04-2022CA-ModMax-Lluv_6173

Minimo Margen de

750.000 Reactivo:-62.21MVAr
625.000
500.000
—— CASO BASE
——1L1 Plant(MVAR)
375.000
——L12B Plant (MVAR)
250,000 ~——L4 Plant(MVAR)
——14B  Plant (MVAR)
125.000 e ——1L5 Plant (MVAR)
——L8 Plant (MVAR)
Q[MVAr]  0.000 . . . . . = . . . ~——L9 Plant (MVAR)
0.700 0.750 0.800 0.850 M 1.000 1.050 1.100 1150 . |10 Plant (MVAR)
-125.000 %5—\3\:“\?' ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
04-2022CA-ModMax-Lluv_6182
Minimo Margen de
750.000 Reactivo:1143.56MVAr
625.000
500.000 //’
. —— CASO BASE
——1L1 Plant(MVAR)
375.000
/ ——128B  Plant (MVAR)
250,000 ~——L4 Plant(MVAR)
/ ——14B  Plant (MVAR)
125.000 ——L5 Plant (MVAR)
/ ——L8 Plant(MVAR)
Q[MVAr]  0.000 . . . . . . . . ) ——L9 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1% 1.050 1.100 1150 . |10 Plant (MVAR)
-125.000 ST1 Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2  Plant (MVAR)
-375.000 = P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




04-2022CA-ModMed-Lluv_6002

Minimo Margen de

750.000 Reactivo-86MVAr
625.000
500.000
—— CASO BASE
——11 Plant (MVAR)
375.000
——L12B Plant (MVAR)
250,000 st ——14 Plant (MVAR)
/ ——14B  Plant (MVAR)
125.000 - ——15 Plant (MVAR)
/ ——18 Plant (MVAR)
Q[MVAr]  0.000 . - . . , ——19 Plant (MVAR)
0.700 0.750 1.050 1.100 1150 10 Plant (MVAR)
-125.000 ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
04-2022CA-ModMed-Lluv_6003
Minimo Margen de
750.000 Reactivo:157.49MVAr
625.000
500.000
—— CASO BASE
——11 Plant (MVAR)
375.000
——12B  Plant (MVAR)
250,000 = —] ——L4 Plant (MVAR)
——14B  Plant (MVAR)
125.000 7 ——1L5 Plant (MVAR)
/ ——18 Plant (MVAR)
Q[MVAr]  0.000 . . : . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.950 1.00 1.050 1.100 1150 |19 plant(MVAR)
-125.000 ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—+—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




04-2022CA-ModMed-Lluv_6004

Minimo Margen de

750.000 Reactivo:162.19MVAr
625.000
500.000
—— CASO BASE
275,000 ——11 Plant (MVAR)
——L12B Plant (MVAR)
250,000 . ~—~—14 Plant (MVAR)
——14B  Plant (MVAR)
125.000 A\ ——L5 Plant (MVAR)
\\ ——18 Plant (MVAR)
Q[MVAr]  0.000 . . \ . . — . . . ——19 Plant (MVAR)
0.700 0.750 0.800 o.z%\\&w 1.050 1.100 1150 |10 plant(MVAR)
-125.000 S— — g ST1  Plant (MVAR)
\w ——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
04-2022CA-ModMed-Lluv_6005
Minimo Margen de
750.000 Reactivo:284.95MVAr
625.000
500.000 4
—— CASO BASE
275,000 ; ——11 Plant (MVAR)
——12B  Plant (MVAR)
250,000 \\\\\ = ~—~—L4 Plant (MVAR)
\\\ //ﬁ: ——1L4B  Plant (MVAR)
125.000 \ \ / ——L5 Plant (MVAR)
\\\\ ——18 Plant (MVAR)
Q[MVAr]  0.000 . . S\ QN . L . . —~—L9 Plant(MVAR)
0.700 0.750 0.800 0.850 \\ UOM 1.050 1.100 1150 |19 plant(MVAR)
-125.000 S ————— . ST1  Plant (MVAR)
\¥ﬂwz§' ——ST2  Plant(MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7 Plant (MVAR)
-625.000
-750.000

V [pu]




04-2022CA-ModMed-Lluv_6008

Minimo Margen de

750.000 Reactivo:374.76MVAr
625.000
500.000
N —— CASO BASE
N ——11 Plant (MVAR
375.000 Z=N (MIVAR)
——L12B Plant (MVAR)
250,000 ~—~—14 Plant (MVAR)
/ ——14B  Plant (MVAR)
125,000 [T~ ——L5  Plant (MVAR)
/ ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . —4 . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 / 1.050 1.100 1150 |10 plant(MVAR)
-125.000 - / ST1  Plant (MVAR)
\ / ——ST2  Plant (MVAR)
-250.000 \_// ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
04-2022CA-ModMed-Lluv_6009
Minimo Margen de
750.000 Reactivoi-151.36MVAr
625.000
500.000
—— CASO BASE
——11 Plant(MVAR)
375.000
——128B  Plant (MVAR)
250,000 / ——14 Plant (MVAR)
——14B  Plant (MVAR)
125.000 f ——L5  Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . _ . . ) ——L9 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000°°  1.050 1.100 1150 |19 plant(MVAR)
-125.000 ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




04-2022CA-ModMed-Lluv_6018

Minimo Margen de

750.000 Reactivo-85.67MVAr
625.000
500.000
—— CASO BASE
475000 ——11 Plant(MVAR)
——L12B Plant (MVAR)
250,000 ~——14 Plant (MVAR)
——14B  Plant (MVAR)
125.000 ——1L5 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 T ) ——L9 Plant(MVAR)
0.700 0.750 1.100 1150 . 10 Plant(MVAR)
-125.000 ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
04-2022CA-ModMed-Lluv_6173
Minimo Margen de
750.000 Reactivo=77.7MVAr
625.000
500.000
—— CASO BASE
475000 ——11 Plant(MVAR)
——128B  Plant (MVAR)
250,000 ~——14 Plant (MVAR)
——14B  Plant (MVAR)
125.000 = ——15  Plant (MVAR)
. ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . ——19  Plant (MVAR)
0.700 0.750 0.80\ oAsso\iWO 1.050 1.100 1150 . 10 plant(MVAR)
-125.000 \5%‘%:/'/ ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




04-2022CA-ModMed-Lluv_6182

Minimo Margen de

750.000 Reactivo:544.77MVAr
625.000 4
Y.
500.000 =
—— CASO BASE
——1L1 Plant(MVAR)
375.000
/ ——L12B Plant (MVAR)
250.000 ——14 Plant (MVAR)
/ \ ——L4B  Plant (MVAR)
125.000 ——1L5 Plant (MVAR)
/ \ ~——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . , ~—~—19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 0 1.050 \i.mo 1150 19 plant (MVAR)
-125.000 ST1 Plant (MVAR)
// \ ——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
. / P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
04-2022CA-ModMedNoct-Lluv_6001
Minimo Margen de
750.000 Reactivoi-123.15MVAr
625.000
500.000
—— CASO BASE
——1L1 Plant(MVAR)
375.000
——12B  Plant (MVAR)
250.000 A\ i ——14 Plant (MVAR)
\ — ——14B  Plant (MVAR)
===
125.000 § ——1L5 Plant (MVAR)
\\\\\&& ‘, /\\_ —— L8 Plant (MVAR)
Q[MVAr]  0.000 . . E\ , . . ; . . , ——19 Plant (MVAR)
0.700 0.750 0.800 0.85 N %\> 0.950 1.000 1.050 1.100 1150 19 plant (MVAR)
-125.000 ST1 Plant (MVAR)
/
- ——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




04-2022CA-ModMedNoct-Lluv_6002

Minimo Margen de

750.000 Reactivo:-114.05MVAr
625.000
500.000
—— CASO BASE
——1L1 Plant (MVAR)
375.000
——L12B Plant (MVAR)
250.000 ——14 Plant (MVAR)
\ /L/;E—E ——14B  Plant (MVAR)
125.000 it y. - ——1L5 Plant (MVAR)
\\\\ / ——L8 Plant (MVAR)
Qv 0.000 i i \ I i i _/ . . . —~—19  Plant(MVAR)
0.700 0.750 0.800 \\N&OO 0.950 0 1.050 1.100 1150 110 Plant(MVAR)
/
-125.000 ;
S N Y, ST1  Plant (MVAR)
< ——ST2  Plant(MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
04-2022CA-ModMedNoct-Lluv_6003
Minimo Margen de
750.000 Reactivoi-128.42MVAr
625.000
500.000
—— CASO BASE
——11 Plant (MVAR)
375.000
——12B  Plant (MVAR)
250.000 1 ——14 Plant (MVAR)
\\ //g;z,:,i—:s ——14B  Plant (MVAR)
125.000 \ / ——15 Plant (MVAR)
N\\ ﬁ ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . > . . | . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 \&\ 0.950 LV 1.050 1.100 1150 . 19 Pplant(MVAR)
-125.000 . y ST1  Plant (MVAR)
y
& = ——5ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




04-2022CA-ModMedNoct-Lluv_6004

Minimo Margen de

750.000 Reactivoi-116.83MVAr
625.000
500.000
—— CASO BASE
——11 Plant (MVAR)
375.000
——L12B Plant (MVAR)
250,000 i ~—~—14 Plant (MVAR)
/g@ ——L4B  Plant (MVAR)
125.000 > ——1L5 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . A\ \ . . . /—‘N\ . ——19  Plant (MVAR)
0.700 0.750 0.800 Woo 0.950 1000 1.050 1.100 1150 . 19 Pplant(MVAR)
-125.000 ~ — ST1 Plant (MVAR)
—
X = ——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
04-2022CA-ModMedNoct-Lluv_6005
Minimo Margen de
750.000 Reactivoi-127.3MVAr
625.000
500.000
—— CASO BASE
——11 Plant (MVAR)
375.000
——12B  Plant (MVAR)
250,000 W\ ——14 Plant (MVAR)
\\\\\ //ﬁ —— 148 Plant (MVAR)
125.000 A\ / ——15 Plant (MVAR)
\\\k 4 ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . \ . . / . . . ~——19 Plant(MVAR)
0.700 0.750 0.800 0.850 N 0.950 1.000 /~ 1.050 1.100 1150 |19 plant(MVAR)
N\
-125.000 / ST1  Plant (MVAR)
% ——ST2  Plant(MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




04-2022CA-ModMedNoct-Lluv_6008

Minimo Margen de

750.000 Reactivo-183.79MVAr
625.000
500.000
—— CASO BASE
——1L1 Plant(MVAR)
375.000
//‘x ——12B  Plant (MVAR)
250,000 Z 3 ~——L14 Plant(MVAR)
——L4B  Plant (MVAR)
125.000 ——1L5 Plant (MVAR)
\ /\ ——L8 Plant (MVAR)
Q[MVAr]  0.000 . . . . . — . . , ~—~—19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.93&) 1.000// 1.050 1.100 1150 19 plant (MVAR)
-125.000 - ST1 Plant (MVAR)
K ——ST2 Plant (MVAR)
-250.000 \ === ~——P1 Plant (MVAR)
N P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
04-2022CA-ModMedNoct-Lluv_6009
Minimo Margen de
750.000 Reactivo:-173.56MVAr
625.000
500.000
—— CASO BASE
——1L1 Plant(MVAR)
375.000
——12B  Plant (MVAR)
250,000 ~——L14 Plant(MVAR)
——L4B  Plant (MVAR)
125.000 ——1L5 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr] 0.000 . . . . v v . ~—+—1L9 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1000, 1050 1.100 1150 19 plant (MVAR)
-125.000 ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—+—P1 Plant (MVAR)
P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




04-2022CA-ModMedNoct-Lluv_6018

Minimo Margen de

750.000 Reactivo:-113.85MVAr
625.000
500.000
—— CASO BASE
——1L1 Plant(MVAR)
375.000
——L12B Plant (MVAR)
250,000 ~——L14 Plant(MVAR)
\ p P ——| ——L4B  Plant (MVAR)
125.000 2 4 ——1L5 Plant (MVAR)
\\& / ——18 Plant (MVAR)
Q[MVAr]  0.000 . \ RS . . —r . . , ~—~—19 Plant (MVAR)
0.700 0.750 0.800 \\0\900 0.950 )0 1.050 1.100 1150 19 plant (MVAR)
-125.000 ~ — ST1  Plant (MVAR)
= ——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
04-2022CA-ModMedNoct-Lluv_6173
Minimo Margen de
750.000 Reactivoi-97.93MVAr
625.000
500.000
—— CASO BASE
——1L1 Plant(MVAR)
375.000
——12B  Plant (MVAR)
250,000 ~——L14 Plant(MVAR)
——L4B  Plant (MVAR)
125.000 ——1L5 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . — . . , ~—~—19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0. 1.000 1.050 1.100 1150 19 plant (MVAR)
-125.000 ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




04-2022CA-ModMedNoct-Lluv_6182

Minimo Margen de

750.000 Reactivo:1660.31MVAr
625.000
500.000 A
/ \ —— CASO BASE
——1L1 Plant (MVAR)
375.000 \
/ \\ ——L12B Plant (MVAR)
250.000 / \ ~——14 Plant (MVAR)
/ ——14B  Plant (MVAR)
125.000 ——1L5 Plant (MVAR)
// \ ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . ' , —— 19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 //)0 1.0§\ 1.100 1150 {10 plant(MVAR)
'/
-125.000 ST1  Plant (MVAR)
/ \ ——5ST2  Plant (MVAR)
-250.000 <~ ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 W P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
\ P7  Plant (MVAR)
-625.000
-750.000
V [pu]
04-2022CA-ModMin-Lluv_6001
Minimo Margen de
750.000 Reactivo-40.69MVAr
625.000 ‘\
500.000
\ —— CASO BASE
375.000 ——L1 Plant(MVAR)
\Q /ﬁ ——12B  Plant (MVAR)
\
250.000 \ K ~~—14 Plant(MVAR)
\ \ —— 148 Plant (MVAR)
125.000 \ 7 P
\\ / ——L5 Plant (MVAR)
} ——18 Plant (MVAR)
Q[MVAr]  0.000 - . . . . . Lo Plant (MVAR
0700 0.750 0.800 M/ 1.050 1.100 1.150 ant (MVAR)
110 Plant (MVAR)
-125.000 —
. ST1  Plant (MVAR)
250,000 ——5ST2  Plant (MVAR)
~——P1 Plant (MVAR)
375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




04-2022CA-ModMin-Lluv_6002

Minimo Margen de

750.000 Reactivo:-38.74MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant (MVAR)
- ——128  Plant (MVAR)
250.000 / ~——14 Plant (MVAR)
/' ——L4B  Plant (MVAR)
125.000 ——15  Plant (MVAR)
/
—— 18 Plant(MVAR)
Q[MVAr]  0.000 . . . 15 Plant (MVAR
0.700 0.750 1.050 1.100 1.150 ant )
~—~—110 Plant (MVAR)
-125.000
ST1 Plant (MVAR)
——ST2  Plant (MVAR
-250.000 s ant (MVAR)
——P1 Plant (MVAR)
.375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
04-2022CA-ModMin-Lluv_6003
Minimo Margen de
750.000 Reactivo-40.65MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant (MVAR)
——128B  Plant (MVAR)
250.000 ~——L4 Plant(MVAR)
—— 148 Plant (MVAR)
125.000 ——15  Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . Lo Plant (MVAR
0.700 0.750 ant (MVAR)
~—~—110 Plant (MVAR)
-125.000
ST1  Plant (MVAR)
250,000 ——ST2  Plant (MVAR)
——P1 Plant (MVAR)
375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




04-2022CA-ModMin-Lluv_6004

Minimo Margen de

750.000 Reactivo-38.8MVAr
625.000
500.000
—— CASO BASE
375.000 ——L1 Plant(MVAR)
——12B  Plant (MVAR)
250.000 / ~——14 Plant (MVAR)
Ve ——L4B  Plant (MVAR)
125.000 ——1L5  Plant (MVAR)
—— 18 Plant(MVAR)
Q[MVAr]  0.000 . . . . 15 Plant (VIVAR
0.700 0.750 1.050 1.100 1.150 ant ( )
~—~—110 Plant (MVAR)
-125.000
ST1 Plant (MVAR)
550,000 ——ST2  Plant (MVAR)
~——P1 Plant (MVAR)
375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
04-2022CA-ModMin-Lluv_6005
Minimo Margen de
750.000 Reactivo-43.08MVAr
625.000
500.000
—— CASO BASE
375.000 ——L1 Plant(MVAR)
/,;é ——12B  Plant (MVAR)
250.000 / ~~—14 Plant(MVAR)
——14B  Plant (MVAR)
125.000 7 /
/ ——L5 Plant (MVAR)
Y. ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . 15 Plant (VIVAR
0.700 0.750 w 1.050 1.100 1.150 ant ( )
110 Plant (MVAR)
-125.000
ST1  Plant (MVAR)
250,000 ——5ST2  Plant (MVAR)
~——P1 Plant (MVAR)
375,000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7 Plant (MVAR)
-625.000
-750.000

V [pu]




04-2022CA-ModMin-Lluv_6008

Minimo Margen de

750.000 Reactivo-68.21MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant (MVAR)
——12B  Plant (MVAR)
250.000 /_/ ~——14 Plant (MVAR)
[ ——L4B  Plant (MVAR)
125.000 ——15  Plant (MVAR)
——1L8 Plant (MVAR)
Q[MVAr]  0.000 " " " ' ' ' X L9 Plant(MVAR
0.700 0.750 0.800 0.850 0.950 1.00 1.050 1.100 1.150 ant )
110 Plant (MVAR)
-125.000 \
M ST1 Plant (MVAR)
950000 — ——ST2  Plant(MVAR)
——P1 Plant (MVAR)
.375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
04-2022CA-ModMin-Lluv_6009
Minimo Margen de
750.000 Reactivo-69.21MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant (MVAR)
/ ——12B  Plant (MVAR)
250.000 //;/ ~——14 Plant(MVAR)
——14B  Plant (MVAR)
125.000 ——15  Plant (MVAR)
~——18 Plant (MVAR)
Q[MVAr]  0.000 : - - - - - - - : L9 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950\\7_@ 1.050 1.100 1.150 ant( )
~~—110 Plant (MVAR)
-125.000
ST1  Plant (MVAR)
\\ = —_—
-250.000 ST2  Plant (MVAR)
——P1 Plant (MVAR)
375,000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




04-2022CA-ModMin-Lluv_6018

Minimo Margen de

750.000 Reactivo:-38.69MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant (MVAR)
= ——128  Plant (MVAR)
250.000 / ~——L4 Plant (MVAR)
F ——L4B  Plant (MVAR)
125.000 / ——15  Plant (MVAR)
—— 18 Plant(MVAR)
Q[MVAr]  0.000 . . . 15 Plant (MVAR
0.700 0.750 1.050 1.100 1.150 ant )
~—~—110 Plant (MVAR)
-125.000
ST1 Plant (MVAR)
——ST2  Plant (MVAR
-250.000 s ant (MVAR)
——P1 Plant (MVAR)
.375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
04-2022CA-ModMin-Lluv_6173
Minimo Margen de
750.000 Reactivo:-37.87MVAr
625.000
500.000
—— CASO BASE
375.000 ——11 Plant (MVAR)
——128B  Plant (MVAR)
250.000 ~——14 Plant (MVAR)
—— 148 Plant (MVAR)
125.000 ——15  Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . - - - . 1o Plant (MVAR
0.700 0.750 1.000 1.050 1.100 1.150 ant( )
~—~—110 Plant (MVAR)
-125.000
ST1  Plant (MVAR)
250,000 ——ST2  Plant (MVAR)
——P1 Plant (MVAR)
375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




04-2022CA-ModMin-Lluv_6182

Minimo Margen de

750.000 Reactivo:-103.44MVAr
625.000 /
500.000
/ —— CASO BASE
375.000 ——1L1 Plant(MVAR)
/ ——12B  Plant (MVAR)
250.000 / ~—— 14 Plant (MVAR)
/ ——L4B  Plant (MVAR)
125.000 7 ——15  Plant (MVAR)
——1L8 Plant (MVAR)
Q[MVAr]  0.000 " " " ’ ' ' ' X L9 Plant(MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1 1.050 1.100 1.150 ant )
. ~——L110 Plant (MVAR)
-125.000
\ // ST1  Plant (MVAR)
550,000 ——ST2  Plant (MVAR)
\\i\y% ~——P1 Plant (MVAR)
N—r/
.375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
05-2023CA-ModMax-Sec_6001
Minimo Margen de
750.000 Reactivo:-313.19MVAr
625.000
500.000 —— CASO BASE
——1L1 Plant(MVAR)
S
375.000 7 —~—12B Plant (MVAR)
/ —— 14 Plant (MVAR)
250.000 ——14B Plant (MVAR)
/ ——L5 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant(MVAR)
Q[MVAr]  0.000 ] Plant (MVAR
0700 ant (MVAR)
Plant (MVAR)
-125.000
Plant (MVAR)
250,000 Plant (MVAR)
Plant (MVAR)
.375.000 Plant (MVAR)
Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14 Plant(MVAR)
-625.000
-750.000

V [pu]




05-2023CA-ModMax-Sec_6002

Minimo Margen de

750.000 Reactivo:-262.39MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
/ ——14 Plant (MVAR)
v
250.000 ——14B  Plant (MVAR)
/ ——15 Plant (MVAR)
125.000 / ——18 Plant (MVAR)
/ ——L19 Plant(MVAR)
Q[MVAr]  0.000 S T T T " 4 ' ’ ' L10  Plant (MVAR
0.700% %0750 0.800 0.850 0.900 0.950 1.00 1.050 1.100 1.150 ant ( )
ST1  Plant (MVAR)
-125.000
—+—ST2 Plant (MVAR)
250,000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
.375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14  Plant(MVAR)
-625.000
-750.000
V [pu]
05-2023CA-ModMax-Sec_6003
Minimo Margen de
750.000 Reactivo:-330.42MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
=
375.000 / ——12B  Plant (MVAR)
/ ——14 Plant (MVAR)
250.000 : —— 4B Plant (MVAR)
——1L5 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 T = " " ' iy ' ! ' L10  Plant (MVAR
0.700 0.750 0,800 0.850 0.900 0.950 1.000 1.050 1.100 1150 ant ( )
BN ST1  Plant (MVAR)
-125.000
\\\\\ // ——ST2  Plant (MVAR)
250,000 . Vi ——P1 Plant (MVAR)
P2 Plant (MVAR)
375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7 Plant (MVAR)
P14 Plant(MVAR)
-625.000
-750.000

V [pu]




05-2023CA-ModMax-Sec_6004

Minimo Margen de

750.000 Reactivo:-273.48MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 —— 128  Plant (MVAR)
y ~—~—14 Plant(MVAR)
250.000 ——14B  Plant (MVAR)
/ —— L5 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——L19 Plant(MVAR)
Q[MVAr]  0.000 " " " " ' 7 ' ! ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.0007 1.050 1.100 1.150 ant ( )
\\\ ST1  Plant (MVAR)
-125.000
NN , ——ST2  Plant (MVAR)
N /,/
7 ——P1 Plant (MVAR
-250.000 ~ ~— e ant (MVAR)
W P2 Plant (MVAR)
.375.000 - = P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
05-2023CA-ModMax-Sec_6005
Minimo Margen de
750.000 Reactivo:-348.95MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 // —— 128 Plant (MVAR)
7
y ~—~—14 Plant(MVAR)
250.000 y ——L4B  Plant (MVAR)
// ——1L5 Plant (MVAR)
125.000 ——18 Plant (MVAR)
i/
/ ~———19 Plant (MVAR)
Q[MVAr]  0.000 : - - - - —f - T : 110 Plant (MVAR
0.700 0.750 %?\00\ 0.850 0.900 0.950 uy 1.050 1.100 1.150 ant ( )
ST1  Plant (MVAR)
-125.000 ™~
/ ——ST2  Plant (MVAR)
250,000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14 Plant(MVAR)
-625.000
-750.000

V [pu]




05-2023CA-ModMax-Sec_6008

Minimo Margen de

750.000 Reactivo:-708.92MVAr
625.000
500.000 7 —— CASO BASE

7

A

y ——11 Plant(MVAR)
375.000 7 —~—12B Plant (MVAR)
// ~—~—14 Plant(MVAR)

250.000 // —— 4B Plant (MVAR)
// ——15 Plant (MVAR)

125.000 ——L8 Plant (MVAR)
——1L9 Plant (MVAR)
Q [MVAr] 0.000 T T T T T T 0 T T y L0 Pl MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 / 1.050 1.100 1.150 ant ( )
| ST1 Plant (MVAR)
-125.000
—+—ST2 Plant (MVAR)
250,000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7 Plant (MVAR)
P14 Plant (MVAR)
-625.000
-750.000
05-2023CA-ModMax-Sec_6009
Minimo Margen de
750.000 Reactivo=567.15MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 ——L2B  Plant (MVAR)
/ ~—+—L4 Plant (MVAR)
250.000 /,_// —— 148  Plant (MVAR)
7
Y 4 ——15 Plant (MVAR)
125.000 ——L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr] 0.000 T T T T T T Vi T T y Lo Pl MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 ~ 1.050 1.100 1.150 ant ( )
/ ST1 Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR
-250.000 ant ( )
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7 Plant (MVAR)
P14 Plant(MVAR)
-625.000
-750.000

V [pu]




05-2023CA-ModMax-Sec_6018
Minimo Margen de

750.000 Reactivo:-260.53MVAr

625.000

500.000 —— CASO BASE
——11 Plant (MVAR)

375.000 ——128  Plant (MVAR)

/ —— 14 Plant (MVAR)

250.000 —— 4B Plant (MVAR)
// ——L5 Plant (MVAR)
125.000 7 ——18 Plant (MVAR)
bo00 // ——1L9 Plant (MVAR)

QIMVAT 0000 IS 0.900 0.950 1.009 g 1.050 1.100 1150 10 Plant(MVAR)

/ ST1  Plant (MVAR)
-125.000
—+—ST2 Plant (MVAR)
250,000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
05-2023CA-ModMax-Sec_6173
Minimo Margen de
750.000 Reactivo:-197.3MVAr
625.000
500.000 —— CASO BASE
——1L1 Plant(MVAR)
375.000 ——12B  Plant (MVAR)
—— 14 Plant (MVAR)
250.000 —— 148 Plant (MVAR)
P ——L5 Plant (MVAR)
125.000 e

——18 Plant(MVAR)
~———19 Plant (MVAR)

Q[MVAr]  0.000 . . . . . . . .
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150

~——110 Plant (MVAR)

= ST1 Plant (MVAR)
-125.000 =t
" ——ST2  Plant(MVAR)
——P1 Plant (MVAR
-250.000 ant ( )
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7 Plant (MVAR)
P14 Plant (MVAR)
-625.000
-750.000

V [pu]




05-2023CA-ModMax-Sec_6182
Minimo Margen de

750.000 Reactivo:-861.97MVAr

625.000

500.000 —— CASO BASE

——1L1 Plant(MVAR)
/

375.000 / ——128B  Plant (MVAR)
// ——14 Plant (MVAR)
250.000 ——14B  Plant (MVAR)
/ ——L5 Plant (MVAR)
/4

125.000 ——18 Plant (MVAR)
/ ——1L9 Plant (MVAR)

Q[MVAr]  0.000 - T T T " " ' ’ ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 /1,050 1.100 1.150 ant ( )
/” ST1 Plant (MVAR)

-125.000

/ —+—ST2 Plant (MVAR)

——P1 Plant (MVAR

-250.000 / ant (MVAR)
/ P2 Plant (MVAR)

375.000 P3  Plant (MVAR)

P5 Plant (MVAR)

P7 Plant (MVAR)

-500.000
P14 Plant (MVAR)
-625.000
-750.000
05-2023CA-ModMed-Sec_6001
Minimo Margen de
750.000 Reactivo:-345.48MVAr
625.000
500.000 —— CASO BASE
—— L1 Plant(MVAR)
375.000 ——1L12B Plant (MVAR)
—— L4 Plant(MVAR)
250.000 ——L4B Plant (MVAR)
—— L5 Plant (MVAR)
125.000 ——18 Plant (MVAR)
—— L9 Plant(MVAR)

-

Q[MVAr]  0.000 T " " " ' ' ' ! ' L10  Plant (MVAR
0.160\0750 0.800 0.850 0.900 0950 1.0 1.050 1100 1.150 ant (MVAR)
; ST1  Plant (MVAR)

-125.000 -
——ST2 Plant (MVAR)

——P1 Plant (MVAR)

-250.000
P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7 Plant (MVAR)
P14 Plant (MVAR)
-625.000
-750.000

V [pu]




05-2023CA-ModMed-Sec_6002

Minimo Margen de

750.000 Reactivo:-298.41MVAr
625.000
500.000 —— CASO BASE
——1L1 Plant(MVAR)
375.000 —~—12B Plant (MVAR)
/// ~——L4 Plant (MVAR)
250.000 ——14B  Plant (MVAR)
——L5 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——L19 Plant(MVAR)
Q[MVAr]  0.000 - T T T " " ' ’ ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1. 1.050 1.100 1.150 ant ( )
r ST1  Plant (MVAR)
-125.000 -
—+—ST2 Plant (MVAR)
550,000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
.375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
05-2023CA-ModMed-Sec_6003
Minimo Margen de
750.000 Reactivo:-358.18MVAr
625.000
500.000 —— CASO BASE
7=
4 L1 Plant (MVAR)
375.000 —~—12B Plant (MVAR)
/ —— 14 Plant (MVAR)
250.000 74 ——14B Plant (MVAR)
——1L5 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant(MVAR)
Q[MVAr]  0.000 - - T T T T T T ) 110 Plant (MVAR
0.7_1)0\ 0.800 0.850 0.900 0.950 1.00 1.050 1.100 1.150 ant ( )
: ST1  Plant (MVAR)
-125.000 - ]
/ / ——ST2  Plant (MVAR)
250,000 / ——P1 Plant (MVAR)
/ P2  Plant (MVAR)
-375.000 2 P3  Plant (MVAR)
;/ P5  Plant (MVAR)
-500.000 - P7  Plant (MVAR)
P14 Plant(MVAR)
-625.000
-750.000

V [pu]




05-2023CA-ModMed-Sec_6004

Minimo Margen de

750.000 Reactivo:-302.21MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 —— 128  Plant (MVAR)
/ ~—~—14 Plant(MVAR)
250.000 2 ——14B  Plant (MVAR)
—— L5 Plant(MVAR)
125.000 7 ——18 Plant (MVAR)
/ ——L19 Plant(MVAR)
Q[MVAr]  0.000 T T T T " — ' ’ ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.050 1.100 1.150 ant ( )
[\ / ST1  Plant (MVAR)
-125.000
/; —+—ST2 Plant (MVAR)
950000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
.375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
05-2023CA-ModMed-Sec_6005
Minimo Margen de
750.000 Reactivo:-382.63MVAr
625.000
500.000 —— CASO BASE
4 ——11 Plant(MVAR)
y /4
375.000 7 ——128  Plant (MVAR)
7% ~—~—14 Plant(MVAR)
250.000 7 ——14B Plant (MVAR)
/ ——15 Plant (MVAR)
125.000 ——18 Plant (MVAR)
/ ~———19 Plant (MVAR)
Q[MVAr]  0.000 : - - - - — - - : 10 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.00 1.050 1.100 1.150 ant ( )
/ ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
950000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14 Plant(MVAR)
-625.000
-750.000

V [pu]




05-2023CA-ModMed-Sec_6008
Minimo Margen de

750.000 Reactivo:-622.26MVAr

625.000

500.000 7, —— CASO BASE
// ——11 Plant (MVAR)
375.000 7

——128B  Plant (MVAR)
——14 Plant (MVAR)

250.000 ——L4B  Plant (MVAR)

—— L5 Plant(MVAR)

125.000 —— 18 Plant(MVAR)

——1L9 Plant (MVAR)

Q[MVAr]  0.000 . . . . .
0.700 0.750 0.800 0.850 0.900 0.950

1.100 1150 ~—+—L10 Plant(MVAR)

ST1 Plant (MVAR)
-125.000
—+—ST2 Plant (MVAR)
250,000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7 Plant (MVAR)
P14 Plant (MVAR)
-625.000
-750.000
V [pu]
05-2023CA-ModMed-Sec_6009
Minimo Margen de
750.000 Reactivo=506.27MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 ——L2B  Plant (MVAR)
——L4 Plant (MVAR)
250.000 —— 148  Plant (MVAR)
——15 Plant(MVAR)
125.000

——18 Plant(MVAR)
~———19 Plant (MVAR)

Q[MVAr]  0.000 . . . . . . - .

0.700 0.750 0.800 0.850 0.900 0.950 1.100 1150 10 Plant(MVAR)

ST

-

Plant (MVAR)

-125.000
——ST2  Plant (MVAR)

——P1 Plant (MVAR)

-250.000
P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7 Plant (MVAR)
P14 Plant (MVAR)
-625.000
-750.000

V [pu]




05-2023CA-ModMed-Sec_6018

Minimo Margen de

750.000 Reactivo:-296.71MVAr
625.000
500.000 —— CASO BASE
——1L1 Plant(MVAR)
375.000 # —~—12B Plant (MVAR)
/ —— 14 Plant (MVAR)
250.000 ——14B  Plant (MVAR)
—— L5 Plant(MVAR)
125.000 ——18 Plant (MVAR)
——L19 Plant(MVAR)
Q[MVAr]  0.000 - T T T " " ' ’ ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1./0 1.050 1.100 1.150 ant ( )
] ST1  Plant (MVAR)
-125.000
—+—ST2 Plant (MVAR)
950000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
.375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
05-2023CA-ModMed-Sec_6173
Minimo Margen de
750.000 Reactivo:-226.18MVAr
625.000
500.000 —— CASO BASE
——1L1 Plant(MVAR)
375.000 —~—12B Plant (MVAR)
—— 14 Plant (MVAR)
250.000 ——14B Plant (MVAR)
- ——1L5 Plant (MVAR)
125.000 = ——18 Plant (MVAR)
i ——19 Plant (MVAR)
Q[MVAr]  0.000 - - T T T T ) 110 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 1.050 1.100 1.150 ant ( )
ST1  Plant (MVAR)
-125.000
— ——ST2  Plant (MVAR)
L
——— ——P1 Plant (MVAR
-250.000 s e — ant! )
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14 Plant(MVAR)
-625.000
-750.000

V [pu]




05-2023CA-ModMed-Sec_6182

Minimo Margen de

750.000 Reactivo:-760.46MVAr
625.000
500.000 —— CASO BASE
//‘ ——11 Plant (MVAR)

——L4B Plant (MVAR)
——L5 Plant (MVAR)
125.000 / —— L8 Plant(MVAR)

——1L9 Plant (MVAR)

375.000 ——128  Plant (MVAR)
/ ——14 Plant (MVAR)
250.000 /

Q[MVAr]  0.000 . . . . . . /A .

0.700 0.750 0.800 0.850 0.900 0.950 1.000 /' 1.050 1.100 1.150 L10  Plant (MVAR)

ST

-

Plant (MVAR)

-125.000
—+—ST2 Plant (MVAR)

——P1 Plant (MVAR)

-250.000
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
/ P14 Plant (MVAR)
-625.000 /
y 4
-750.000 — A
V [pu]
05-2023CA-ModMedNoct-Sec_6001
Minimo Margen de
750.000 Reactivo:-377.62MVAr
625.000
g
Vi
500.000 - —— CASO BASE

/ ——1L1 Plant(MVAR)
375.000 —~—12B Plant (MVAR)

// ~——1L4 Plant(MVAR)
250.000 ——14B Plant (MVAR)
// ——L5 Plant (MVAR)

125.000 7 ——18 Plant (MVAR)
J ——19 Plant (MVAR)
Q[MVAr] 0.000 T T T T T T T T y Lo Pl MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1 Q/ 1.050 1.100 1.150 ant ( )
ST1  Plant (MVAR)
-125.000 -
i ——5ST2  Plant (MVAR)
——P1 Pl MVAR
-250.000 ant ( )
P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7 Plant (MVAR)
P14 Plant(MVAR)
-625.000
-750.000

V [pu]




05-2023CA-ModMedNoct-Sec_6002

Minimo Margen de

750.000 Reactivoi-327.13MVAr
625.000
500.000 % —— CASO BASE
/// ——1L1 Plant(MVAR)
375.000 —~—12B Plant (MVAR)
// ——1L4 Plant (MVAR)
250.000 ——14B  Plant (MVAR)
——L5 Plant (MVAR)
125.000 / ——18 Plant (MVAR)
/ ——L19 Plant(MVAR)
Q[MVAr]  0.000 T T T T " 7 ' ’ ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 ‘000 1.050 1.100 1.150 ant ( )
ST1  Plant (MVAR)
-125.000
—+—ST2 Plant (MVAR)
950000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
.375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
05-2023CA-ModMedNoct-Sec_6003
Minimo Margen de
750.000 Reactivo:-389.29MVAr
625.000
y
500.000 / / —— CASO BASE
/ ——L1 Plant (MVAR)
375.000 —~—12B Plant (MVAR)
// —— 14 Plant (MVAR)
250.000 / ——14B Plant (MVAR)
——15 Plant (MVAR)
125.000 / ——18 Plant (MVAR)
/’ ~———19 Plant (MVAR)
Q[MVAr]  0.000 T T T T T —7 g g | 10 Plant (MVAR
0. 0.750 0.800 0.850 0.900 0.950 1.000 | 1.050 1.100 1.150 ant ( )
ST1  Plant (MVAR)
-125.000 y
// ——ST2  Plant (MVAR)
950000 ——P1 Plant (MVAR)
/ P2 Plant (MVAR)
-375.000 e / P3  Plant (MVAR)
// PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14 Plant(MVAR)
-625.000
-750.000

V [pu]




05-2023CA-ModMedNoct-Sec_6004

Minimo Margen de

750.000 Reactivo:-326.34MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 ——128  Plant (MVAR)
/ —— 14 Plant(MVAR)
250.000 ——14B  Plant (MVAR)
/ ——L5 Plant (MVAR)
125.000 ——18 Plant (MVAR)
—— 19 Plant (MVAR)
Q[MVAr]  0.000 " " i X ' / ' ' ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 00 1.050 1.100 1150 ant ( )
‘ P ST1  Plant (MVAR)
-125.000 -
/ ——5T2 Plant (MVAR)
——P1 Plant (MVAR
-250.000 = ant (MVAR)
4
= P2 Plant (MVAR)
z P3  Plant (MVAR
-375.000 ant ( )
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
05-2023CA-ModMedNoct-Sec_6005
Minimo Margen de
750.000 Reactivo:-413.76MVAr
625.000
500.000 7 —— CASO BASE
Y. ——11 Plant (MVAR)
375.000 / —~—— 128 Plant (MVAR)
/// ——14 Plant (MVAR)
250.000 / ——14B Plant (MVAR)
——15 Plant (MVAR)
125.000 7 ——18 Plant (MVAR)
// ——19 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T ’ T T ) 110 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.0 1.050 1.100 1150 ant ( )
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
250,000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14 Plant(MVAR)
-625.000
-750.000

V [pu]




05-2023CA-ModMedNoct-Sec_6008 e
Inimo IViargen de

750.000 Reactivo:-587.34MVAr

625.000

500.000 // —— CASO BASE

// ——11 Plant (MVAR)

375.000 ——128B  Plant (MVAR)
——14 Plant (MVAR)
250.000 ——14B  Plant (MVAR)
——L5 Plant (MVAR)
125.000

—— L8 Plant(MVAR)
——1L9 Plant (MVAR)

Q[MVA]  0.000 . , , o
1.100 1.150 0 Plant(MVAR)

0.700 0.750 0.800
ST1 Plant (MVAR)
-125.000
—+—ST2 Plant (MVAR)
250,000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 P7 Plant (MVAR)
P14 Plant (MVAR)
-625.000
-750.000
V [pu]
05-2023CA-ModMedNoct-Sec_6009
Minimo Margen de
750.000 Reactivo-461.94MVAr
625.000
500.000 —— CASO BASE
——1L11 Plant (MVAR)
375.000 ——L2B  Plant (MVAR)
——L4 Plant (MVAR)
250.000 7 —— 148  Plant (MVAR)
V4 ——15 Plant (MVAR)
125.000 ——L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr] 0.000 T T T T T T — T y Lo Pl MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 ant ( )
ST1 Plant (MVAR)
-125.000 =7
o ——5ST2  Plant (MVAR)
——P1 Plant (MVAR
-250.000 ant ( )
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7 Plant (MVAR)
P14 Plant(MVAR)
-625.000
-750.000

V [pu]




05-2023CA-ModMedNoct-Sec_6018 e
Inimo IViargen de

750.000 Reactivo:-325.47MVAr

625.000

500.000 7 —— CASO BASE
——1L11 Plant (MVAR)

375.000 —— 128  Plant (MVAR)
/ ~——L4 Plant(MVAR)
250.000

——L4B  Plant (MVAR)

/ —— L5 Plant(MVAR)

125.000 / ——18 Plant(MVAR)
/ ——L9 Plant (MVAR)
Q[MVAr]  0.000 - T T T " ' ' ’ ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 QAO 1.050 1.100 1.150 ant ( )
ST1 Plant (MVAR)
-125.000
—+—ST2 Plant (MVAR)
250,000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7 Plant (MVAR)
P14 Plant (MVAR)
-625.000
-750.000
V [pu]
05-2023CA-ModMedNoct-Sec_6173
Minimo Margen de
750.000 Reactivo-251.76MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 ——L2B  Plant (MVAR)

~—— L4 Plant (MVAR)

250.000 ——L4B Plant (MVAR)

/ ——15 Plant (MVAR)

125.000 K ——L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr] 0.000 T T T T T T T T y Lo Pl MVAR
0.700 0.750 0.800 0.850 0.900 0.950 .000 1.050 1.100 1.150 ant ( )
ST1 Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Pl MVAR
-250.000 ant ( )
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7 Plant (MVAR)
P14 Plant(MVAR)
-625.000
-750.000

V [pu]




05-2023CA-ModMedNoct-Sec_6182

Minimo Margen de

750.000 Reactivo:-700.2MVAr
625.000
500.000 —— CASO BASE
/ ——1L1 Plant(MVAR)
375.000 —~—12B Plant (MVAR)
/ —— 14 Plant(MVAR)
250.000 ——14B  Plant (MVAR)
——L5 Plant (MVAR)
125.000 /, ——18 Plant (MVAR)
——1L9 Plant (MVAR)
Q[MvAr]  0.000 ' ’ ' ' : ' ' ' ' 110  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1000 /' 1.050 1.100 1.150 ant ( )
ST1  Plant (MVAR)
-125.000
—+—ST2 Plant (MVAR)
550,000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
.375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14  Plant (MVAR)
-625.000 \
-750.000 \\\ \
V [pu]
05-2023CA-ModMin-Sec_6001
Minimo Margen de
750.000 Reactivo:-414.33MVAr
625.000
500.000 —— CASO BASE
——1L1 Plant(MVAR)
y
375.000 —~—12B Plant (MVAR)
Y —— 14 Plant (MVAR)
250.000 7 ——14B Plant (MVAR)
——15 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant(MVAR)
Q[MVAr]  0.000 : : - T T —/ T T ) 110 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 ant ( )
ST1  Plant (MVAR)
-125.000 y
/ / ——ST2  Plant (MVAR)
950,000 / ~——P1 Plant (MVAR)
/// P2 Plant (MVAR)
-375.000 —\7 —\ / P3  Plant (MVAR)
== PS5 Plant (MVAR)
-500.000 . - P7  Plant (MVAR)
P14 Plant(MVAR)
-625.000
-750.000

V [pu]




05-2023CA-ModMin-Sec_6002

Minimo Margen de

750.000 Reactivo:-365.2MVAr
625.000
500.000 —— CASO BASE
——1L11 Plant (MVAR)
375.000 Z ——128B  Plant (MVAR)
 a
/,,,/ ——14 Plant (MVAR)
250.000 ——14B  Plant (MVAR)
—— L5 Plant(MVAR)
125.000 ” ——18 Plant (MVAR)
/ ——L19 Plant(MVAR)
Q[MVAr]  0.000 - T T T " /4 ' ’ ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1,000 1.050 1.100 1.150 ant ( )
ST1 Plant (MVAR)
-125.000
—+—ST2 Plant (MVAR)
950000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
.375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14 Plant (MVAR)
-625.000
-750.000
V [pu]
05-2023CA-ModMin-Sec_6003
Minimo Margen de
750.000 Reactivo:-425.16MVAr
625.000
500.000 —— CASO BASE
/ ——L1 Plant(MVAR)
375.000 ——128B  Plant (MVAR)
/‘ ——14 Plant (MVAR)
250.000 ——14B Plant (MVAR)
——15  Plant(MVAR)
/
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 - - - - - —] T T : 110 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 ant ( )
ST1 Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
/ ——P1 Plant (MVAR
-250.000 // ant )
// P2 Plant (MVAR)
375,000 / P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14 Plant(MVAR)
-625.000
-750.000

V [pu]




05-2023CA-ModMin-Sec_6004

Minimo Margen de

750.000 Reactivo:-363.83MVAr
625.000
500.000 —— CASO BASE
——1L11 Plant (MVAR)
375.000 ——128B  Plant (MVAR)
y ~——L4 Plant(MVAR)
250.000 ——14B  Plant (MVAR)
——L5 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——L19 Plant(MVAR)
Q[MVAr]  0.000 - T T T " " ' ’ ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1. 1.050 1.100 1.150 ant ( )
f ST1 Plant (MVAR)
-125.000
p —+—ST2 Plant (MVAR)
S
» -
950000 P1  Plant (MVAR)
P2 Plant (MVAR)
.375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14 Plant (MVAR)
-625.000
-750.000
V [pu]
05-2023CA-ModMin-Sec_6005
Minimo Margen de
750.000 Reactivo:-440.76MVAr
625.000
500.000 —— CASO BASE
——1L1 Plant (MVAR)
375.000 ——128B  Plant (MVAR)
——14 Plant (MVAR)
250.000 ——14B Plant (MVAR)
——15  Plant(MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 T " " " ' 7 ' ! ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 /©  1.050 1.100 1.150 ant ( )
ST1 Plant (MVAR)
-125.000
// ——5ST2  Plant (MVAR)
950000 / ——P1 Plant (MVAR)
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14 Plant(MVAR)
-625.000
-750.000

V [pu]




05-2023CA-ModMin-Sec_6008
Minimo Margen de

750.000 Reactivo:-602.53MVAr

625.000

500.000 —— CASO BASE

/ ——11 Plant(MVAR)
375.000 / ——128B  Plant (MVAR)

/// ~—~—14 Plant(MVAR)
250.000 7

/ ——L4B  Plant (MVAR)
/// ——L5 Plant (MVAR)

125.000 ——18 Plant (MVAR)
——1L9 Plant (MVAR)
Q[MVAr]  0.000 : - T T T T /— T ) 110 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 // 1.050 1.100 1.150 ant ( )
{ ST1 Plant (MVAR)
-125.000
—+—ST2 Plant (MVAR)
550,000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
.375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
05-2023CA-ModMin-Sec_6009
Minimo Margen de
750.000 Reactivo:-485.38MVAr
625.000
500.000 —— CASO BASE
——1L1 Plant(MVAR)
375.000 —~—12B Plant (MVAR)
—— 14 Plant (MVAR)
250.000 ——14B Plant (MVAR)
——L5 Plant (MVAR)
125.000

——18 Plant(MVAR)
~———19 Plant (MVAR)

Q[MVAr]  0.000 . . . . . . v/ . .

0.700 0.750 0.800 0.850 0.900 0950 1.000 7 1050 1.100 1150 110 Plant(MVAR)

ST

-

Plant (MVAR)

-125.000
——ST2  Plant (MVAR)

——P1 Plant (MVAR)

-250.000
P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7 Plant (MVAR)
P14 Plant (MVAR)
-625.000
-750.000

V [pu]




05-2023CA-ModMin-Sec_6018

Minimo Margen de

750.000 Reactivo:-363.74MVAr
625.000
500.000 —— CASO BASE
——1L1 Plant(MVAR)
375.000 //; —~—12B Plant (MVAR)
p —— 14 Plant (MVAR)
250.000 ——14B  Plant (MVAR)
——L5 Plant (MVAR)
125.000 ’ ——18 Plant (MVAR)
/ ——1L9 Plant (MVAR)
Q[MVAr]  0.000 : T T T T T T T ) 110 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1,000 1.050 1.100 1.150 ant ( )
ST1  Plant (MVAR)
-125.000
/ ——ST2  Plant (MVAR)
550,000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
.375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
05-2023CA-ModMin-Sec_6173
Minimo Margen de
750.000 Reactivo:-262.26MVAr
625.000
500.000 —— CASO BASE
——1L1 Plant(MVAR)
375.000 —~—12B Plant (MVAR)
—— 14 Plant (MVAR)
250.000 ——14B Plant (MVAR)
——15 Plant (MVAR)
125.000 o ———18 Plant (MVAR)
- ——19 Plant (MVAR)
Q[MVAr]  0.000 T T T T T = T T | L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 000 1.050 1.100 1.150 ant ( )
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR
-250.000 ant )
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14 Plant(MVAR)
-625.000
-750.000

V [pu]




05-2023CA-ModMin-Sec_6182
Minimo Margen de

750.000 Reactivo:-717.55MVAr

625.000

500.000 —— CASO BASE
——11 Plant (MVAR)

375.000 / ——L12B Plant (MVAR)
// ~——L4 Plant(MVAR)
250.000

7 ——1L14B  Plant (MVAR)
/ ——L5 Plant (MVAR)

——18 Plant (MVAR)

125.000

——1L9 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . y - . .
0.700 0.750 0.800 0.850 0.900 0.950 1.000 // 1.050 1.100 1.150

~—+—L10 Plant(MVAR)
ST. Plant (MVAR)

-125.000
/ —+—ST2 Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
/ P2 Plant (MVAR)

P3  Plant (MVAR)

-

-375.000
PS5 Plant (MVAR)
-500.000 / P7  Plant (MVAR)
7
7 P14 Plant (MVAR)
\ 7
-625.000 \\ ////
-750.000 A\ =
V [pu]
06-2023CA-ModMax-Lluv_6001
Minimo Margen de
750.000 Reactivo:-136.24MVAr
625.000
—— CASO BASE
500.000

——11 Plant (MVAR)
——12B  Plant (MVAR)

375.000 3 —
. \k /@ ——13  Plant (MVAR)

250.000 \ \ ) —— 4B Plant (MVAR)
N //F/"\ ——16 Plant (MVAR)
125.000 \ . ——L7 Plant (MVAR)

\\\\\ W ——18 Plant (MVAR)

X ——1L9 Plant (MVAR)

Q[MVAr]  0.000 . . . . . .

0.700 0.750 0.800 0.850 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——5ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 - ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~——P14  Plant (MVAR)
-625.000
-750.000

V [pu]




06-2023CA-ModMax-Lluv_6002

Minimo Margen de

750.000 Reactivo-119.9MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——12B Plant (MVAR)
375.000
—+—L3 Plant(MVAR)
250000 ——14B Plant (MVAR)
——16 Plant (MVAR)
125.000 ——L7 Plant(MVAR)
——18 Plant (MVAR)
Q[MVAr] 0.000 . . v . ~——1L19 Plant (MVAR)
0.700 0.750 0.800 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~=—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~—~—P14 Plant (MVAR)
-625.000
-750.000
V [pu]
06-2023CA-ModMax-Lluv_6003
Minimo Margen de
750.000 Reactivo-137.04MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——12B Plant (MVAR)
375.000
——13 Plant (MVAR)
250,000 o ——14B Plant (MVAR)
r/_‘\. ——16 Plant (MVAR)
125.000 ——17 Plant(MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . ~—~—19 Plant (MVAR)
0.700 0.750 0.800 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—+—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P14 Plant (MVAR)
-625.000
-750.000

V [pu]




06-2023CA-ModMax-Lluv_6004

Minimo Margen de

750.000 Reactivo:-123.11MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——12B Plant (MVAR)
375.000
—+—L3 Plant(MVAR)
250000 ——14B Plant (MVAR)
——16 Plant (MVAR)
125.000 ——L7 Plant(MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . ~—~—19 Plant (MVAR)
0.700 0.750 0.800 1.150 L10  Plant (MVAR)
-125.000 - ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~=—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~—~—P14 Plant (MVAR)
-625.000
-750.000
V [pu]
06-2023CA-ModMax-Lluv_6005
Minimo Margen de
750.000 Reactivo-140MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
== ——12B Plant (MVAR)
375.000
///'** ——13 Plant (MVAR)
250000 ——14B Plant (MVAR)
W/\ ——16 Plant (MVAR)
125.000 ——17 Plant(MVAR)
% —— L8 Plant (MVAR)
Q[MVAr] 0.000 . . v v . ~——1L19 Plant (MVAR)
0.700 0.750 0.800 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~=—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P14 Plant (MVAR)
-625.000
-750.000

V [pu]




06-2023CA-ModMax-Lluv_6008

Minimo Margen de

750.000 Reactivo-201.69MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——12B Plant (MVAR)
375.000
—+—L3 Plant(MVAR)
250,000 ——14B Plant (MVAR)
——16 Plant (MVAR)
125.000 ——L7 Plant(MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . , ~—~—19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 1.050 1.100 1.150 10 Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~=—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 - P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~—~—P14 Plant (MVAR)
-625.000
-750.000
V [pu]
06-2023CA-ModMax-Lluv_6009
Minimo Margen de
750.000 Reactivo-195.46MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——12B Plant (MVAR)
375.000
——13 Plant (MVAR)
250,000 ——14B Plant (MVAR)
——16 Plant (MVAR)
125.000 ——17 Plant(MVAR)
——18 Plant (MVAR)
Q[MVAr] 0.000 . . . . v v v . ~——1L19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
= ——ST2  Plant (MVAR)
-250.000 L_’_’__________// ~—=—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P14 Plant (MVAR)
-625.000
-750.000

V [pu]




06-2023CA-ModMax-Lluv_6018
Minimo Margen de

750.000 Reactivo:-120.07MVAr

625.000

—— CASO BASE

500.000
——11 Plant (MVAR)

——12B  Plant (MVAR)

375.000
—— L3 Plant(MVAR)
250.000 —— 148  Plant (MVAR)
—— L6 Plant (MVAR)
125.000 ——1L7 Plant (MVAR)

——18 Plant (MVAR)

Q[MVAr]  0.000 . . . . ——19 Plant (MVAR)

0.700 0.750 0.800 1.100 1.150 L10 Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~=—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~—~—P14 Plant (MVAR)
-625.000
-750.000
V [pu]
06-2023CA-ModMax-Lluv_6173
Minimo Margen de
750.000 Reactivo-96.62MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——1L2B  Plant (MVAR)
375.000
——1L3 Plant(MVAR)
250.000 ——14B  Plant (MVAR)

——16 Plant (MVAR)

/ ——1L7 Plant (MVAR)

125.000
/ ——18 Plant (MVAR)
——19 Plant (MVAR)

Q[MVAr]  0.000 . . . . . . . .
0.700 0.750 0.800 0.850 ~1.000 1.050 1.100 1.150 L10  Plant (MVAR)

~125.000 < ——ST1  Plant (MVAR)
e ——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
P14 Plant (MVAR)
-625.000
-750.000

V [pu]




06-2023CA-ModMax-Lluv_6182

Minimo Margen de

750.000 Reactivo:486.75MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——12B Plant (MVAR)
375.000
—+—L3 Plant(MVAR)
250000 ——14B Plant (MVAR)
——16 Plant (MVAR)
125.000 ——L7 Plant(MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 900 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 =77 ~——P1 Plant (MVAR)
u/// P2 Plant (MVAR)
-375.000 = P3  Plant (MVAR)
)
P5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~—~—P14 Plant (MVAR)
-625.000
-750.000
V [pu]
06-2023CA-ModMax-Lluv_6840
Minimo Margen de
750.000 Reactivoi-136.61MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——12B Plant (MVAR
375.000 A —— ( )
\ ——13 Plant (MVAR)
250000 \ § \ ——14B Plant (MVAR)
\ ' /f/'—*\ ——L6 Plant (MVAR)
125.000 ——17 Plant(MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . ——19 Plant (MVAR)
0.700 0.750 0.800 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—+—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P14 Plant (MVAR)
-625.000
-750.000

V [pu]




06-2023CA-ModMed-Lluv_6001

Minimo Margen de

750.000 Reactivo:-158.03MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 ——12B  Plant (MVAR)
\\ ~—~—13 Plant (MVAR)
250.000 ——— ——L4B  Plant (MVAR)
\ \ //\“‘ ——16 Plant (MVAR)
125.000 \ . // ——L7 Plant(MVAR)
\ / 18 Plant(MVAR)
Q[MVAr]  0.000 : = - - — - : L9 Plant (MVAR
0.700 0.750 0.800 0.850 X\o.aso 1.%‘ 1.050 1.100 1.150 ant )
3 L10  Plant (MVAR)
-125.000 N i
NN \_\/J ——ST1  Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
.375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
06-2023CA-ModMed-Lluv_6002
Minimo Margen de
750.000 Reactivo:-144.6MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 ——12B  Plant (MVAR)
~—~—13 Plant (MVAR)
250.000 ——L4B  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——17 Plant (MVAR)
~—~—18 Plant (MVAR)
Q[MVAr]  0.000 . Lo Plant (MVAR
0.700 0.750 ant (MVAR)
L10  Plant (MVAR)
-125.000
——ST1  Plant (MVAR)
950000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
375,000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 PS5 Plant (MVAR)
P7 Plant (MVAR)
-625.000
-750.000

V [pu]




06-2023CA-ModMed-Lluv_6003

Minimo Margen de

750.000 Reactivo:-160.36MVAr
625.000
500.000 —— CASO BASE
——1L1 Plant (MVAR)
375.000 ——12B  Plant (MVAR)
——13 Plant (MVAR)
250.000 = ——14B  Plant (MVAR)
\\\ e == ——16 Plant (MVAR)
\
125.000 \ ——17 Plant (MVAR)
\ ——18 Plant(MVAR)
Q[MVAr]  0.000 . - Lo Plant (MVAR
0.700 0.750 0.800 0.850 0.950 1.000 % 050 1.100 1.150 ant )
L10  Plant (MVAR)
-125.000
—+—ST1 Plant(MVAR)
7 ST2  Plant (MVAR
-250.000 ant )
P1  Plant (MVAR)
.375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
06-2023CA-ModMed-Lluv_6004
Minimo Margen de
750.000 Reactivo:-144.45MVAr
625.000
500.000 —— CASO BASE
——1L1 Plant (MVAR)
375.000 ——12B  Plant (MVAR)
——13 Plant (MVAR)
250.000 = ——14B  Plant (MVAR)
7 ] ——16 Plant (MVAR)
125.000 ~
g V. 4 ——L7 Plant(MVAR)
y
p ——18 Plant (MVAR)
Q[MVAr]  0.000 - - A - - y T T . L9 Plant (MVAR
0.700 0.750 0.800 . N 0.900 0.950 1000 1.050 1.100 1.150 ant( )
N / L10  Plant (MVAR)
-125.000 -
\\by ——ST1 Plant (MVAR)
~——r
-250.000 S—— ——ST2  Plant(MVAR)
P1  Plant (MVAR)
375,000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 P5  Plant (MVAR)
P7 Plant (MVAR)
-625.000
-750.000

V [pu]




06-2023CA-ModMed-Lluv_6005

Minimo Margen de

750.000 Reactivo-164.98MVAr
625.000
500.000 —— CASO BASE
\ \ ——11 Plant(MVAR)
375.000 = ——12B  Plant (MVAR)
\}\\\\ ——13 Plant (MVAR)
250.000 % ——14B  Plant (MVAR)
. //\ ——16 Plant (MVAR)
125.000 \ / ——L7 Plant(MVAR)
/ ——18 Plant(MVAR)
Q[MVAr]  0.000 . . . — . . . 15 Plant (MVAR
0.700 0.750 0.800 0.850 1.000 /" 1.050 1.100 1.150 ant )
110 Plant (MVAR)
-125.000
\\\\’/\\;J/ ———ST1 Plant (MVAR)
N
950,000 Z ——ST2  Plant (MVAR)
P1  Plant (MVAR)
375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
06-2023CA-ModMed-Lluv_6008
Minimo Margen de
750.000 Reactivo-249.83MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 ——128  Plant (MVAR)
///ﬂ ——13 Plant (MVAR)
250.000 %/ N ——148  Plant (MVAR)
——16 Plant (MVAR)
125.000 W TN
| ——17 Plant (MVAR)
| ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . .
0.700 0.750 0.800 0.850 0.900 0.950 1.000/ f 1.050 \Noo 1.150 L9 Plant(MVAR)
; 110  Plant (MVAR)
-125.000 ‘
// /] ——ST1  Plant (MVAR)
\ 7 ~——ST2  Plant (MVAR
-250.000 ;‘\\ A s ant( )
J P1  Plant (MVAR)
-375.000 \ P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 P5 Plant (MVAR)
P7 Plant (MVAR)
-625.000
-750.000

V [pu]




06-2023CA-ModMed-Lluv_6009

Minimo Margen de

750.000 Reactivo:-234.67MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 ——128  Plant (MVAR)
% ——13 Plant (MVAR)
250.000 A ——14B  Plant (MVAR)
Y7 ——16 Plant (MVAR)
125.000 ——17 Plant (MVAR)
——18 Plant(MVAR)
Q[MVAr]  0.000 " " " ’ ' ' ' ' X L9 Plant(MVAR
0.700 0.750 0.800 0.850 0.900 1.050 \Kloo 1.150 ant )
110 Plant (MVAR)
-125.000
—+—ST1 Plant(MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 = P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
06-2023CA-ModMed-Lluv_6018
Minimo Margen de
750.000 Reactivo:-144.5MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 ——128  Plant (MVAR)
~——13 Plant (MVAR)
250.000 e ——14B Plant (MVAR)
\ //"—“ ——16 Plant (MVAR)
4 AN
125.000 \ // ——17 Plant (MVAR)
\ ; Sl ~——18 Plant (MVAR)
Q[MVAr]  0.000 T N ‘ T T — T T ) 9 Pl MVAR
0.700 0.750 0.800 \\ .900 0.950 1, 1.050 1.100 1.150 ant( )
R f 110  Plant (MVAR)
-125.000 S
N ——ST1  Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
375,000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 P5  Plant (MVAR)
P7 Plant (MVAR)
-625.000
-750.000

V [pu]




06-2023CA-ModMed-Lluv_6173

Minimo Margen de

750.000 Reactivo-121.2MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 ——128  Plant (MVAR)
——13 Plant (MVAR)
250.000 —— 148  Plant (MVAR)
) ——16 Plant (MVAR)
e /_;//' ——17 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . - . . .
0.700 0.750 0.800 0.850 0.900 0.950 //ﬁa)‘/ 1.050 1.100 1.150 L9 Plant(MVAR)
) L10 Plant (MVAR)
-125.000 N
\\\ké-scw; — ——ST1  Plant (MVAR)
950,000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
06-2023CA-ModMed-Lluv_6182
Minimo Margen de
750.000 Reactivo-299.59MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 ——128  Plant (MVAR)
~——13 Plant (MVAR)
250.000 —— 148 Plant (MVAR)
——16 Plant (MVAR)
125.000 ——17 Plant (MVAR)
/ ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . y . . . 15 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 /a6o 1.050 1.100 1.150 ant( )
110  Plant (MVAR)
-125.000 7
//// ——ST1  Plant (MVAR)
950,000 / / ——ST2  Plant (MVAR)
/ P1  Plant (MVAR)
375,000 \Y}; P2 Plant (MVAR)
P3  Plant (MVAR)
A
-500.000 P5 Plant (MVAR)
P7 Plant (MVAR)
-625.000 ‘\
-750.000

V [pu]




06-2023CA-ModMed-Lluv_6840

Minimo Margen de

750.000 Reactivo:-158.98MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 ——12B  Plant (MVAR)
%\ ——13 Plant (MVAR)
250.000 — ——14B  Plant (MVAR)
e
g ——16 Plant (MVAR)
125.000 \ . 74 ——17 Plant (MVAR)
\\ \ / ——18 Plant (MVAR)
Q[MVAr]  0.000 " " . ' ' 2 ' X L9 Plant(MVAR
0.700 0.750 0.800 0.850 “ 1,050 1.100 1.150 ant )
110 Plant (MVAR)
-125.000
—+—ST1 Plant(MVAR)
250,000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
.375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
06-2023CA-ModMedNoct-Lluv_6001
Minimo Margen de
750.000 Reactivo:-158.17MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 ——128  Plant (MVAR)
~——13 Plant (MVAR)
250.000 ——L4B  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——17 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . Lo Plant (MVAR
0.700 0.750 ant (MVAR)
110  Plant (MVAR)
-125.000
——ST1  Plant (MVAR)
250,000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
375,000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 P5  Plant (MVAR)
P7 Plant (MVAR)
-625.000
-750.000

V [pu]




06-2023CA-ModMedNoct-Lluv_6002

Minimo Margen de

750.000 Reactivo-146.55MVAr
625.000
500.000 —— CASO BASE
——1L1 Plant (MVAR)
375.000 ——12B  Plant (MVAR)
——13 Plant (MVAR)
=
250.000 /ﬁ ——14B  Plant (MVAR)
\\ 4 ——1L16 Plant (MVAR)
7z ﬂ
125.000 // ——17 Plant (MVAR)
\ ——18 Plant(MVAR)
Q[MVAr]  0.000 . . . . . — . . .
o700 075 o.soo% 0.900 0950 %e/ 1.050 1.100 1.150 L9 Plant(MVAR)
L10  Plant (MVAR)
-125.000 A
w ——ST1 Plant (MVAR)
-250.000 ) ~—+—ST2 Plant(MVAR)
P1  Plant (MVAR)
375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
06-2023CA-ModMedNoct-Lluv_6003
Minimo Margen de
750.000 Reactivo-161.95MVAr
625.000
500.000 —— CASO BASE
——1L1 Plant (MVAR)
375.000 ——12B  Plant (MVAR)
\ ——13 Plant (MVAR)
=
250.000 3 //-\‘:I§ ——14B  Plant (MVAR)
3 7
\\ \ —— 16 Plant (MVAR)
125.000 \ /,f/ ——1L7 Plant (MVAR)
\ ———18 Plant (MVAR)
Q[MVAr]  0.000 " " X~ / L9 Plant (MVAR
0.700 0.750 0.800 0.85 N 0.950 1.000 1.050 1.100 1.150 ant( )
3 L10  Plant (MVAR)
-125.000
w ———ST1  Plant (MVAR)
-250.000 - ——ST2  Plant (MVAR)
P1  Plant (MVAR)
4375000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 P5  Plant (MVAR)
P7 Plant (MVAR)
-625.000
-750.000

V [pu]




06-2023CA-ModMedNoct-Lluv_6004

Minimo Margen de

750.000 Reactivo:-146.89MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 ——128  Plant (MVAR)
——13 Plant (MVAR)
250.000 / ——L4B  Plant (MVAR)
7 ——16 Plant (MVAR)
125.000 e
g Z ——17 Plant (MVAR)
——1L8 Plant (MVAR)
Q[MVAr]  0.000 " ' X L9 Plant(MVAR
0.700 0.750 1.100 1.150 ant (MVAR)
110 Plant (MVAR)
-125.000
—+—ST1 Plant(MVAR)
950,000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
06-2023CA-ModMedNoct-Lluv_6005
Minimo Margen de
750.000 Reactivo-163.55MVAr
625.000
500.000 —— CASO BASE
\ ——11 Plant(MVAR)
375.000 A ‘\ ——128  Plant (MVAR)
\\\\ /ﬁ ——13 Plant(MVAR)
250.000 \ 7= —— 148 Plant (MVAR)
) . ——16 Plant (MVAR)
125.000 \ /// ——1L7 Plant(MVAR)
\ / ——18 Plant (MVAR)
Q[MVAr]  0.000 . . ‘ . . . f— . .
0.700 0.750 0.800 0.850 0.950 1.000 )/1.050 1.100 1.150 L9 Plant(MVAR)
110  Plant (MVAR)
-125.000
M ——ST1  Plant (MVAR)
950,000 \ ==—=C ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 P5 Plant (MVAR)
P7 Plant (MVAR)
-625.000
-750.000

V [pu]




06-2023CA-ModMedNoct-Lluv_6008

Minimo Margen de

750.000 Reactivo:-231.36MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 ——12B  Plant (MVAR)
13 Plant (MVAR)
250.000 —— 148 Plant (MVAR)
—— 16 Plant(MVAR)
125.000 i ——L7 Plant(MVAR)
/ ——18 Plant (MVAR)
QIMVAr]  0.000 . . . . . . /- . ,
0.700 0.750 0.800 0.850 0.900 0.950 1.000 / 1.050 1.100 1.150 LS Plant (MVAR)
L10 Plant (MVAR)
-125.000 s
i ——ST1 Plant (MVAR)
950,000 ———ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 P5  Plant (MVAR)
P7 Plant (MVAR)
-625.000
-750.000
V [pu]
06-2023CA-ModMedNoct-Lluv_6009
Minimo Margen de
750.000 Reactivo:-211.04MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 ——12B  Plant (MVAR)
13 Plant (MVAR)
4
250.000 / —— 148 Plant (MVAR)
/'i/ —— 16 Plant (MVAR)
125.000 ——1L7 Plant (MVAR)
———18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . A . ,
0.700 0.750 0.800 0.850 0.900 0950 1.00 1.050 1.100 1.150 L9 Plant (MVAR)
L10  Plant (MVAR)
-125.000 :
——ST1 Plant (MVAR)
250,000 ———ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 PS5 Plant (MVAR)
P7 Plant (MVAR)
-625.000
-750.000

V [pu]




06-2023CA-ModMedNoct-Lluv_6018

Minimo Margen de

750.000 Reactivo:-146.33MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 ——12B  Plant (MVAR)
~—~—13 Plant (MVAR)
250.000 /f‘g ——14B  Plant (MVAR)
\k ﬂ,// ——16 Plant (MVAR)
125.000 S ——17 Plant (MVAR)
0,000 \\\\‘ //\ ——18 Plant(MVAR)
afan 0.700 0.750 0 800 0.950 /%o/ 1.050 1.100 1150 2 Plnt(MVAR)
L10  Plant (MVAR)
-125.000
——ST1 Plant (MVAR)
550,000 =S== ——ST2  Plant (MVAR)
P1  Plant (MVAR)
.375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
06-2023CA-ModMedNoct-Lluv_6173
Minimo Margen de
750.000 Reactivo:-123.14MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 ——12B  Plant (MVAR)
~—~—13 Plant (MVAR)
250.000 ——L4B  Plant (MVAR)
_ ——16 Plant (MVAR)
125.000 ) = ——17 Plant (MVAR)
0000 _— ——18 Plant (MVAR)
afan 0.700 0.750 0.800 0.850 0.900 0.950 ~1600 1.050 1.100 1150 2 Plnt(MVAR)
125,000 N \\J L10  Plant (MVAR)
\\%’;ﬁwﬁ" ——5ST1  Plant (MVAR)
950000 o ——ST2  Plant(MVAR)
P1  Plant (MVAR)
375,000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 PS5 Plant (MVAR)
P7 Plant (MVAR)
-625.000
-750.000

V [pu]




06-2023CA-ModMedNoct-Lluv_6182

Minimo Margen de

750.000 Reactivo:-345.15SMVAr
625.000
500.000 —— CASO BASE
——1L1 Plant (MVAR)
375.000 ——12B  Plant (MVAR)
——13 Plant (MVAR)
250.000 ——14B  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——17 Plant (MVAR)
——18 Plant(MVAR)
Q[MVAr]  0.000 " " " ’ ' W/ ' ' X L9 Plant(MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 ant )
// L10  Plant (MVAR)
-125.000 /
\ —+—ST1 Plant(MVAR)
250,000 ——ST2  Plant (MVAR)
\ P1  Plant (MVAR)
375.000 P2 Plant (MVAR)
\\ P3  Plant (MVAR)
-500.000 P5 Plant (MVAR)
\ P7  Plant (MVAR)
-625.000
-750.000
V [pu]
06-2023CA-ModMedNoct-Lluv_6840
Minimo Margen de
750.000 Reactivo-158.97MVAr
625.000
500.000 —— CASO BASE
——1L1 Plant (MVAR)
375.000 ——12B  Plant (MVAR)
\\ = ~——1L3 Plant (MVAR)
250.000 A= ——148B  Plant (MVAR
\ y/ === ant ( )
\ \ 74 ——16 Plant(MVAR)
125.000 // ——1L7 Plant(MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . S~ . . 7 . . . 1o Plant (MVAR
0.700 0.750 0.800 0.950 1.000 [/~ 1.050 1.100 1.150 ant( )
[ L10  Plant (MVAR)
-125.000
- ‘JJ ——ST1 Plant (MVAR)
250,000 : ===/a ——ST2  Plant (MVAR)
P1  Plant (MVAR)
4375000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 P5  Plant (MVAR)
P7 Plant (MVAR)
-625.000
-750.000

V [pu]




06-2023CA-ModMin-Lluv_6001

Minimo Margen de

750.000 Reactivo=47.3MVAr
625.000
500.000
—— CASO BASE
375,000 . ——1L1 Plant(MVAR)
= ——L12B Plant (MVAR)
250,000 \\ \ 4*5 ~——13 Plant (MVAR)
\\\{\\\\ ﬁ# ——14B  Plant (MVAR)
125.000 ——1L6 Plant(MVAR)
\\\ / ——17 Plant(MVAR)
Q[MVAr]  0.000 : — S . . , —~—18 Plant (MVAR)
0.700 0.750 0.800 1.050 1.100 1150 g plant(MVAR)
-125.000 L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 —+—ST2 Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
06-2023CA-ModMin-Lluv_6002
Minimo Margen de
750.000 Reactivo-45.58MVAr
625.000
500.000
—— CASO BASE
375,000 ——1L1 Plant(MVAR)
——12B  Plant (MVAR)
250,000 ﬁ: ~——13 Plant (MVAR)
——L4B  Plant (MVAR)
125.000 A)_—‘ ——L16 Plant (MVAR)
——L7 Plant (MVAR)
Q[MVAr]  0.000 - . . , —~—18 Plant (MVAR)
0.7 1.050 1.100 1150 |9 plant(MVAR)
-125.000 110  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 —+—ST2 Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7 Plant (MVAR)
-625.000
-750.000

V [pu]




06-2023CA-ModMin-Lluv_6003

Minimo Margen de

750.000 Reactivo:-46.85MVAr
625.000
500.000
—— CASO BASE
——1L1 Plant(MVAR)
375.000
——L2B Plant (MVAR)
=
250.000 = ——13 Plant (MVAR)
/ ——14B  Plant (MVAR)
e
125.000 ——16 Plant (MVAR)
/ ——L7 Plant (MVAR)

Q[MVAr]  0.000 - . . . ——18 Plant (MVAR)

0.700 0.750 1.050 1.100 1150 g plant(MVAR)
-125.000 110 Plant (MVAR)
——ST1  Plant (MVAR)
-250.000 ~—+—ST2 Plant(MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
06-2023CA-ModMin-Lluv_6004
Minimo Margen de
750.000 Reactivo-44.98MVAr
625.000
500.000
—— CASO BASE
——11 Plant(MVAR)
375.000
——128B  Plant (MVAR)
250,000 = ~——13 Plant(MVAR)
/ ——14B  Plant (MVAR)
 ———
125.000 ——16 Plant (MVAR)
/ ——17 Plant (MVAR)

/.

/

. . Y ——18 Plant (MVAR)

Q[MVAr] 0.000 -

0.700 0.750 1.050 1.100 1150 . |9 plant(MVAR)
-125.000 L10  Plant (MVAR)
——ST1  Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




06-2023CA-ModMin-Lluv_6005

Minimo Margen de

750.000 \ Reactivo:-50MVAr
625.000 \\\
500.000
\\ —— CASO BASE
——L1 Plant(MVAR
375.000 N (MVAR)
\\ = ——L12B Plant (MVAR)
250.000 \\ == ~——13 Plant (MVAR)
/ —— 148 Plant (MVAR)
125.000 \ //_’,’hg ——1L6 Plant(MVAR)
/ ——17 Plant (MVAR)
QIMVAr]  0.000 . . ——18 Plant (MVAR)
0.700 0.750 0.800 1.050 1.100 1.150 L9 Plant (MVAR)

-125.000 L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ~—+—ST2 Plant(MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
06-2023CA-ModMin-Lluv_6008
Minimo Margen de
750.000 Reactivo-76.58MVAr
625.000
500.000
—— CASO BASE
——1L1 Plant(MVAR)
375.000
——12B Plant (MVAR)
250.000 ~——13 Plant(MVAR)
——14B  Plant (MVAR)
125.000 ——16 Plant (MVAR)

——17 Plant (MVAR)
. ——18 Plant (MVAR)

Q[MVAr] 0.000

0.7 1.050 1.100 1150 . |9 plant(MVAR)
-125.000 L10  Plant (MVAR)
——ST1  Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




06-2023CA-ModMin-Lluv_6009

Minimo Margen de

750.000 Reactivo-76.47MVAr
625.000
500.000
—— CASO BASE
375,000 ——11 Plant(MVAR)
——L12B Plant (MVAR)
250,000 P ~——13 Plant (MVAR)
/ ——14B  Plant (MVAR)
125.000 ——16 Plant (MVAR)
/ ——17 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . A . . ———18 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 sso W 1.050 1.100 1150 . |9 plant (MVAR)
-125.000 AW L10  Plant (MVAR)
N \‘/ ——ST1  Plant(MVAR)
-250.000 g —+—ST2 Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
06-2023CA-ModMin-Lluv_6018
Minimo Margen de
750.000 Reactivo=45.57MVAr
625.000
500.000
—— CASO BASE
475,000 ——11 Plant(MVAR)
——128B  Plant (MVAR)
250,000 7/‘553 ~——13 Plant(MVAR)
——14B  Plant (MVAR)
125.000 /FM_‘ ——16 Plant (MVAR)
——17 Plant (MVAR)
Q[MVAr]  0.000 - . . , ——18 Plant (MVAR)
0.7 1.050 1.100 1150 . |9 plant(MVAR)
-125.000 110  Plant (MVAR)
——ST1  Plant (MVAR)
-250.000 —+—ST2 Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7 Plant (MVAR)
-625.000
-750.000

V [pu]




06-2023CA-ModMin-Lluv_6173

Minimo Margen de

750.000 Reactivo:-44.28MVAr
625.000
500.000
—— CASO BASE
——1L1 Plant(MVAR)
375.000
——L2B Plant (MVAR)
250.000 ~—~—13 Plant (MVAR)

——14B  Plant (MVAR)
~~ ———16 Plant (MVAR)

/ ——L7 Plant(MVAR)

. . Y ——18 Plant (MVAR)

125.000

Q[MVAr] 0.000 T

0.700 0.750 1.000 1.050 1.100 1150 . g9 Plant (MVAR)
-125.000 L10 Plant (MVAR)
——ST1 Plant(MVAR)
-250.000 ~—+—ST2 Plant(MVAR)
P1 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
06-2023CA-ModMin-Lluv_6182
Minimo Margen de
750.000 Reactivo-113.9MVAr
625.000

500.000 %
—— CASO BASE
——1L1 Plant(MVAR)
375.000 —
#‘ ——12B  Plant (MVAR)
250.000 7 ~——13 Plant(MVAR)
// ——L4B  Plant (MVAR)
g ——1L16 Plant (MVAR)

125.000 78
/ ——L7 Plant (MVAR)

Q[MVAr]  0.000 . . . . . . . . . ——18 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 Ko% 1.050 1.100 1150 . |9 plant(MVAR)
-125.000 3 A L10  Plant (MVAR)
// ——ST1  Plant (MVAR)
-250.000 ; ——ST2  Plant (MVAR)
\:;/ ' P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




06-2023CA-ModMin-Lluv_6840

Minimo Margen de

750.000 Reactivo-47.44MVAr
625.000
500.000
—— CASO BASE
——11 Plant (MVAR)
375.000
——L12B Plant (MVAR)
250,000 /‘fé‘ ~—— 13 Plant (MVAR)
/ ——14B  Plant (MVAR)
,V—v—f"—«__‘
125.000 ——1L6 Plant(MVAR)
——L7 Plant (MVAR)
Q[MVAr]  0.000 . . . ——18 Plant (MVAR)
0.700 1.050 1.100 1150 g plant(MVAR)
-125.000 L10  Plant (MVAR)
——ST1  Plant (MVAR)
-250.000 —+—ST2 Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
07-2024CA-ModMax-sec_6001
Minimo Margen de
750.000 Reactivo-345.44MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——128  Plant (MVAR)
375.000
/ ——13 Plant (MVAR)
250,000 d —— 148  Plant (MVAR)
/// —— 16 Plant (MVAR)
125.000 ——17 Plant(MVAR)
V ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . . ——19 Plant(MVAR)
0.700 0.750 \800 0.850 0.900 0.950 1.00 1.050 1.100 1.150 110 Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
—~—ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
P14 Plant(MVAR)
-625.000
-750.000

V [pu]




07-2024CA-ModMax-sec_6002

Minimo Margen de

750.000 Reactivo-294.07MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——12B  Plant (MVAR)
375.000
/ ——13 Plant (MVAR)
250,000 ——14B  Plant (MVAR)
// ——L16 Plant (MVAR)
125.000 ——L7 Plant(MVAR)
// —— 18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . ——19 Plant (MVAR)
0.700 0.850 0.900 0.950 1.(% 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~=—P1 Plant (MVAR)
~—~— P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
——P14 Plant (MVAR)
-625.000
-750.000
V [pu]
07-2024CA-ModMax-sec_6003
Minimo Margen de
750.000 Reactivo-345.54MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——12B  Plant (MVAR)
375.000
——13 Plant (MVAR)
250,000 ——14B  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——1L7 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . ——19 Plant (MVAR)
0.700 0.750 0.850 0.900 0.950 1.000 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~=—P1 Plant (MVAR)
~—~—P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
——P14 Plant (MVAR)
-625.000
-750.000

V [pu]




07-2024CA-ModMax-sec_6004

Minimo Margen de

750.000 Reactivo:-288.71MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——12B  Plant (MVAR)
375.000
—+—L3 Plant(MVAR)
250,000 yd ——L4B  Plant (MVAR)
——16 Plant (MVAR)
125.000 // ——L7 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . , ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 % 1.050 1.100 1150 110 Plant (MVAR)
-125.000 A\ ———ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 - ~=—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~——P14  Plant (MVAR)
-625.000
-750.000
V [pu]
07-2024CA-ModMax-sec_6005
Minimo Margen de
750.000 Reactivo-387.75MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
% ——128B  Plant (MVAR)
375.000
// ——13  Plant (MVAR)
250,000 ——148  Plant (MVAR)
// ——16 Plant (MVAR)
125.000 ——17 Plant (MVAR)
/ ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . , ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 Lo% 1.050 1.100 1150 110 Plant (MVAR)
-125.000 ——5ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~=—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~——P14  Plant (MVAR)
-625.000
-750.000

V [pu]




07-2024CA-ModMax-sec_6008

Minimo Margen de

750.000 Reactivo:-753.27MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
375,000 / ——12B Plant (MVAR)
——13 Plant (MVAR)
250000 ——14B Plant (MVAR)
//// ——16 Plant (MVAR)
125.000 / ——L7 Plant(MVAR)
// ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . . ~—~—19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 // 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
/// ——ST2  Plant (MVAR)
-250.000 ~=—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~—~—P14 Plant (MVAR)
-625.000
-750.000
V [pu]
07-2024CA-ModMax-sec_6009
Minimo Margen de
750.000 Reactivo-642.77MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——12B Plant (MVAR)
375.000
——13 Plant (MVAR)
250000 / ——14B Plant (MVAR)
// ——1L6 Plant(MVAR)
125.000 ——17 Plant(MVAR)
// ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . ) —— L9 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 LOOO/ 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 " ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P14 Plant (MVAR)
-625.000
-750.000

V [pu]




07-2024CA-ModMax-sec_6018

Minimo Margen de

750.000 Reactivo-292.81MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
—— 128  Plant (MVAR)
375.000
/ ——13 Plant (MVAR)
250,000 —— 148  Plant (MVAR)
// ——16 Plant (MVAR)
125.000 ——L7 Plant(MVAR)
// ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . ——19 Plant (MVAR)
0.700 0.7';%0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
—~—ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
P14 Plant(MVAR)
-625.000
-750.000
V [pu]
07-2024CA-ModMax-sec_6173
Minimo Margen de
750.000 Reactivo-198.97MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——128  Plant (MVAR)
375.000
—~—13 Plant(MVAR)
250,000 —— 148  Plant (MVAR)
——16 Plant(MVAR)
125.000 ——17 Plant(MVAR)
/ ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . ——19 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
—~—ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
P14 Plant(MVAR)
-625.000
-750.000

V [pu]




07-2024CA-ModMax-sec_6182

Minimo Margen de

750.000 Reactivo:-898.51MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——12B Plant (MVAR)
375.000
// ——1L3 Plant(MVAR)
250,000 / ——14B Plant (MVAR)
/// ——16 Plant (MVAR)
125.000 ——L7 Plant(MVAR)
// ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . , ~—~—19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 / 1.050 1.100 1.150 10 Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 74 P3  Plant (MVAR)
/ P5 Plant (MVAR)
-500.000 /
/ ——P7 Plant (MVAR)
~—~—P14 Plant (MVAR)
-625.000 ///
-750.000
V [pu]
07-2024CA-ModMax-sec_6840
Minimo Margen de
750.000 Reactivo-352.86MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——12B Plant (MVAR)
375.000
// ——13 Plant (MVAR)
250,000 g ——14B Plant (MVAR)
/// ——16 Plant (MVAR)
125.000 ——17 Plant(MVAR)
F/ ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . , ~—~—19 Plant (MVAR)
0.700 0.750 Q 00 0.850 0.900 0.950 11%/ 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 A \ ] ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P14 Plant (MVAR)
-625.000
-750.000

V [pu]




07-2024CA-ModMed-sec_6001

Minimo Margen de

750.000 Reactivo-390.81MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
/ —— 128  Plant (MVAR)
375.000
// —+—L3 Plant(MVAR)
250,000 ——14B  Plant (MVAR)
/// ——1L6 Plant(MVAR)
125.000 ——L7 Plant(MVAR)
V ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . . ——19 Plant (MVAR)
0.700\0.750 0.800 0.850 0.900 0.950 1.% 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 & > ——ST1  Plant (MVAR)
—~—ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
~—~— P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
P14 Plant(MVAR)
-625.000
-750.000
V [pu]
07-2024CA-ModMed-sec_6002
Minimo Margen de
750.000 Reactivo-331.21MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
// —— 128 Plant (MVAR)
375.000
// ——13 Plant (MVAR)
250000 ——14B  Plant (MVAR)
)// ——16 Plant (MVAR)
125.000 ——17 Plant(MVAR)
ﬂ ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . ; . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 4000 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
—~—ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
~—~—P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
P14 Plant(MVAR)
-625.000
-750.000

V [pu]




07-2024CA-ModMed-sec_6003

Minimo Margen de

750.000 Reactivo:-389.26MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
// ——L2B  Plant (MVAR)
375.000
// —+—L3 Plant(MVAR)
250000 ——14B Plant (MVAR)
W ——16 Plant (MVAR)
125.000 ——L7 Plant(MVAR)
V ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . , ~—~—19 Plant (MVAR)
0.700 \0.750 0.800 0.850 0.900 0.950 1.% 1.050 1.100 1.150 10 Plant (MVAR)
-125.000 N ——ST1 Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ~=—P1 Plant (MVAR)
~+—P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~—~—P14 Plant (MVAR)
-625.000
-750.000
V [pu]
07-2024CA-ModMed-sec_6004
Minimo Margen de
750.000 Reactivo-322.94MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——12B Plant (MVAR)
375.000
——13 Plant (MVAR)
250000 ——14B Plant (MVAR)
——16 Plant (MVAR)
125.000 ——17 Plant(MVAR)
/ ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . ; . . , ~—~—19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0950/1000 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 >, ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~=—P1 Plant (MVAR)
~+— P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P14 Plant (MVAR)
-625.000
-750.000

V [pu]




07-2024CA-ModMed-sec_6005

Minimo Margen de

750.000 Reactivo-431.61MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——12B  Plant (MVAR)
375.000
/ ——13 Plant (MVAR)
250000 ——14B Plant (MVAR)
/ ——16 Plant (MVAR)
125.000 ——L7 Plant(MVAR)
% ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . . ~—~—19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.00% 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~=—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
——P14 Plant (MVAR)
-625.000
-750.000
V [pu]
07-2024CA-ModMed-sec_6008
Minimo Margen de
750.000 Reactivo-660.85MVAr
625.000
/ —— CASO BASE
500.000
——11 Plant (MVAR)
4 ——12B  Plant (MVAR)
375.000 7
/// ——13 Plant (MVAR)
250000 ——14B Plant (MVAR)
//// ——16 Plant (MVAR)
125.000 ——1L7 Plant (MVAR)
// ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . . ~—~—19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 // 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~=—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
——P14 Plant (MVAR)
-625.000

-750.000




07-2024CA-ModMed-sec_6009

Minimo Margen de

750.000 Reactivo-567.89MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
—— 128  Plant (MVAR)
375.000
—+—L3 Plant(MVAR)
250,000 4 —— 148  Plant (MVAR)
/ —— L6 Plant (MVAR)
125.000 / ——17 Plant (MVAR)
/ ——18 Plant(MVAR)
Q[MVAr]  0.000 . . . . . . . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.00%1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
// ——ST2  Plant (MVAR)
-250.000 7~ ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
P14 Plant(MVAR)
-625.000 -
-750.000
V [pu]
07-2024CA-ModMed-sec_6018
Minimo Margen de
750.000 Reactivo=329.6MVAr
625.000
—— CASO BASE
500.000 /
——11 Plant(MVAR)
——128  Plant (MVAR)
375.000
//// ——13 Plant (MVAR)
250,000 —— 148  Plant (MVAR)
// ——16 Plant (MVAR)
125.000 ——17 Plant(MVAR)
% ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . ; . . . ——19 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 4000 1.050 1.100 1.150 110 Plant (MVAR)
-125.000 / ——ST1  Plant (MVAR)
—~—ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
P14 Plant(MVAR)
-625.000
-750.000

V [pu]




07-2024CA-ModMed-sec_6173
Minimo Margen de

750.000 Reactivo:-213.31MVAr

625.000

—— CASO BASE

500.000
——11 Plant (MVAR)

——1L2B Plant (MVAR)

375.000
—+—L3 Plant(MVAR)

——14B Plant (MVAR)
——16 Plant (MVAR)
125.000 / —-—L7 Plant (MVAR)
/ —— L8 Plant (MVAR)
Q[MVAr]  0.000 - - . . . - . . . ~—~—19 Plant (MVAR)
0.700 0.750 0.800 0.850 y/woo 1.050 1100 1150 L0 Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
_/,/// ——ST2  Plant (MVAR)

-250.000 - ~——P1 Plant (MVAR)

250.000

P2 Plant (MVAR)

-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~—~—P14 Plant (MVAR)
-625.000
-750.000
V [pu]
07-2024CA-ModMed-sec_6182
Minimo Margen de
750.000 Reactivo:-800.37MVAr
625.000
—— CASO BASE
500.000

) ——11 Plant (MVAR)
Z ——12B  Plant (MVAR)

375.000 .
//// ——13  Plant (MVAR)

y —_—
250.000 4 L4B  Plant (MVAR)
// ——16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
/y —— L8 Plant (MVAR)

Q[MVAr]  0.000 . . . . . . . . . ——L9 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0950 1.000 1.050 1.100 1.150 110 Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)

——ST2 Plant(MVAR)

-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
P14 Plant (MVAR)
-625.000

-750.000




07-2024CA-ModMed-sec_6840

Minimo Margen de

750.000 Reactivo-398.67MVAr
625.000
—— CASO BASE
500.000 /
——11 Plant (MVAR)
/ ——12B  Plant (MVAR)
375.000
// —+—L3 Plant(MVAR)
250,000 ——148  Plant (MVAR)
/// ——16 Plant (MVAR)
125.000 ——L7 Plant(MVAR)
y ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . . ——19 Plant (MVAR)
0.700 \0.750 0.800 0.850 0.900 0.950 1.% 1.050 1.100 1.150 110 Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~=—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~——P14  Plant (MVAR)
-625.000
-750.000
V [pu]
07-2024CA-ModMedNoct-sec_6001
Minimo Margen de
750.000 Reactivo-440.25MVAr
625.000
/
—— CASO BASE
500.000
——L1 Plant (MVAR)
——128  Plant (MVAR)
375.000 /
/// ——13 Plant(MVAR)
250,000 ——148  Plant (MVAR)
/// ——16 Plant (MVAR)
125.000 ——17 Plant (MVAR)
W ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . . ——19 Plant (MVAR)
0.7%\0750 0.800 0.850 0.900 0.950 11% 1.050 1.100 1.150 110 Plant (MVAR)
-125.000 SN y ——5ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~=—P1 Plant (MVAR)
~——P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~——P14  Plant (MVAR)
-625.000
-750.000

V [pu]




07-2024CA-ModMedNoct-sec_6002

Minimo Margen de

750.000 Reactivo:-378.95MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
/ ——12B  Plant (MVAR)
375.000 .
// ——13 Plant (MVAR)
250,000 ; ——148  Plant (MVAR)
// ——L6 Plant (MVAR)
125.000 ——L7 Plant(MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.0% 1.050 1.100 1.150 110 Plant (MVAR)
-125.000 - ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~=—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~——P14  Plant (MVAR)
-625.000
-750.000
V [pu]
07-2024CA-ModMedNoct-sec_6003
Minimo Margen de
750.000 Reactivo-437.77MVAr
625.000
/ CASO BASE
500.000
——L1 Plant (MVAR)
/ ~—~— 128 Plant (MVAR)
375.000
/// ——13 Plant (MVAR)
250.000 —— 4B Plant (MVAR)
f/ ——16 Plant (MVAR)
125.000 ——17 Plant (MVAR)
V ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . . ——19 Plant (MVAR)
0.70%750 0.800 0.850 0.900 0.950 1.00 1.050 1.100 1150 110 Plant (MVAR)
-125.000 s ——5ST1  Plant (MVAR)
// ——ST2  Plant (MVAR)
-250.000 ~=—P1 Plant (MVAR)
~——P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~——P14  Plant (MVAR)
-625.000
-750.000

V [pu]




07-2024CA-ModMedNoct-sec_6004

Minimo Margen de

750.000 Reactivo-364.93MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000 -
/ ——13 Plant (MVAR)
250,000 —— 148  Plant (MVAR)
/ ——16 Plant (MVAR)
125.000 ——L7 Plant(MVAR)
/ ——18 Plant(MVAR)
Q[MVAr]  0.000 . . . . . . . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 % 1.050 1.100 1.150 110 Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~=—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~——P14  Plant (MVAR)
-625.000
-750.000
V [pu]
07-2024CA-ModMedNoct-sec_6005
Minimo Margen de
750.000 Reactivo-480.03MVAr
625.000
—— CASO BASE
500.000 #
——11 Plant(MVAR)
/ ——128  Plant (MVAR)
375.000
/ ——13 Plant (MVAR)
250,000 —— 148  Plant (MVAR)
// ——16 Plant (MVAR)
125.000 ——17 Plant (MVAR)
/ ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . . ——19 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 110 Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~=—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~——P14  Plant (MVAR)
-625.000
-750.000

V [pu]




07-2024CA-ModMedNoct-sec_6008

Minimo Margen de

750.000 Reactivo:-645.06MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——12B  Plant (MVAR)
375.000
—+—L3 Plant(MVAR)
250000 ——14B  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——L7 Plant(MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . . ~—~—19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 : ——ST1 Plant (MVAR)
1
f ——ST2  Plant (MVAR)
-250.000 ~=—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
——P14 Plant (MVAR)
-625.000
-750.000
V [pu]
07-2024CA-ModMedNoct-sec_6009
Minimo Margen de
750.000 Reactivo-534.86MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——12B  Plant (MVAR)
375.000
——13 Plant (MVAR)
250000 ——14B  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——1L7 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . : . . ~—~—19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 Lo%’wso 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~=—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
——P14 Plant (MVAR)
-625.000
-750.000

V [pu]




07-2024CA-ModMedNoct-sec_6018 e
Inimo IViargen de

750.000 Reactivo:-377.23MVAr

625.000

—— CASO BASE

500.000
——11 Plant (MVAR)

/ ——L2B  Plant (MVAR)
375.000
// ——13 Plant (MVAR)
250.000 y ——L4B  Plant (MVAR)
// ——16 Plant (MVAR)
—— L7 Plant(MVAR)

125.000
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.0% 1.050 1.100 1.150 110 Plant (MVAR)
125.000 - ———ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~=—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~——P14  Plant (MVAR)
-625.000
-750.000
V [pu]
07-2024CA-ModMedNoct-sec_6173
Minimo Margen de
750.000 Reactivo-245.07MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——128  Plant (MVAR)
375.000
——13  Plant (MVAR)
250,000 ——148  Plant (MVAR)
——16 Plant (MVAR)
125.000 Pt ——17 Plant (MVAR)
/ ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 000 1.050 1.100 1150 110 Plant (MVAR)
-125.000 ——5ST1  Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 - = ~=—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~——P14  Plant (MVAR)
-625.000
-750.000

V [pu]




07-2024CA-ModMedNoct-sec_6182 e e
Inimo IViargen de

750.000 Reactivo:-741.7MVAr

625.000

—— CASO BASE

500.000
——11 Plant (MVAR)

/ ——12B  Plant (MVAR)

375.000
//// ——13 Plant (MVAR)
250.000 4 ——L4B  Plant (MVAR)

/%/ ——16 Plant (MVAR)

125.000 ——L7 Plant(MVAR)

/y ——18 Plant (MVAR)

Q[MVAr]  0.000 . . . . . . . . , ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 110  Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)

——ST2  Plant (MVAR)

-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~—~—P14 Plant (MVAR)
-625.000
-750.000
V [pu]
07-2024CA-ModMedNoct-sec_6840
Minimo Margen de
750.000 Reactivo:-447.49MVAr
625.000

/ —— CASO BASE
500.000
——11 Plant (MVAR)
/ ——128  Plant (MVAR)
375.000
/// ——13 Plant (MVAR)
250.000 ——L4B Plant (MVAR)
/// ——16 Plant (MVAR)
125.000 ——17 Plant(MVAR)
W ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . , ~—~—19 Plant (MVAR)
0.70(&750 0.800 0.850 0.900 0.950 1.00 1.050 1.100 1.150 L10  Plant (MVAR)

NS

-125.000 - ——ST1 Plant (MVAR)

——ST2  Plant (MVAR)

-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)

-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)

-500.000 ——P7 Plant (MVAR)

P14 Plant(MVAR)
-625.000
-750.000

V [pu]




07-2024CA-ModMin-sec_6001

Minimo Margen de

750.000 Reactivo=506.1MVAr
625.000
500.000 / —— CASO BASE
///; ——11 Plant (MVAR)
375.000 7 ——128  Plant (MVAR)
/ ——13 Plant (MVAR)
250.000 / ——14B  Plant (MVAR)
——16 Plant (MVAR)
/.
125.000 ——L7 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . — . . . 15 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1150 ant { )
L10  Plant (MVAR)
-125.000
/// ——ST1  Plant (MVAR)
250,000 \ Vi ——5T2  Plant (MVAR)
/ P1  Plant (MVAR)
375,000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
07-2024CA-ModMin-sec_6001
Minimo Margen de
750.000 Reactivo=506.1MVAr
625.000
500.000 / —— CASO BASE
/ﬁ ——11 Plant (MVAR)
375.000 7 ——128  Plant (MVAR)
/// ~——13  Plant (MVAR)
250.000 / ——14B  Plant (MVAR)
——16 Plant (MVAR)
.
125.000 ——L7 Plant(MVAR)
——18 Plant(MVAR)
Q[MVAr]  0.000 . . . . . — . . . 15 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1150 ant ( )
110  Plant (MVAR)
-125.000 /
// ——ST1  Plant (MVAR)
250,000 \ Vi ——5T2  Plant (MVAR)
// P1  Plant (MVAR)
375,000 ’ P3  Plant (MVAR)
/ PS  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14  Plant (MVAR)
-625.000
-750.000

V [pu]




07-2024CA-ModMin-sec_6001

Minimo Margen de

750.000 Reactivo:-506.1IMVAr
625.000
500.000 7 —— CASO BASE
/f// ——11 Plant (MVAR)
375.000 / —+—1L12B Plant (MVAR)
Vi ——13 Plant (MVAR)

250.000 ——14B  Plant (MVAR)
/// ——16 Plant (MVAR)

125.000 / —~—L7 Plant(MVAR)
/// ——18 Plant (MVAR)

Q[MVAr]  0.000 . . . . . — . . . 15 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 ant ( )
L10  Plant (MVAR)

-125.000
/ ——5ST1 Plant (MVAR)
\ i ——5T2  Plant (MVAR)

-250.000
P1  Plant (MVAR)
-375.000 ‘k P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14 Plant (MVAR)
-625.000
-750.000
V [pu]
07-2024CA-ModMin-sec_6001
Minimo Margen de
750.000 Reactivo:-506.1MVAr
625.000

500.000 / —— CASO BASE
/ ——11 Plant (MVAR)
375.000 7 z ——12B  Plant (MVAR)
/// ——1L3 Plant(MVAR)
250.000 4 —— 148 Plant (MVAR)
/// ——16 Plant (MVAR)
D / ——17 Plant (MVAR)
/// ——18 Plant (MVAR)
Q[MvaAr] - 0.000 ' ' ' ' ' .y ' ' L9 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.00% 1.050 1.100 1150

L10  Plant (MVAR)

-125.000
/ ——5ST1 Plant (MVAR)
\ i ——5T2  Plant (MVAR)

-250.000
P1  Plant (MVAR)
-375.000 - P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14 Plant (MVAR)
-625.000
-750.000

V [pu]




07-2024CA-ModMin-sec_6002

Minimo Margen de

750.000 Reactivo:-448.21MVAr
625.000
500.000 —— CASO BASE
——1L1 Plant(MVAR)
375.000 Z ~—~—12B  Plant (MVAR)
~——13 Plant (MVAR)
250.000 ——L4B  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 T T T T " 7 ' ' X ~~—19 Plant(MVAR]
0.700 0.750 0.800 0.850 0.900 0.950 1.000/ 1.050 1.100 1.150 ant( )
/ L10  Plant (MVAR)
-125.000
/ ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000
/ P1  Plant (MVAR)
375,000 P3  Plant (MVAR)
/ PS5 Plant (MVAR)
-500.000 = P7  Plant (MVAR)
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
07-2024CA-ModMin-sec_6003
Minimo Margen de
750.000 Reactivo:-500.75MVAr
625.000
500.000 —— CASO BASE
/{/ ——11 Plant (MVAR)
375.000 ~—~—12B  Plant (MVAR)
// ——13  Plant (MVAR)
250.000 / ——14B  Plant (MVAR)
/ ——16 Plant (MVAR)
125.000 | ——1L7 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 T T " " ' iy ' ' : —~—19 Plant(MVAR]
0.700 0.750 0.800 0.850 0.900 0.950 1.000 //  1.050 1.100 1.150 ant( )
L10  Plant (MVAR)
-125.000
/ ——ST1 Plant (MVAR)
' ——ST2 Plant (MVAR)
-250.000
P1 Plant (MVAR)
375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14  Plant (MVAR)
-625.000
-750.000

V [pu]




07-2024CA-ModMin-sec_6004

Minimo Margen de

750.000 Reactivo:-425.08MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 ——1L2B  Plant (MVAR)
/ ~——13 Plant(MVAR)
250.000 ——1L4B  Plant (MVAR)
%
——16 Plant (MVAR)
125.000 ) ——L7 Plant (MVAR)
) ——18 Plant (MVAR)
Q[MVAr]  0.000 T T " " ' 7 ' ' X ~—~—19 Plant(MVAR]
0.700 0.750 0.800 0.850 0.900 0.950 1.0007 1.050 1100 1.150 ant{ )
110 Plant (MVAR)
-125.000 .
——5ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000
P1  Plant (MVAR)
375000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
07-2024CA-ModMin-sec_6005
Minimo Margen de
750.000 Reactivo:-540.28MVAr
625.000
500.000 —— CASO BASE
——1L1 Plant (MVAR)
375.000 ——1L2B  Plant (MVAR)
——13 Plant (MVAR)
250.000 ——14B  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——17 Plant (MVAR)
——18 Plant (MVAR)
Q [MVAr] 0.000 T T T T T T / T T 1 9 pl MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 / 1.050 1.100 1.150 ant( )
110  Plant (MVAR)
-125.000
——ST1  Plant (MVAR)
——5T2  Plant (MVAR)
-250.000
P1 Plant (MVAR)
375,000 P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 P7  Plant (MVAR)
P14  Plant (MVAR)
-625.000
-750.000

V [pu]




07-2024CA-ModMin-sec_6008

Minimo Margen de

750.000 Reactivo:-677.02MVAr
625.000
500.000 - —— CASO BASE
/ ——1L1 Plant(MVAR)
375.000 ——L2B  Plant (MVAR)
/// ~——13 Plant(MVAR)
250.000 / ——L14B  Plant (MVAR)
// ——16 Plant (MVAR)
125.000 / ——L7 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 T T T T " " [N ' X ~~—19 Plant(MVAR]
0.700 0.750 0.800 0.850 0.900 0.950 1.000 " 1.050 1.100 1.150 ant( )
/ L10  Plant (MVAR)
-125.000
——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000
P1  Plant (MVAR)
375,000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
07-2024CA-ModMin-sec_6009
Minimo Margen de
750.000 Reactivo:-563.22MVAr
625.000
500.000 —— CASO BASE
——L1 Plant(MVAR)
375.000 —— 128 Plant (MVAR)
——13 Plant (MVAR)
250.000 7 ——14B  Plant (MVAR)
/ ——16 Plant (MVAR)
125.000 / ——L7 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 : T T T T T 7 T " 19 Plant(MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 ant( )
L10  Plant (MVAR)
-125.000
——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000
P1 Plant (MVAR)
375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14  Plant (MVAR)
-625.000
-750.000

V [pu]




07-2024CA-ModMin-sec_6018

Minimo Margen de

750.000 Reactivo:-446.67MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 7 ——12B  Plant (MVAR)
// 13 Plant (MVAR)
250.000 ——L14B  Plant (MVAR)
——16 Plant (MVAR)
125.000 / ——L7 Plant (MVAR)
/ ——18 Plant(MVAR)
Q[MVAr]  0.000 T T T T " " ' X ~~—19 Plant(MVAR]
0.700 0.750 0.800 0.850 0.900 0.950 1.00 / 1.050 1.100 1.150 ant( )
/ L10  Plant (MVAR)
-125.000
——ST1 Plant (MVAR)
~—=—ST2  Plant (MVAR)
-250.000
P1  Plant (MVAR)
375,000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P14  Plant (MVAR)
-625.000
-750.000
V [pu]
07-2024CA-ModMin-sec_6173
Minimo Margen de
750.000 Reactivo:-277.45MVAr
625.000
500.000 —— CASO BASE
——1L1 Plant(MVAR)
375.000 ——12B  Plant (MVAR)
——13 Plant(MVAR)
250.000 ——14B  Plant (MVAR)
. o ——16 Plant (MVAR)
- ——17 Plant (MVAR)
——18 Plant(MVAR)
Q[MVAr]  0.000 T T T T T —=* T 1 L9 Plant(MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1000 1.050 1.100 1.150 ant( )
— L10  Plant (MVAR)
-125.000 —
——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000
P1 Plant (MVAR)
375,000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7 Plant (MVAR)
P14  Plant (MVAR)
-625.000
-750.000

V [pu]




07-2024CA-ModMin-sec_6182

Minimo Margen de

750.000 Reactivo:-793.22MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 ~—~—12B  Plant (MVAR)
/ 13 Plant(MVAR)
250.000 7, ——1L4B  Plant (MVAR)
Y ——16 Plant(MVAR)
125.000 ——17 Plant (MVAR)
/ ——18 Plant (MVAR)
Q[MVAr]  0.000 T T T T " " ' ' ! ~~—19 Plant(MVAR]
0.700 0.750 0.800 0.850 0.900 0.950 1000 /" 1050 1.100 1.150 ant( )
L10  Plant (MVAR)
-125.000
——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 /
// P1  Plant (MVAR)
375000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
/ P14  Plant (MVAR)
-625.000 //7
-750.000 ~—— \ A
V [pu]
07-2024CA-ModMin-sec_6840
Minimo Margen de
750.000 Reactivo:-511.43MVAr
625.000
500.000 / —— CASO BASE
) ——11 Plant(MVAR)
375.000 f ——— 128 Plant (MVAR)
/ —~—13 Plant(MVAR)
V7
250.000 / ——14B  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——17 Plant (MVAR)
—~—18 Plant(MVAR)
Q [MVAr] 0.000 T T T T T T / T T 1 9 pl MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 ant( )
/ 110  Plant (MVAR)
-125.000
// ——ST1  Plant (MVAR)
~—~—ST2  Plant (MVAR
-250.000 / ant( )
// P1 Plant (MVAR)
375.000 v/ P3  Plant (MVAR)
4 PS5 Plant (MVAR)
4
500,000 P7  Plant (MVAR)
_"// P14  Plant (MVAR)
-625.000
-750.000

V [pu]




08-2024CA-ModMax-lluv_6001

Minimo Margen de

750.000 Reactivo=92.39MVAr
625.000
\ \ —— CASO BASE
500.000
——11 Plant(MVAR)
\ ——12B  Plant (MVAR)
375.000 4
ﬁ ——13 Plant (MVAR)
250,000 ——14B  Plant (MVAR)
W\ —— 16 Plant(MVAR)
125.000 /’*”\ ——17 Plant(MVAR)
/// 18 Plant(MVAR)
Q[MVAr]  0.000 . . . , ——L9 Plant (MVAR)
0.700 0.750 0.800 1.050 1.100 1.150 10 Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P14 Plant(MVAR)
-625.000
-750.000
V [pu]
08-2024CA-ModMax-lluv_6002
Minimo Margen de
750.000 Reactivo-80.87MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——12B  Plant (MVAR)
375.000
/% 13 Plant (MVAR)
250,000 ——14B  Plant (MVAR)
W ——L16 Plant (MVAR)
125.000 ——17 Plant(MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . ——19 Plant (MVAR)
0.7 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2 Plant(MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~~—P14 Plant(MVAR)
-625.000
-750.000

V [pu]




08-2024CA-ModMax-lluv_6003

Minimo Margen de

750.000 Reactivo:-95.51MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——12B  Plant (MVAR)
375.000
——13 Plant (MVAR)
250,000 ——14B  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——17 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr] 0.000 T T T ) ——L9 Plant(MVAR)
0.700 0.750 0.800 1.050 1.100 1.150 110 Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
~—=—ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P14 Plant(MVAR)
-625.000
-750.000
V [pu]
08-2024CA-ModMax-lluv_6004
Minimo Margen de
750.000 Reactivo:-83.65MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——12B Plant (MVAR)
375.000
——13 Plant (MVAR)
250.000 A ——L4B  Plant (MVAR)
/V ——16 Plant(MVAR)
125.000 \ &\\ ——17 Plant (MVAR)
\k\\\\ ——18 Plant (MVAR)
Q[MVAr]  0.000 - r : r . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 \% 1.100 1.150 10 Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
——ST2 Plant(MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P14 Plant(MVAR)
-625.000
-750.000

V [pu]




08-2024CA-ModMax-lluv_6005

Minimo Margen de

750.000 Reactivo=97.47MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——12B  Plant (MVAR)
375.000
////‘“‘ ~——13 Plant(MVAR)
250,000 ——14B  Plant (MVAR)
W/\ ——16 Plant(MVAR)
125.000 ——17 Plant (MVAR)
——18 Plant (MVAR)
Q [MVAr] 0.000 T T T T Y ——1L19 Plant(MVAR)
0.700 0.750 0.800 1.050 1.100 1.150 110 Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
~—=—ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P14 Plant(MVAR)
-625.000
-750.000
V [pu]
08-2024CA-ModMax-lluv_6008
Minimo Margen de
750.000 Reactivo-166.47MVAr
625.000 /
/ —— CASO BASE
500.000
——11 Plant (MVAR)
——12B Plant (MVAR)
375.000
///K ——13 Plant (MVAR)
250,000 A ——14B  Plant (MVAR)
%/ \\ ——16 Plant (MVAR)
125.000 \ ——17 Plant (MVAR)
I/ —~—18 Plant(MVAR)
Q[MVAr]  0.000 " : : : : : . . \ ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.050 1.100 1.150 10 Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
——ST2 Plant(MVAR)
-250.000 % ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P14 Plant(MVAR)
-625.000
-750.000

V [pu]




08-2024CA-ModMax-lluv_6009

Minimo Margen de

750.000 Reactivo:-170.27MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——13 Plant (MVAR)
250,000 ——14B  Plant (MVAR)
——16 Plant(MVAR)
125.000 ——17 Plant(MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 : . . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 1.150 10 Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 e ~—=—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P14 Plant(MVAR)
-625.000
-750.000
V [pu]
08-2024CA-ModMax-lluv_6018
Minimo Margen de
750.000 Reactivo:-80.85MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——12B  Plant (MVAR)
375.000
\\ %{ ——13 Plant (MVAR)
550,000 LA\ ——14B  Plant (MVAR)
N W ——16 Plant (MVAR)
125.000 \ /F‘ ——17 Plant(MVAR)
"\ % ——18 Plant (MVAR)
Q[MVAr] 0000 . . . . . . ~—~—19 Plant (MVAR)
0.700 0.750 0.800 0.850 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2 Plant(MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~~—P14 Plant(MVAR)
-625.000
-750.000

V [pu]




08-2024CA-ModMax-lluv_6173

Minimo Margen de

750.000 Reactivo=67.67MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
—~—13 Plant(MVAR)
250,000 ——14B  Plant (MVAR)
——16 Plant(MVAR)
125.000 e ——17 Plant (MVAR)
/ —— 18 Plant (MVAR)
Q [MVAr] 0.000 T T - T T Y ——1L19 Plant(MVAR)
0.700 0.750 0.800 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P14 Plant(MVAR)
-625.000
-750.000
V [pu]
08-2024CA-ModMax-lluv_6182
Minimo Margen de
750.000 Reactivo:525.49MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
—~—13 Plant(MVAR)
250.000 ——14B  Plant (MVAR)
——16 Plant(MVAR)
125.000 ——17 Plant(MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 : . . . . . . . ~—~—19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 0 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2 Plant(MVAR)
-250.000 \.-j/ ~——P1 Plant (MVAR)
/ P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
——
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~~—P14 Plant(MVAR)
-625.000
-750.000

V [pu]




08-2024CA-ModMax-lluv_6840

Minimo Margen de

750.000 Reactivo:-91.56MVAr
625.000 4
\\ —— CASO BASE
500.000
\\ ——1L1 Plant (MVAR)
;
\ —— 128  Plant (MVAR
375.000 A ( )
% —~—13 Plant(MVAR)
250,000 ——14B  Plant (MVAR)
%\ ——16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
J/ ———18  Plant (MVAR)
Q[MVAr]  0.000 . . . . . ——19 Plant (MVAR)
0.700 0.750 0.800 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P14 Plant (MVAR)
-625.000
-750.000
V [pu]
08-2024CA-ModMed-lluv_6001
Minimo Margen de
750.000 Reactivo:-103.33MVAr
625.000
500.000 —— CASO BASE
——L1 Plant (MVAR)
375.000 -~ ——L12B  Plant (MVAR)
\\\ X P ——13 Plant (MVAR)
. o
250.000 \ - e ——148  Plant (MVAR)
. \ / ——16 Plant (MVAR)
125.000 \ — ——L7 Plant (MVAR)
\ ~—~—L8 Plant (MVAR)
Q[MVAr]  0.000 - - : T T T T : Lo Plant (MVAR
0.700 0.750 0.800 0.850 X 0.950 1. 1.050 1.100 1.150 ant( )
/‘ L10 Plant (MVAR)
-125.000 e
w ——ST1  Plant (MVAR)
=
——ST2  Plant (MVAR)
-250.000
P1 Plant (MVAR)
375,000 P2 Plant (MVAR)
P3  Plant (MVAR)
500,000 PS  Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000

V [pu]




08-2024CA-ModMed-lluv_6002

Minimo Margen de

750.000 Reactivo:-94.93MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 ——12B Plant (MVAR)
——L3 Plant(MVAR)
P Y
250.000 — R
’/ﬁ’ 4B Plant (MVAR)
/ ——16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
—~—18 Plant (MVAR)
Q[MVAr]  0.000 - . .
0900 0.750 1100 1150 L9 Plant (MVAR)
L10  Plant (MVAR)
-125.000
——ST1 Plant (MVAR)
~—=—ST2  Plant (MVAR)
-250.000
P1 Plant (MVAR)
375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
08-2024CA-ModMed-lluv_6003
Minimo Margen de
750.000 Reactivo:-106.57MVAr
625.000
500.000 —— CASO BASE
——L1 Plant(MVAR)
375.000 ——12B Plant (MVAR)

——1L3 Plant(MVAR)

250.000 § /}}ﬁ ——14B  Plant (MVAR)
\& / ——L6 Plant (MVAR)
\

125.000 - ——1L7 Plant(MVAR)
\ ~——18 Plant (MVAR)

MVA 0.000 . . ] . . .
Q[MvAr] —~—19 Plant (MVAR)

0.700 0.750 0.800 0.850 1.050 1.100 1.150
110  Plant (MVAR)
-125.000
——ST1  Plant (MVAR)
——ST2 Plant (MVAR)
-250.000
P1  Plant (MVAR)
-375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000

V [pu]




08-2024CA-ModMed-lluv_6004

Minimo Margen de

750.000 Reactivo:-96.2MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 ~—~—128 Plant (MVAR)
~——13  Plant(MVAR)
250.000 = |
= —— 148 Plant (MVAR)
——16 Plant (MVAR)
125.000 ——17 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 T T ' X ~——19 Plant (MVAR
0.700 0.750 0.800 1.100 1.150 ant (MVAR)
110 Plant (MVAR)
-125.000
——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000
P1  Plant (MVAR)
375,000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
08-2024CA-ModMed-lluv_6005
Minimo Margen de
750.000 Reactivo:-107.17MVAr
625.000
500.000 At —— CASO BASE
\\N ——1L1 Plant(MVAR)
375.000 : \ ~—~—128 Plant (MVAR)
N — ~—~—13  Plant(MVAR)
250.000 ——14B  Plant (MVAR)
\ \ ——L6 Plant (MVAR)
125.000 \ \ ///"’ ——L7 Plant(MVAR)
—~—18 Plant(MVAR)
Q[MVAr]  0.000 T T " N ' ' / ' ' ! ~—~—19 Plant (MVAR
0.700 0.750 0.800 0.850 M 1.050 1.100 1.150 ant ( )
: 110  Plant (MVAR)
-125.000 \\ ::—\v-%/
@ ——STL  Plant (MVAR)
—~—ST2  Plant (MVAR)
-250.000
P1 Plant (MVAR)
375,000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000

V [pu]




08-2024CA-ModMed-lluv_6008

Minimo Margen de

750.000 Reactivo:-172.72MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 ——128  Plant (MVAR)
~——13  Plant(MVAR)
250.000 ——L4B  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——17 Plant (MVAR)
——18 Plant(MVAR)
Q[MVAr]  0.000 T T T T " A ' ' X ~~—19 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000/ 1.050 1.100 1.150 ant ( )
y 110 Plant (MVAR)
-125.000 %
Azé/ ——ST1  Plant (MVAR)
N /
/ ——ST2  Plant (MVAR|
-250.000 l&"v ant (MVAR)
&i/ P1  Plant (MVAR)
375000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
08-2024CA-ModMed-lluv_6009
Minimo Margen de
750.000 Reactivo:-174.02MVAr
625.000
500.000 —— CASO BASE
——1L1 Plant(MVAR)
375.000 ——128  Plant (MVAR)
/// ——13 Plant (MVAR)
250.000 / ——148  Plant (MVAR)
’//% ——16 Plant (MVAR)
125.000 7 \ ——17 Plant (MVAR)
—~—18 Plant(MVAR)
Q[MVAr]  0.000 : - T T T T " Lo Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.100 1.150 ant ( )
110  Plant (MVAR)
-125.000
——ST1  Plant (MVAR)
—~—ST2  Plant (MVAR)
-250.000
P1 Plant (MVAR)
375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
500,000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000

V [pu]




08-2024CA-ModMed-lluv_6018

Minimo Margen de

750.000 Reactivo:-94.68MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 ——12B  Plant (MVAR)
~———13  Plant (MVAR)
-
250.000 —— .
e~ L4B  Plant (MVAR)
Y ——L6 Plant (MVAR)
125.000 — ——L7 Plant(MVAR)
//\ ——18 Plant (MVAR)
Q[MVAr] 0000 1 ' ) X L9 Plant (MVAR
0700 0.750 00 1.050 1.100 1.150 ant (MVAR)
110  Plant (MVAR)
-125.000
——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000
P1  Plant (MVAR)
375,000 P2 Plant (MVAR)
P3  Plant (MVAR)
500,000 P5  Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
08-2024CA-ModMed-lluv_6173
Minimo Margen de
750.000 Reactivo:-80.96MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 ——12B  Plant (MVAR)
——13  Plant (MVAR)
250.000 ——L4B  Plant (MVAR)
- ——16 Plant (MVAR)
125.000 P ——17 Plant (MVAR)
Pt 18 Plant (MVAR)
Q[MVAr]  0.000 T T " ! ' - ' ' ! ~—~—19 Plant (MVAR
0.700 0.750 0.800 O-SSO\MLOOO 1.050 1.100 1.150 ant( )
= L10  Plant (MVAR)
-125.000 A\ \g\\\_s,ﬁg:,_:;———*’
——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000
P1 Plant (MVAR)
275,000 P2 Plant (MVAR)
P3  Plant (MVAR)
500,000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000

V [pu]




08-2024CA-ModMed-lluv_6182

Minimo Margen de

750.000 Reactivo:-309.08MVAr
625.000
500.000 —— CASO BASE
——L1 Plant (MVAR)
375.000 ——128  Plant (MVAR)
——13 Plant (MVAR)
250.000 ——L4B  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——17 Plant(MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . Lo Plant(MVAR
0.700 0.750 0.800 0.850 0.900 1.150 ant( )
110  Plant (MVAR)
-125.000
——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000
P1  Plant (MVAR)
375000 g P2 Plant (MVAR)
\/ P3  Plant (MVAR)
-500.000 P5  Plant (MVAR)
P7 Plant (MVAR)
-625.000
-750.000
V [pu]
08-2024CA-ModMed-lluv_6840
Minimo Margen de
750.000 Reactivo:-104.06MVAr
625.000
500.000 —— CASO BASE
——L1 Plant (MVAR)
375.000 A\ —— 128 Plant (MVAR)
\\\ \ ——13 Plant (MVAR)
At
250.000 \ ——14B  Plant (MVAR)
——16 Plant (MVAR)
125.000 \ ——L7 Plant (MVAR)
\\ ——18 Plant (MVAR)
Q[MVAr]  0.000 . 3 X . . .
0700 0.750 0.800 0.850 1.050 1.100 1.150 L9 Plant (MVAR)
110  Plant (MVAR)
-125.000
——sT1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000
P1 Plant (MVAR)
375,000 P2 Plant (MVAR)
P3  Plant (MVAR)
500,000 PS  Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000

V [pu]




08-2024CA-ModMedNoct-lluv_6001

Minimo Margen de

750.000 Reactivo:-146.28MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
——13 Plant (MVAR)
250,000 —— 4B Plant (MVAR)
——L16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr] 0000 . ——19 Plant (MVAR)
0.700 0.750 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~——P14 Plant(MVAR)
-625.000
-750.000
V [pu]
08-2024CA-ModMedNoct-lluv_6002
Minimo Margen de
750.000 Reactivo:-132.71IMVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
——13 Plant (MVAR)
250,000 ﬁ; ——14B  Plant (MVAR)
\\ ——16 Plant (MVAR)
125.000 AN ——L7 Plant (MVAR)
\& ——18 Plant (MVAR)
Q[MVAr]  0.000 - r . . ——19 Plant (MVAR)
0.700 0.750 0.800 1.100 1.150 110 Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2 Plant(MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
——P14 Plant (MVAR)
-625.000
-750.000

V [pu]




08-2024CA-ModMedNoct-lluv_6003

Minimo Margen de

750.000 Reactivo:-150.37MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——13 Plant (MVAR)
250,000 ——14B  Plant (MVAR)
——16 Plant(MVAR)
125.000 ——17 Plant(MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 : . . . ——19 Plant (MVAR)
0.700 0.750 0.800 1.100 1.150 110 Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P14 Plant(MVAR)
-625.000
-750.000
V [pu]
08-2024CA-ModMedNoct-lluv_6004
Minimo Margen de
750.000 Reactivo:-136.32MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——12B  Plant (MVAR)
375.000
—~—13 Plant(MVAR)
550,000 ——14B  Plant (MVAR)
——16 Plant(MVAR)
125.000 7z ———17 Plant(MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . N\ . . ——19 Plant(MVAR)
0.700 0.750 0.800 0. 1.100 1.150 10 Plant (MVAR)
-125.000 - ——ST1  Plant (MVAR)
——ST2 Plant(MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~~—P14 Plant(MVAR)
-625.000
-750.000

V [pu]




08-2024CA-ModMedNoct-lluv_6005

Minimo Margen de

750.000 Reactivo:-149.01IMVAr
625.000
\ —— CASO BASE
500.000
——11 Plant(MVAR)
A ——12B  Plant (MVAR)
375.000 5
\\\ - —~—13 Plant(MVAR)
250,000 \ .ﬁ ——14B  Plant (MVAR)
\ ——16 Plant(MVAR)
125.000 i ——L7 Plant (MVAR)
\\\\\x / ——18 Plant (MVAR)
Q[MVAr]  0.000 . . N\ . . ~——19 Plant (MVAR)
0.700 0.750 0.800 0.85\% 1.050 1.100 1.150 10 Plant (MVAR)
-125.000 N ——ST1  Plant (MVAR)
AN
——5T2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P14 Plant (MVAR)
-625.000
-750.000
V [pu]
08-2024CA-ModMedNoct-lluv_6008
Minimo Margen de
750.000 Reactivo:-213.68MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
= ——12B  Plant (MVAR)
375.000
—~—13 Plant(MVAR)
550,000 ——14B  Plant (MVAR)
——16 Plant(MVAR)
125.000 . ——17 Plant(MVAR)
——18 Plant (MVAR)
Q[MVAr] 0000 . . . . . . . ~—~—19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 o.éio 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 x ——ST1  Plant (MVAR)
\\ ——ST2 Plant(MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ~—~—P7 Plant (MVAR)
~~—P14 Plant(MVAR)
-625.000
-750.000

V [pu]




08-2024CA-ModMedNoct-lluv_6009

Minimo Margen de

750.000 Reactivo:-203.76MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
——13 Plant (MVAR)
250,000 —— 4B Plant (MVAR)
——L16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr] 0000 . . . . . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 1.050 1.100 1.150 10 Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
—— P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P14 Plant(MVAR)
-625.000
-750.000
V [pu]
08-2024CA-ModMedNoct-lluv_6018
Minimo Margen de
750.000 Reactivo:-132.68MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
——13 Plant (MVAR)
250.000 /ﬁ ——L4B  Plant (MVAR)
\\ \ ——16 Plant(MVAR)
125.000 A Saapit ——L7 Plant(MVAR)
\\&\ / ——18 Plant(MVAR)
Q[MVAr] 0000 N\ . . . . ——19 Plant (MVAR)
0.700 0.750 0.800 )\ /% 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2 Plant(MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
——P14 Plant (MVAR)
-625.000
-750.000

V [pu]




08-2024CA-ModMedNoct-lluv_6173

Minimo Margen de

750.000 Reactivo:-111.43MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
—~—13 Plant(MVAR)
250000 ——14B  Plant (MVAR)
——16 Plant(MVAR)
125.000 % ——L7 Plant (MVAR)
/ ——18  Plant (MVAR)
Q[MVAr]  0.000 : . . . . . . . —~—19 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.9 1.000 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 \L—- = ——ST1  Plant (MVAR)
N ——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P14 Plant(MVAR)
-625.000
-750.000
V [pu]
08-2024CA-ModMedNoct-lluv_6182
Minimo Margen de
750.000 Reactivo:-317.46MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
—~—13 Plant(MVAR)
250000 ——14B  Plant (MVAR)
——16 Plant(MVAR)
125.000 ——17 Plant(MVAR)
——18 Plant (MVAR)
QIMVA] 0000 . . . . . . . ~—~—19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.050 \ 1.100 1.150 L10  Plant (MVAR)
-125.000 - ——ST1  Plant (MVAR)
/ \ ——ST2 Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 M/ P3  Plant (MVAR)
—— P5  Plant (MVAR)
-500.000 * ——P7 Plant (MVAR)
~~—P14 Plant(MVAR)
-625.000
-750.000

V [pu]




08-2024CA-ModMedNoct-lluv_6840 i e
inimo Margen de

750.000 Reactivo:-147.67MVAr

625.000

—— CASO BASE

500.000
——1L1 Plant(MVAR)

\ ——12B  Plant (MVAR)
375.000

\\\ —~—13 Plant(MVAR)

\ . \ ﬁ% ——14B  Plant (MVAR)

250.000
\\\ / ——16 Plant(MVAR)
\\ ——17 Plant (MVAR)

125.000

——18 Plant (MVAR)

——L19 Plant(MVAR)

Q[MVAr]  0.000 . . \\\w . . . // . ,
0.700 0.750 0.800 o_s\N%o 10 1.050 1.100 1.150 L10  Plant{MVAR)
-125.000 R ——ST1 Plant(MVAR)

N % ——ST2  Plant (MVAR)

-250.000 ~—=—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)

P5 Plant (MVAR)

-500.000 ——P7 Plant (MVAR)
~~—P14 Plant(MVAR)

-625.000

-750.000

V [pu]
08-2024CA-ModMin-lluv_6001
Minimo Margen de

750.000 Reactivo:-84.7MVAr

625.000

500.000
—— CASO BASE
——L1 Plant(MVAR)

375.000

——L2B  Plant (MVAR)
——13  Plant (MVAR)

250.000 %
s E ——L4B  Plant (MVAR)
125.000 \\\\&\\ / ——16 Plant (MVAR)
\\\ /// ——17 Plant (MVAR)

Q[MVAr]  0.000 - r . . . ——18 Plant (MVAR)

0.700 0.750 0.800 1.050 1.100 1150 . g Plant (MVAR)

-125.000 L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ~—+—ST2 Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




08-2024CA-ModMin-lluv_6002

Minimo Margen de

750.000 Reactivo:-79.74MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
——128B  Plant (MVAR)
250,000 ——13 Plant (MVAR)
== ——L4B  Plant (MVAR)
125.000 ——16 Plant (MVAR)
/ ——L7 Plant(MVAR)
Q[MVAr]  0.000 - . . ——18 Plant (MVAR)
0.700 0.750 1.100 1150 |9 Plant(MVAR)
-125.000 L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
08-2024CA-ModMin-lluv_6003
Minimo Margen de
750.000 Reactivo:-84.14MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
——L2B  Plant (MVAR)
550,000 \ . ——13  Plant (MVAR)
\\\\\\\ / Z=== ——14B  Plant (MVAR)
125.000 : \ ——L6 Plant(MVAR)
\ // ——L7 Plant (MVAR)
Q[MVAr]  0.000 - r / . . . ——18 Plant (MVAR)
0.700 0.750 0.800 1.050 1.100 1150 . 9 plant(MVAR)
-125.000 L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




08-2024CA-ModMin-lluv_6004

Minimo Margen de

750.000 Reactivo:-77.99MVAr
625.000
500.000
—— CASO BASE
——11 Plant(MVAR)
375.000
~—~—128 Plant (MVAR)
250000 —~—13  Plant(MVAR)
/ —_ ——L4B  Plant (MVAR)
125.000 / - ——16 Plant (MVAR)
/ ——17 Plant(MVAR)
Q[MVAr]  0.000 : . . . —~—18 Plant (MVAR)
0.700 0.750 1.050 1.100 1150 |9 plant(MVAR)
-125.000 110  Plant (MVAR)
——ST1  Plant (MVAR)
-250.000 —~—ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
08-2024CA-ModMin-lluv_6005
Minimo Margen de
750.000 Reactivo:-89.17MVAr
625.000
500.000
—— CASO BASE
——11 Plant(MVAR)
375.000
\\\ —— 128 Plant (MVAR)
A —~—13 Plant(MVAR)
250.000 A =
\\\ /Zié = ——14B  Plant (MVAR)
125.000 \_ 4 ——16 Plant (MVAR)
\\\ % L7 Plant(MVAR)
Q[MVAr]  0.000 : . . . . —~—18 Plant (MVAR)
0.700 0.750 0.800 1.050 1.100 1150 |9 plant(MVAR)
-125.000 110  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




08-2024CA-ModMin-lluv_6008
Minimo Margen de

750.000 Reactivo:-141.13MVAr

625.000

500.000
—— CASO BASE

——L1 Plant (MVAR)

375.000
——128B  Plant (MVAR)

250.000 ——13 Plant (MVAR)
——L4B  Plant (MVAR)

125.000 ——16 Plant (MVAR)

——L7 Plant (MVAR)

. ——18 Plant (MVAR)

T

Q[MVAr]  0.000 . . .

0.700 0.750 0.800 0.850 1.050 1.100 1150 |9 plant(MVAR)
-125.000 L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]

08-2024CA-ModMin-lluv_6009
Minimo Margen de

750.000 Reactivo:-140.84MVAr

625.000

500.000

—— CASO BASE

——L1 Plant(MVAR)
375.000

——128  Plant (MVAR)
——13 Plant (MVAR)

250.000
——14B  Plant (MVAR)

——16 Plant (MVAR)

125.000
/\ ——L7 Plant (MVAR)
——18 Plant (MVAR)

Q[MVAr]  0.000 : r r r r r r ,

0.700 0.750 0.800 0.850 0.900 0.951\ 1.0067 1.050 1.100 1150 |9 plant(MVAR)
-125.000 L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 N ~—+—ST2 Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




08-2024CA-ModMin-lluv_6018

Minimo Margen de

750.000 Reactivo:-79.9MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
——128B  Plant (MVAR)
250,000 ——13 Plant (MVAR)
/-,f‘f ——L4B  Plant (MVAR)
125.000 ——16 Plant (MVAR)
/ ——L7 Plant (MVAR)
Q[MVAr]  0.000 : . . . ——18 Plant (MVAR)
0.700 0.750 1.050 1.100 1150 9 plant(MVAR)
-125.000 L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 —~—ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
08-2024CA-ModMin-lluv_6173
Minimo Margen de
750.000 Reactivo:-77.75MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
——L2B  Plant (MVAR)
550,000 ——13  Plant (MVAR)
——14B  Plant (MVAR)
125.000 — ——L6 Plant(MVAR)
_~ ——L7 Plant (MVAR)
_~
Q[MVAr]  0.000 : . = . . ——18 Plant (MVAR)
0.700 0.750 2000 1.050 1.100 1150 |9 plant(MVAR)
-125.000 L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




08-2024CA-ModMin-lluv_6182

Minimo Margen de

750.000 Reactivo:-206.42MVAr
625.000
A
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
——128B  Plant (MVAR)
250,000 ——13 Plant (MVAR)
——L4B  Plant (MVAR)
125.000 ——16 Plant (MVAR)
\ ——L7 Plant (MVAR)
Q[MVAr] 0000 . . . . \ . ——18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 1.100 1150 9 plant(MVAR)
-125.000 L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
08-2024CA-ModMin-lluv_6840
Minimo Margen de
750.000 Reactivo:-84.69MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
——L2B  Plant (MVAR)
550,000 ——13  Plant (MVAR)
=== ——14B  Plant (MVAR)
125.000 ——L6 Plant(MVAR)
//,,—-———-/ ——L7 Plant (MVAR)
Q[MVAr] 0000 . . . — . . . ——18 Plant (MVAR)
0.700 0.750 M}ﬁ 1.050 1.100 1150 |9 plant(MVAR)
-125.000 —
> L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




09-2025CA-ModMax-Sec_6001

Minimo Margen de

750.000 Reactivo:-114.51IMVAr
625.000
500.000 /
/ —— CASO BASE
7/ ——11 Plant(MVAR)
375.000
——L2B  Plant (MVAR)
250.000 ——1L13 Plant(MVAR)
——14B  Plant (MVAR)
125.000 ——L6 Plant (MVAR)

——17 Plant (MVAR)
T y ——1L8 Plant(MVAR)

Q[MVAr]  0.000 .

0.700 0.750 1.100 1150 19 Pplant(MVAR)
-125.000 L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
09-2025CA-ModMax-Sec_6002
Minimo Margen de
750.000 Reactivo:-97.41MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
——L2B  Plant (MVAR)
550,000 ——13  Plant (MVAR)
——14B  Plant (MVAR)
125.000 ——L6 Plant(MVAR)

——L7 Plant (MVAR)

T T y ——1L8 Plant(MVAR)

Q[MVAr]  0.000 - r r r .

0.700 0.750 0.80 0.900 1.050 1.100 1150 . L9  Plant (MVAR)
-125.000 - L10 Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ——ST2 Plant (MVAR)
P1 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7 Plant (MVAR)
-625.000
-750.000

V [pu]




09-2025CA-ModMax-Sec_6003

Minimo Margen de

750.000 Reactivo-114.06MVAr
625.000
//2
500.000
/ —— CASO BASE
/ ——L1 Plant(MVAR
375.000 ,»/ ¢ )
/ ——128B  Plant (MVAR)
250,000 —~—13  Plant(MVAR)
// ——L4B  Plant (MVAR)
125.000 ——16 Plant (MVAR)
% ——17 Plant(MVAR)
Q[MVAr]  0.000 : . . . . : . . . —~—18 Plant (MVAR)
0.700 0.750 0.800 850 0.900 0.950 1.0 1.050 1.100 1150 |9 plant(MVAR)
-125.000 110  Plant (MVAR)
——ST1  Plant (MVAR)
-250.000 —~—ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
09-2025CA-ModMax-Sec_6004
Minimo Margen de
750.000 Reactivo=97.6MVAr
625.000
500.000
—— CASO BASE
——11 Plant(MVAR)
375.000
/ ——128  Plant (MVAR)
250.000 —~— 13 Plant (MVAR)
——L4B  Plant (MVAR)
125.000 Z ——16 Plant(MVAR)
——1L7 Plant(MVAR)
Q[MVAr]  0.000 . . . . . —~—18 Plant (MVAR)
0.700 0.750 1.050 1.100 1150 . |9 plant(MVAR)
-125.000 - 110  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ~——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




09-2025CA-ModMax-Sec_6005

Minimo Margen de

750.000 Reactivo-132.65MVAr
625.000
500.000 /
—— CASO BASE
——L1 Plant (MVAR)
375.000
/7// ——12B  Plant (MVAR)
1
250,000 L3 Plant (MVAR)
// ——148  Plant (MVAR)
125.000 ——16 Plant (MVAR)
// ——L7 Plant(MVAR)
Q[MVAr]  0.000 . . . . . . . . ——18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 % 1.050 1.100 1150 . |9 plant(MVAR)
74
-125.000 - L10 Plant (MVAR)
——sT1  Plant (MVAR)
-250.000 ~——ST2 Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
09-2025CA-ModMax-Sec_6008
Minimo Margen de
750.000 eactivo:-345.69MVAr
/A
625.000 /
500.000 //
/4 —— CASO BASE
——L1 Plant (MVAR)
375.000
// ——128  Plant (MVAR)
250,000 / ——13 Plant (MVAR)
// / ——148  Plant (MVAR)
125.000 / ——16 Plant (MVAR)
/,. ——L7 Plant (MVAR)
Q[MVAr]  0.000 . . . . . — . . ———18 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 / 1.050 1.100 1150 . g plant (MVAR)
-125.000 / 110  Plant (MVAR)
// ——ST1 Plant(MVAR)
-250.000 / ——5sT2  Plant (MVAR)
/ P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
. y 4 PS5  Plant (MVAR)
R /
500.000 \/’ P7  Plant (MVAR)
-625.000
-750.000

V [pu]




09-2025CA-ModMax-Sec_6009

Minimo Margen de

750.000 Reactivo-333.06MVAr
625.000
500.000
—— CASO BASE
——L1 Plant (MVAR)
375.000
/ ~—~—128 Plant (MVAR)
250,000 : ——13 Plant (MVAR)
/ —— 4B Plant (MVAR)
125.000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . / . . . ——18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 uV/ 1.050 1.100 1150 |9 plant(MVAR]
-125.000 7 110  Plant (MVAR)
/ ——ST1  Plant (MVAR)
. 4
-250.000 ——ST2  Plant (MVAR)
/ P1  Plant (MVAR)
-375.000 \/ P3  Plant (MVAR)
> PS5 Plant (MVAR)
-500.000 N P7  Plant (MVAR)
-625.000
-750.000
V [pu]
09-2025CA-ModMax-Sec_6018
Minimo Margen de
750.000 Reactivo=97.03MVAr
625.000
500.000
—— CASO BASE
/. ——L1 Plant (MVAR)
375.000 -
/ ——128  Plant (MVAR)
250,000 > ——13 Plant (MVAR)
——148  Plant (MVAR)
125.000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
Q[MVAr] 0.000 T T T T Y ——1L8 Plant(MVAR)
0.700 0.750 1.050 1.100 1150 . g plant (MVAR)
-125.000 - 110  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ~——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




09-2025CA-ModMax-Sec_6173

Minimo Margen de

750.000 Reactivo=75.59MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
——12B Plant (MVAR)
250,000 ——13 Plant (MVAR)
——14B  Plant (MVAR)
125.000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
Q[MVAr]  0.000 " : : . . . ——18 Plant(MVAR)
0.7 0.850 1.050 1.100 1150 |9 plant(MVAR)
-125.000 L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ~——ST2 Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
09-2025CA-ModMax-Sec_6182
Minimo Margen de
750.000 Reactivo-525.85MVAr
625.000
500.000 /
/// —— CASO BASE
——L1 Plant(MVAR
375.000 A ( )
// ——128  Plant (MVAR)
iy ——
250,000 / L3 Plant (MVAR)
/ ——14B  Plant (MVAR)
125.000 ——16 Plant (MVAR)
/ ——17 Plant (MVAR)
Q[MVAr]  0.000 " : : : : r . . . ——18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000/ 1.050 1.100 1150 . 9 plant(MVAR)
-125.000 L10  Plant (MVAR)
// ——ST1  Plant (MVAR)
-250.000 ~——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000

-750.000




09-2025CA-ModMax-Sec_6840
Minimo Margen de

750.000 Reactivo:-116.75MVAr

500.000 /
/ —— CASO BASE
/. ——L1 Plant (MVAR)
375.000
// ——12B Plant (MVAR)
250.000 ] ——13 Plant (MVAR)
// ——14B  Plant (MVAR)
——16 Plant (MVAR)

125.000

625.000

——17 Plant (MVAR)
T T y ——1L8 Plant(MVAR)

Q[MVAr]  0.000 .

0.700 0.750 1.050 1.100 1150 g plant(MVAR)
-125.000 L10  Plant (MVAR)
= ——ST1 Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
09-2025CA-ModMed-Sec_6001
Minimo Margen de
750.000 Reactivo:-284.21MVAr
625.000
500.000
—— CASO BASE
/ ——L1 Plant(MVAR)
375.000

~——128 Plant (MVAR)
—~— 13 Plant (MVAR)

250.000 I /
/// ——14B  Plant (MVAR)
125.000 / ——L6 Plant(MVAR)
) ——17 Plant (MVAR)

Q[MVAr]  0.000 : . r r r . . . ——18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 y/j/ 1.050 1.100 1.150 L9 Plant (MVAR)
2

-125.000 \

L1

S)

Plant (MVAR)
——ST1 Plant (MVAR)

-250.000 ~—+—ST2 Plant (MVAR)
P1  Plant (MVAR)

-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)

-500.000 P7  Plant (MVAR)

-625.000

-750.000

V [pu]




09-2025CA-ModMed-Sec_6002

Minimo Margen de

750.000 Reactivo-243.22MVAr
625.000
500.000 ;
2 —— CASO BASE
/ ——L1 Plant (MVAR)
375.000
y, / ——12B  Plant (MVAR)
/
250,000 / L3 Plant (MVAR)
// ——L4B  Plant (MVAR)
125.000 ——16 Plant (MVAR)
/ ——17 Plant(MVAR)
Q[MVAr]  0.000 . . . . . / . . . ——18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 OWOOO 1.050 1.100 1150 . |9 plant(MVAR)
///
-125.000 d 110  Plant (MVAR)
——sT1  Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
09-2025CA-ModMed-Sec_6003
Minimo Margen de
750.000 Reactivo-283.24MVAr
625.000
500.000
—— CASO BASE
/ ——11 Plant (MVAR)
375.000 7
// ——12B  Plant (MVAR)
250,000 : ——13 Plant (MVAR)
// ——148  Plant (MVAR)
125.000 f ——L6 Plant (MVAR)
——L7 Plant (MVAR)
Q[MVAr]  0.000 . . . . . —A . . . ——18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1000 | 1.050 1.100 1150 . g plant (MVAR)
-125.000 110  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ~——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




09-2025CA-ModMed-Sec_6004

Minimo Margen de

750.000 Reactivo:-238.64MVAr
625.000
500.000
—— CASO BASE
——1L1 Plant(MVAR)
375.000
~—~—128 Plant (MVAR)
250.000 ——1L13 Plant(MVAR)
—— 4B Plant (MVAR)
125.000 ——16 Plant (MVAR)

——17 Plant(MVAR)
—~—18 Plant (MVAR)

Q[MVAr]  0.000 . . . . . . . .
0.700 0.750 0.800 0.850 0.900 0.95/1‘000 1.050 1.100 1150 L9 Plant (MVAR)
-125.000 - L1 Plant (MVAR)

——sT1  Plant (MVAR)

o

-250.000 - ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
09-2025CA-ModMed-Sec_6005
Minimo Margen de
750.000 Reactivo:-311.37MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
——12B Plant (MVAR)
550,000 ——13 Plant (MVAR)
——14B  Plant (MVAR)
125.000 ——16 Plant (MVAR)
——17 Plant (MVAR)
Q[MVAr]  0.000 - r : : r r / . . . ——18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.0 / 1.050 1.100 1150 . 9 plant(MVAR)
-125.000 L10  Plant (MVAR)
\\ \ ——ST1  Plant (MVAR)
-250.000 N ——ST2  Plant (MVAR)
: P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




09-2025CA-ModMed-Sec_6008

Minimo Margen de

750.000 Reactivo=525.1MVAr
625.000
500.000 /
/ —— CASO BASE
// / ——L1 Plant(MVAR)
375.000
/// ——1L2B  Plant (MVAR)
250,000 / —~—13  Plant(MVAR)
/’ / ——14B  Plant (MVAR)
125.000 ——16 Plant (MVAR)
// ——17 Plant(MVAR)
Q[MVAr]  0.000 : . r . . . . . —~—18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 // 1.050 1.100 1150 |9 plant(MVAR)
-125.000 110  Plant (MVAR)
// ——ST1  Plant (MVAR)
-250.000 / —~—ST2  Plant (MVAR)
k \ /// P1  Plant (MVAR)
-375.000 \ P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 \ ~— P7  Plant (MVAR)
-625.000
-750.000
V [pu]
09-2025CA-ModMed-Sec_6009
Minimo Margen de
750.000 Reactivo-470.09MVAr
625.000
500.000
—— CASO BASE
——11 Plant(MVAR)
375.000
~——128 Plant (MVAR)
pZ .
250.000 L3 Plant (MVAR)
——14B  Plant (MVAR
4 / (MVAR)
125.000 ——16 Plant (MVAR)
/ ——1L7 Plant(MVAR)
Q[MVAr]  0.000 - - r r r r r . ——18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.ooV 1.050 1.100 1150 . |9 plant(MVAR)
-125.000 7 110  Plant (MVAR)
/ ——ST1 Plant (MVAR)
-250.000 ~——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 7 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




09-2025CA-ModMed-Sec_6018

Minimo Margen de

750.000 Reactivo-241.79MVAr
625.000
500.000 ;
7 -
| / CASO BASE
e ——11 Plant(MVAR)
375.000
——12B Plant (MVAR)
250,000 ——13 Plant (MVAR)
——L4B  Plant (MVAR)
125.000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
Q[MVAr]  0.000 - r : r . . ——18 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 1.100 1150 9 plant(MVAR)
-125.000 L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ~——ST2 Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
09-2025CA-ModMed-Sec_6173
Minimo Margen de
750.000 Reactivo-169.66MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
——L2B  Plant (MVAR)
250,000 ——13  Plant (MVAR)
- ——14B  Plant (MVAR)
125.000 ——L6 Plant(MVAR)
- ——L7 Plant (MVAR)
Q[MVA] 0000 . . . . . = . , . ——1l8 Plant(MVAR)
0.7 0.850 0.900 1.000 1.050 1.100 1150 |9 plant(MVAR)
-125.000 - L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ~——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




09-2025CA-ModMed-Sec_6182

Minimo Margen de

750.000 Reactivo-695.34MVAr
625.000
500.000
/, —— CASO BASE
/ ——L1 Plant(MVAR)
375.000
——12B Plant (MVAR)
250,000 ——13 Plant (MVAR)
——L4B  Plant (MVAR)
125.000 ——16 Plant (MVAR)
// ——1L17 Plant (MVAR)
Q[MVAr]  0.000 - r : : r r . . . ——18 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 100(/ 1.050 1.100 1150 9 plant(MVAR)
-125.000 L10  Plant (MVAR)
/ ——ST1 Plant (MVAR)
-250.000 ~——ST2 Plant (MVAR)
/ P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
09-2025CA-ModMed-Sec_6840
Minimo Margen de
750.000 Reactivo-290.01MVAr
625.000
500.000 /
—— CASO BASE
// ——1L1 Plant (MVAR)
375.000
// ——— 128 Plant (MVAR)
250,000 / / ——13  Plant (MVAR)
// ——14B  Plant (MVAR)
125.000 / ——L16 Plant (MVAR)
——L7 Plant (MVAR)
Q[MVAr]  0.000 - r : r r . . . ——18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.050 1.100 1150 |9 plant(MVAR)
-125.000 L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




09-2025CA-ModMedNoct-Sec_6001

Minimo Margen de

750.000 Reactivo:-273.83MVAr
625.000
500.000 -
y —— CASO BASE
4 ——L1 Plant(MVAR)
375.000
// ——12B  Plant (MVAR)
250,000 / —~—13  Plant(MVAR)
/"// —— 148 Plant (MVAR)
125.000 [ ——L16 Plant (MVAR)
/ —~—L7 Plant(MVAR)
Q[MVAr]  0.000 S . r r . —A . . . ——18 Plant (MVAR)
0.700 \\§\ 0.800 0.850 0.900 0.950 1.000 /  1.050 1.100 1150 9 plant(MVAR)
-125.000 X L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 —~—ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
09-2025CA-ModMedNoct-Sec_6002
Minimo Margen de
750.000 Reactivo:-237.76MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
/ ——12B  Plant (MVAR
/ (MVAR)
7 ——
550,000 L3 Plant (MVAR)
——14B  Plant (MVAR)
125.000 ——L6 Plant(MVAR)
/ ——L7 Plant (MVAR)
Q[MVAr]  0.000 : : : : : : : T ) ——L8 Plant(MVAR)
0.700\\0.75,O 0.800 0.850 0.900 0.950 1.j 1.050 1.100 1150 |9 plant(MVAR)
-125.000 - L10  Plant (MVAR)
\ ——ST1  Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




09-2025CA-ModMedNoct-Sec_6003

Minimo Margen de

750.000 Reactivo=273.05MVAr
625.000
500.000
Vi —— CASO BASE
——11 Plant(MVAR)
375.000 Y
// ——128  Plant (MVAR)
250,000 V. —~—13  Plant(MVAR)
/ / ——L4B  Plant (MVAR)
125.000 ——16 Plant (MVAR)
/ ——L7 Plant(MVAR)
Q[MVAr]  0.000 . . . . —t . . . —~—18 Plant (MVAR)
0.700 \ }\ 0.850 0.900 0.950 Ly/‘ 1.050 1.100 1150 |9 plant(MVAR)
-125.000 ~ L10  Plant (MVAR)
’ ——ST1  Plant (MVAR)
-250.000 ~——ST2 Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
09-2025CA-ModMedNoct-Sec_6004
Minimo Margen de
750.000 Reactivo-231.95MVAr
625.000
500.000
—— CASO BASE
——11 Plant(MVAR)
375.000 —
e ~——128 Plant (MVAR)
250.000 —~— 13 Plant (MVAR)
——14B  Plant (MVAR)
125.000 ——16 Plant (MVAR)
——1L7 Plant(MVAR)
Q[MVAr]  0.000 : . . . . f . . . —~—18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1,000 1.050 1.100 1150 . |9 plant(MVAR)
-125.000 . 110  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ~——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




09-2025CA-ModMedNoct-Sec_6005

Minimo Margen de

750.000 Reactivo-301.89MVAr
625.000
500.000
—— CASO BASE
——11 Plant(MVAR)
375.000
~—~—128 Plant (MVAR)
250,000 —~—13  Plant(MVAR)
——14B  Plant (MVAR)
125.000 ——16 Plant (MVAR)
// ——17 Plant(MVAR)
Q[MVAr]  0.000 . . . . . . . . . —~—18 Plant (MVAR)
0.700 0.750 \0.800 0.850 0.900 0.950 1% 1.050 1.100 1150 |9 plant(MVAR)
-125.000 . 110  Plant (MVAR)
/ ——ST1  Plant (MVAR)
-250.000 ~——ST2 Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
09-2025CA-ModMedNoct-Sec_6008
Minimo Margen de
750.000 Reactivo-505.3MVAr
625.000
500.000 /
—— CASO BASE
/ ——L1 Plant (MVAR)
375.000
/// ——— 128 Plant (MVAR)
250.000 £ —~— 13 Plant (MVAR)
i / ——14B  Plant (MVAR)
125.000 ——16 Plant(MVAR)
/ ——1L7 Plant(MVAR)
Q[MVAr]  0.000 . . . . . . ‘ . . . —~—18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.00% 1.050 1.100 1150 . |9 plant(MVAR)
-125.000 110  Plant (MVAR)
% ——ST1 Plant (MVAR)
-250.000 ~——ST2  Plant (MVAR)
. / P1  Plant (MVAR)
-375.000 A P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




09-2025CA-ModMedNoct-Sec_6009

Minimo Margen de

750.000 Reactivo:-442.45MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
——128B  Plant (MVAR)
250,000 / ——13 Plant (MVAR)
Va ——L4B  Plant (MVAR)
125.000 / ——16 Plant (MVAR)
——L7 Plant (MVAR)
Q[MVAr]  0.000 : . r r . . . ——18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.100 1150 9 plant(MVAR)
-125.000 L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 7 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
09-2025CA-ModMedNoct-Sec_6018
Minimo Margen de
750.000 Reactivo:-236.59MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000 Y <
/ ——L2B  Plant (MVAR)
——13  Plant (MVAR)
250.000 ///
7 ——14B  Plant (MVAR)
125.000 ——L6 Plant(MVAR)
/ ——L7 Plant(MVAR)
Q[MVAr]  0.000 : . r r r . . . . ——18 Plant (MVAR)
0.700\ 0.750 0.800 0.850 0.900 0.950 1,000 1.050 1.100 1150 |9 plant(MVAR)
N\
-125.000 - X L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




09-2025CA-ModMedNoct-Sec_6173

Minimo Margen de

750.000 Reactivo=-170.82MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
——12B Plant (MVAR)
250.000 ——13 Plant (MVAR)
——L4B  Plant (MVAR)
e
125.000 - ——16 Plant (MVAR)
-
— ——L7 Plant(MVAR
P = ( )
Q[MVAr]  0.000 - r : . . . ——18 Plant(MVAR)
0.700 0.750 0.800 0.850 1.050 1.100 1150 |9 plant(MVAR)
-125.000 ’/ L10 Plant (MVAR)
—_——e - ——ST1  Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
09-2025CA-ModMedNoct-Sec_6182
Minimo Margen de
750.000 Reactivo=623.11MVAr
625.000
500.000
V' —— CASO BASE
// ——L1 Plant(MVAR)
375.000
/ ——L2B  Plant (MVAR)
250,000 ——13  Plant (MVAR)
——14B  Plant (MVAR)
125.000 ——L6 Plant(MVAR)
——L7 Plant (MVAR)
Q[MVAr]  0.000 - r : : r — . . . ——18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.0(% 1.050 1.100 1150 . 9 plant(MVAR)
-125.000 7 L10  Plant (MVAR)
// ——ST1 Plant (MVAR)
-250.000 ~——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




09-2025CA-ModMedNoct-Sec_6840

Minimo Margen de

750.000 Reactivo-279.88MVAr
625.000
500.000 -
Vi —— CASO BASE
——11 Plant (MVAR)
375.000 y
// ——1L2B  Plant (MVAR)
250.000 S ——13 Plant (MVAR)
// / —— 148 Plant (MVAR)
125.000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
Q [MVAr] 0.000 T T T T T i T T Y ——1L8 Plant(MVAR)
0.700 N 0.850 0.900 0.950 100/&7 1.050 1.100 1150 9 plant(MVAR)
-125.000 L10  Plant (MVAR)
\\ /,/% ——ST1 Plant (MVAR)
g4
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
09-2025CA-ModMin-Sec_6001
Minimo Margen de
750.000 Reactivo-390.2MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR
375.000 el (MVAR)
/// ——12B Plant (MVAR)
250,000 / ——13  Plant (MVAR)
// ——14B  Plant (MVAR)
125.000 ——L6 Plant(MVAR)
f ——L7 Plant (MVAR)
Q[MVAr]  0.000 - r : r r r /] . . . ——18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.?13/, 1.050 1.100 1150 |9 plant(MVAR)
-125.000 +—— L10  Plant (MVAR)
/
\\N / ——ST1  Plant (MVAR)
-250.000 - / ~——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




09-2025CA-ModMin-Sec_6002

Minimo Margen de

750.000 Reactivo-346.97MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR
375.000 - // ( !
/ ——12B Plant (MVAR)
250.000 / g ——13 Plant (MVAR)
/ ——L4B  Plant (MVAR)
125.000 V ——16 Plant (MVAR)
/, ——L7 Plant (MVAR)
Q[MVAr]  0.000 : . r r . . . . . ——18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1,000 /  1.050 1.100 1150 9 plant(MVAR)
7,
-125.000 7 L10  Plant (MVAR)
7 ——ST1  Plant (MVAR|
7 (A
Z ——ST2  Plant (MVAR)
P1  Plant (MVAR)
P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
09-2025CA-ModMin-Sec_6003
Minimo Margen de
750.000 Reactivo-386.62MVAr
625.000
500.000 2
/ —— CASO BASE
——L1 Plant(MVAR
375.000 e ( )
/// —— 128 Plant (MVAR)
250,000 > ——13  Plant (MVAR)
// ——148  Plant (MVAR)
125.000 ——L6 Plant(MVAR)
——L7 Plant (MVAR)
Q[MVAr]  0.000 : . r r . . / . . . ——18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 %/ 1.050 1.100 1150 |9 plant(MVAR)
-125.000 / L10  Plant (MVAR)
4 ——ST1 Plant (MVAR)
-250.000 - ~——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




09-2025CA-ModMin-Sec_6004

Minimo Margen de

750.000 Reactivo=-331.63MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
——1L2B  Plant (MVAR)
250,000 —~—13 Plant (MVAR)
——L4B  Plant (MVAR)
125.000 ——1L6 Plant (MVAR)
——1L7 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . , ~—~—18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.050 1.100 1150 |9 Pplant (MVAR)
-125.000 L10 Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ~——ST2 Plant (MVAR)
P1  Plant (MVAR)
-375.000 §-\ = = P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
09-2025CA-ModMin-Sec_6005
Minimo Margen de
750.000 Reactivo-423.07MVAr
625.000
500.000
—— CASO BASE
——1L1 Plant(MVAR)
375.000

Q[MVAr]

250,000 | ///

/

0.000 - - : : : r / r
0.700 0.750 0.800 0.850 0.900 0.950 1.W 1.050
\ /4

1.100 1.150

-125.000
N

i\ Y,

-375.000 \\\\\_’/
-500.000 k;/,// -

-625.000

-750.000
V [pu]

L2B
L3
L4B
L6
L7
L8
L9
L10
ST1
ST2
P1
P3
PS5
P7

Plant (MVAR)
Plant (MVAR)
Plant (MVAR)
Plant (MVAR)
Plant (MVAR)
Plant (MVAR)
Plant (MVAR)
Plant (MVAR)
Plant (MVAR)
Plant (MVAR)
Plant (MVAR)
Plant (MVAR)
Plant (MVAR)
Plant (MVAR)




09-2025CA-ModMin-Sec_6008
Minimo Margen de

750.000 Reactivo:-579.9MVAr

625.000

500.000
y —— CASO BASE
v ——11 Plant(MVAR)
375.000 ;
//// ——128  Plant (MVAR)
13 Plant(MVAR)

250.000 /
Vi ——L4B  Plant (MVAR)
// an

125.000 ——1L6 Plant(MVAR)
// ——L7 Plant (MVAR)

Q[MVAr]  0.000 : : " " - : r . . ——18 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 / 1.050 1.100 1150 9 plant(MVAR)

-125.000 L10  Plant (MVAR)

// ——ST1 Plant (MVAR)

~250.000 7 ——5T2  Plant (MVAR)
///’/ P1  Plant (MVAR)

o

-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
09-2025CA-ModMin-Sec_6009
Minimo Margen de
750.000 Reactivo:-506.28MVAr
625.000
500.000
—— CASO BASE
——L1 Plant (MVAR)
375.000
——128  Plant (MVAR)
550,000 ——13 Plant (MVAR)
7 ——14B  Plant (MVAR)
125.000 — pd ——16 Plant (MVAR)
/ ——L7 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . 7 . . ——18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1000 #1050 1.100 1150 . g plant (MVAR)
125.000 . L10 Plant (MVAR)
——ST1 Plant(MVAR)
-250.000 ——sT2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 < P7  Plant (MVAR)
-625.000
-750.000

V [pu]




09-2025CA-ModMin-Sec_6018

Minimo Margen de

750.000 Reactivo-345.37MVAr
625.000
500.000
—— CASO BASE
——11 Plant(MVAR)
375.000
——128B  Plant (MVAR)
250.000 —~—13  Plant(MVAR)
——14B  Plant (MVAR)
125.000 ——16 Plant (MVAR)
——17 Plant(MVAR)
Q[MVAr]  0.000 - r - r r r /" . ——18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 L}/ 1.050 1.100 1150 |9 plant(MVAR)
-125.000 7 L10  Plant (MVAR)
——ST1  Plant (MVAR)
-250.000 —~—ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 7 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
09-2025CA-ModMin-Sec_6173
Minimo Margen de
750.000 Reactivo-228.35MVAr
625.000
500.000
—— CASO BASE
——11 Plant(MVAR)
375.000
~——128 Plant (MVAR)
250.000 —~— 13 Plant (MVAR)
——14B  Plant (MVAR)
125.000 ——16 Plant (MVAR)
. // ———L7 Plant (MVAR)
Q[MVAr]  0.000 . . . . . - . . ——18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.050 1.100 1150 . |9 plant(MVAR)
-125.000 110  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ~——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




09-2025CA-ModMin-Sec_6182

Minimo Margen de

750.000 Reactivo:-700.32MVAr
625.000
500.000
—— CASO BASE
——11 Plant(MVAR)
375.000
——128B  Plant (MVAR)
250.000 / —~—13  Plant(MVAR)
/// ——14B  Plant (MVAR)
125.000 / ——16 Plant (MVAR)
——17 Plant(MVAR)
Q[MVAr] 0.000 T T T T T T T T Y ——L8 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1‘000/// 1.050 1.100 1150 |9 plant(MVAR)
-125.000 L10  Plant (MVAR)
/ ——ST1 Plant (MVAR)
-250.000 ) ——ST2  Plant (MVAR)
/ P1  Plant (MVAR)
-375.000 74 P3  Plant (MVAR)
/4 P5  Plant (MVAR)
~500.000 / P7  Plant (MVAR)
-625.000 \
N —
-750.000 = :
V [pu]
09-2025CA-ModMin-Sec_6840
Minimo Margen de
750.000 Reactivo-395.53MVAr
625.000
500.000 -
/ —— CASO BASE
——11 Plant(MVAR
375.000 e ( )
/// ——12B  Plant (MVAR)
/ J—
250,000 L3 Plant (MVAR)
// —— 148 Plant (MVAR)
125.000 ' ——16 Plant (MVAR)
// ——1L7 Plant(MVAR)
Q[MVAr]  0.000 : . r r . . 4 . . . ——18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 :y(/ 1.050 1.100 1150 . |9 plant(MVAR)
/ 110  Plant (MVAR)
——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
P1  Plant (MVAR)
P3  Plant (MVAR)
PS5  Plant (MVAR)
P7  Plant (MVAR)

-625.000

-750.000

V [pu]




10-2025CA-ModMax-Lluv_6001

Minimo Margen de

750.000 Reactivo-49.61MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
——13 Plant (MVAR)
250,000 —— 4B Plant (MVAR)
——L16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . ——19 Plant (MVAR)
0.7 1.050 1.100 1.150 10 Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~——P14 Plant(MVAR)
-625.000
-750.000
V [pu]
10-2025CA-ModMax-Lluv_6002
Minimo Margen de
750.000 Reactivo-42.64MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
——13 Plant (MVAR)
250,000 \ \\ . ——L4B  Plant (MVAR)
\\\ l%/ ——16 Plant (MVAR)
125.000 \ ——L7 Plant (MVAR)
——18 Plant (MVAR)
Q [MVAr] 0.000 . . . r r Y ~——19 Plant (MVAR)
0.700 0.750 0.800 0.850 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 X ——ST1  Plant (MVAR)
——ST2 Plant(MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
——P14 Plant (MVAR)
-625.000
-750.000

V [pu]




10-2025CA-ModMax-Lluv_6003

Minimo Margen de

750.000 Reactivo:-51.49MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
0\ ——12B  Plant (MVAR)
375.000
\\\ / ——13 Plant (MVAR)
250,000 \ ‘ \ ! ——14B  Plant (MVAR)
\\ / / ——16 Plant(MVAR)
125.000 ——17 Plant(MVAR)
/W ——18 Plant (MVAR)
Q[MVAr] 0000 . . . . . . —~—19 Plant(MVAR)
0.700 0.750 0.800 0.850 1.050 1.100 1.150 10 Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P14 Plant(MVAR)
-625.000
-750.000
V [pu]
10-2025CA-ModMax-Lluv_6004
Minimo Margen de
750.000 Reactivo:-42.32MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——12B  Plant (MVAR)
375.000
—~—13 Plant(MVAR)
550,000 ——14B  Plant (MVAR)
——16 Plant(MVAR)
125.000 ——17 Plant(MVAR)
——18 Plant (MVAR)
Q[MVAr] 0.000 T T T ——L9 Plant(MVAR)
0.700 0.750 0.800 0.850 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2 Plant(MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~~—P14 Plant(MVAR)
-625.000
-750.000

V [pu]




10-2025CA-ModMax-Lluv_6005

Minimo Margen de

750.000 Reactivo:-49.59MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
275,000 \\ k\ ——12B  Plant (MVAR)
\ \ —~—13 Plant(MVAR)
250.000 \\\\\\\ ——14B  Plant (MVAR)
——16 Plant(MVAR)
125.000 \ ——17 Plant(MVAR)
——18 Plant (MVAR)
Q[MVA] 0000 . . . . . —~—19 Plant(MVAR)
0.700 0.750 0.800 0.850 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
~500.000 —~——P7 Plant (MVAR)
~—~—P14 Plant(MVAR)
-625.000
-750.000
V [pu]
10-2025CA-ModMax-Lluv_6008
Minimo Margen de
750.000 eactivo:-83.34MVAr
625.000 /
400,000 /ﬂ/ —— CASO BASE
\ ——11 Plant(MVAR)
475,000 / ——12B  Plant (MVAR)
—~—13 Plant(MVAR)
550,000 ——14B  Plant (MVAR)
——16 Plant(MVAR)
125.000 ——17 Plant(MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 : : - : . . ~—~—19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2 Plant(MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ~—~—P7 Plant (MVAR)
~~—P14 Plant(MVAR)
-625.000
-750.000

V [pu]




10-2025CA-ModMax-Lluv_6009

Minimo Margen de

750.000 Reactivo:-89.63MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——13 Plant (MVAR)
250,000 ——14B  Plant (MVAR)
——16 Plant(MVAR)
125.000 ——17 Plant(MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 000 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 —— ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
~500.000 —~—P7  Plant (MVAR)
~—~—P14 Plant (MVAR)
-625.000
-750.000
V [pu]
10-2025CA-ModMax-Lluv_6018
Minimo Margen de
750.000 Reactivo-39.86MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
/ ——13 Plant (MVAR)
550,000 \ \\ : ——14B  Plant (MVAR)
\ % ——16 Plant (MVAR)
125.000 ——17 Plant(MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . ——L9 Plant (MVAR)
0.700 0.750 0.800 0.850 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2 Plant(MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ~—~—P7 Plant (MVAR)
~~—P14 Plant(MVAR)
-625.000
-750.000

V [pu]




10-2025CA-ModMax-Lluv_6173

Minimo Margen de

750.000 Reactivo:-38.85MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
——13 Plant (MVAR)
250,000 —— 4B Plant (MVAR)
——L16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
// 18 Plant(MVAR)
Q[MVAr]  0.000 - r r r y . . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 1.000 1.050 1.100 1.150 110 Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~——P14 Plant(MVAR)
-625.000
-750.000
V [pu]
10-2025CA-ModMax-Lluv_6182
Minimo Margen de
750.000 eactivo:-109.49MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
——13 Plant (MVAR)
550,000 ——L4B  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr] 0000 . . . . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2 Plant(MVAR)
-250.000 ~——P1 Plant (MVAR)
- P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
——P14 Plant (MVAR)
-625.000
-750.000

V [pu]




10-2025CA-ModMax-Lluv_6840

Minimo Margen de

750.000 Reactivo:-43.6MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
&\ \ ——12B  Plant (MVAR)
375.000 ~
\ ~——13 Plant(MVAR)
250,000 ——14B  Plant (MVAR)
/ / ——1L6 Plant (MVAR)
125.000 \\ ——L7 Plant(MVAR)
\§ /// ——18 Plant (MVAR)
Q[MVAr]  0.000 . . . LY \\\ . . . . . ——19 Plant(MVAR)
0.700 0.750 0.800 0.850 0.90 1.000 1.050 1.100 1.150 110 Plant (MVAR)
-125.000 =" ——ST1  Plant (MVAR)
~—=—ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
~500.000 ~—~—P7 Plant (MVAR)
~——P14 Plant(MVAR)
-625.000
-750.000
V [pu]
10-2025CA-ModMed-Lluv_6001
Minimo Margen de
750.000 Reactivo-68.68MVAr
625.000
500.000 —— CASO BASE
\ ——L1 Plant(MVAR)
375.000 ——128B  Plant (MVAR)
. \\\\\ /7?:: L3 Plant (MVAR)
- ——14B  Plant (MVAR)
\ “ // ——L6 Plant (MVAR)
125.000 X ~ / ——L7 Plant(MVAR)
\ I ——18 Plant (MVAR)
Q[MVAr]  0.000 - - : / r r .
0.700 0.750 0.800 0.850 \ 1.050 1.100 1.150 L9 Plant (MVAR)
L10  Plant (MVAR)
-125.000
——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000
P1 Plant (MVAR)
375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000

V [pu]




10-2025CA-ModMed-Lluv_6002

Minimo Margen de

750.000 Reactivo:-62.46MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 ——128  Plant (MVAR)
‘ﬁ ——13 Plant (MVAR)
—
250.000 o ——L4B  Plant (MVAR)
//\ ——16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
——18 Plant(MVAR)
Q[MVAr]  0.000 T T ' X ~——19 Plant (MVAR
0.700 0.750 0.800 1.100 1.150 ant (MVAR)
110  Plant (MVAR)
-125.000
——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000
P1  Plant (MVAR)
375000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 P5  Plant (MVAR)
P7 Plant (MVAR)
-625.000
-750.000
V [pu]
10-2025CA-ModMed-Lluv_6003
Minimo Margen de
750.000 Reactivo:-69.69MVAr
625.000
500.000 —— CASO BASE
——L1 Plant (MVAR)
375.000 ——128  Plant (MVAR)
——13 Plant (MVAR)
250.000 ——14B  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——17 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 : - T " Lo Plant (MVAR
0.700 0.750 0.800 1.100 1.150 ant ( )
110  Plant (MVAR)
-125.000
——sT1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000
P1 Plant (MVAR)
375000 P2 Plant (MVAR)
P3  Plant (MVAR)
500,000 PS  Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000

V [pu]




10-2025CA-ModMed-Lluv_6004

Minimo Margen de

750.000 Reactivo-62.74MVAr
625.000
500.000 —— CASO BASE
——L1 Plant (MVAR)
375.000 ——12B  Plant (MVAR)
= ~———13  Plant (MVAR)
250.000 - ——L4B  Plant (MVAR)
/‘,/A ——16 Plant (MVAR)
125.000 N ——L7 Plant (MVAR)
\
W ——18 Plant(MVAR)
Q[MVA]  0.000 : : T f ' ' ' ——l9 Plant(MVAR
0.700 0.750 0.800 0.850 Woo 1.050 1.100 1150 ant (MVAR)
== 110  Plant (MVAR)
-125.000 N ==
NS ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000
P1  Plant (MVAR)
375000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000
V [pu]
10-2025CA-ModMed-Lluv_6005
Minimo Margen de
750.000 Reactivo-71.43MVAr
625.000 ‘\
500.000 \ \ —— CASO BASE
\N\ ——11 Plant (MVAR)
375.000 \ ——12B  Plant (MVAR)
=
\\\\ //% ——L3  Plant(MVAR)
250.000 \ " / o ——L4B  Plant (MVAR)
\ \ ////A ——16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 T T " ' ! ~—~—19 Plant (MVAR
0.700 0.750 0.800 0.850 1.100 1.150 ant ( )
L10  Plant (MVAR)
-125.000
——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000
P1 Plant (MVAR)
375000 P2 Plant (MVAR)
P3  Plant (MVAR)
500,000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000

V [pu]




10-2025CA-ModMed-Lluv_6008

Minimo Margen de

750.000 Reactivo:-117.94MVAr
625.000
500.000 "// —— CASO BASE
=
N ——L1 Plant(MVAR)
375.000 s ——L2B Plant (MVAR)

~——L3 Plant(MVAR)

250.000 ——14B  Plant (MVAR)
/A ——16 Plant (MVAR)

125.000 \ ——17 Plant (MVAR)
// —~—18 Plant (MVAR)

MVAr]  0.000 " . . . : : )
Qll 1 ——19 Plant (MVAR)

0.700 0.750 0.800 0.850 0.900 1.050 1.100 1.150
110  Plant (MVAR)
-125.000
——ST1  Plant (MVAR)
—~—ST2  Plant (MVAR)
-250.000
P1  Plant (MVAR)
-375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 PS5  Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000
Vpu]

10-2025CA-ModMed-Lluv_6009

Minimo Margen de

750.000 Reactivo:-119.84MVAr
625.000
500.000 —— CASO BASE
——L1 Plant(MVAR)
375.000 ——128B  Plant (MVAR)
——13 Plant (MVAR)
250.000 ——14B  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——17 Plant (MVAR)
) ——18 Plant (MVAR)
Q[MVAr] 0.000 T T T T T T 7 T T 1 L9 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1. 1.050 1.100 1.150 ant ( )
L10  Plant (MVAR)
-125.000
v// ——ST1 Plant (MVAR)
>~
——ST2  Plant (MVAR
-250.000 = ant( )
P1 Plant (MVAR)
375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000

V [pu]




10-2025CA-ModMed-Lluv_6018

Minimo Margen de

750.000 Reactivo:-62.32MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 ——128  Plant (MVAR)
/ﬁ ——13 Plant (MVAR)
250.000 e —— 148 Plant (MVAR)
k\\\ ——16 Plant (MVAR)
125.000 \N N ——17 Plant (MVAR)
\ \ ——18 Plant(MVAR)
Q[MVAr]  0.000 T T ' ' X ~——19 Plant (MVAR
0.700 0.750 0.800 0.850 1.050 1.100 1.150 ant ( )
110  Plant (MVAR)
-125.000
——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000
P1  Plant (MVAR)
375000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 P5  Plant (MVAR)
P7 Plant (MVAR)
-625.000
-750.000
V [pu]
10-2025CA-ModMed-Lluv_6173
Minimo Margen de
750.000 Reactivo:-54.04MVAr
625.000
500.000 —— CASO BASE
——L1 Plant (MVAR)
375.000 ——128  Plant (MVAR)
——13 Plant (MVAR)
250.000 ——14B  Plant (MVAR)
P ——16 Plant (MVAR)
125.000 - ——17 Plant (MVAR)
A ——18 Plant(MVAR)
Q[MVAr]  0.000 T T " ! ' — ' ' ! ~—~—19 Plant (MVAR
0.700 0.750 0.800 0.850 M 1.000 1.050 1.100 1.150 ant ( )
——— L10 Plant (MVAR)
-125.000 ===
——sT1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000
P1 Plant (MVAR)
375000 P2 Plant (MVAR)
P3  Plant (MVAR)
500,000 PS  Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000

V [pu]




10-2025CA-ModMed-Lluv_6182

Minimo Margen de

750.000 Reactivo:2245.92MVAr
625.000
500.000 —— CASO BASE
——L1 Plant(MVAR)
375.000 ——1L12B Plant (MVAR)
—— L3 Plant(MVAR)
250.000 ——L4B  Plant (MVAR)
——1L6 Plant(MVAR)
125.000

——L7 Plant (MVAR)
——18 Plant (MVAR)

Q[MVAr]  0.000 T T T T " ' ' ! ——19 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 /}%poo 1.050 1.100 1.150 ant ( )

110  Plant (MVAR)
-125.000
/,, ——ST1  Plant (MVAR)
.,// ——ST2 Plant (MVAR)
-250.000 ?
/ P1  Plant (MVAR)
N P2  Plant (MVAR)

o

-375.000
P3  Plant (MVAR)
-500.000 PS5  Plant (MVAR)
P7 Plant (MVAR)
-625.000
-750.000
V [pu]
10-2025CA-ModMed-Lluv_6840
Minimo Margen de
750.000 Reactivo:-69.24MVAr
625.000
500.000 —— CASO BASE

——L1 Plant (MVAR)

375.000 k\\\\ ——12B  Plant (MVAR)
\ \ == ——13 Plant (MVAR)

250.000 \ _ / ——1L14B  Plant (MVAR)
\ /_//\ ——16 Plant(MVAR)

125.000 ——L7 Plant (MVAR)

; ——18 Plant(MVAR)

MVA 0.000 : : r r r .
QMVAr ——19 Plant (MVAR)

0.700 0.750 0.800 0.850 1.050 1.100 1.150
110  Plant (MVAR)
-125.000
——ST1  Plant (MVAR)
——ST2 Plant (MVAR)
-250.000
P1  Plant (MVAR)
-375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-625.000
-750.000

V [pu]




10-2025CA-ModMedNoct-Lluv_6001

Minimo Margen de

750.000 Reactivo:-132.33MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
275,000 S ——12B  Plant (MVAR)
; ——13 Plant (MVAR)
250,000 \ \ \ /é ——14B  Plant (MVAR)
W/‘/‘\ ——L6 Plant (MVAR)
125.000 ——17 Plant(MVAR)
V ——18 Plant (MVAR)
Q[MVAr]  0.000 : . . —~—19 Plant(MVAR)
0.700 0.750 0.800 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
~500.000 ——P7 Plant (MVAR)
~—~—P14 Plant(MVAR)
-625.000
-750.000
V [pu]
10-2025CA-ModMedNoct-Lluv_6002
Minimo Margen de
750.000 Reactivo:-120.88MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
275,000 ——12B  Plant (MVAR)
. —~—13 Plant(MVAR)
250,000 % ——14B  Plant (MVAR)
——16 Plant(MVAR)
125.000 A\ L7 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 : : . . ~—~—19 Plant (MVAR)
0.700 0.750 0.800 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2 Plant(MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ~——P7 Plant (MVAR)
~~—P14 Plant(MVAR)
-625.000
-750.000

V [pu]




10-2025CA-ModMedNoct-Lluv_6003 i e
inimo Margen de

750.000 Reactivo-132.69MVAr

625.000

—— CASO BASE

500.000
——1L1 Plant(MVAR)

375.000 = ——12B  Plant (MVAR)
. \ / ——13 Plant (MVAR)
A\ o —— 148 Plant (MVAR)
250.000
\\\\\\\ ////’\ ——16 Plant (MVAR)
125.000 \\\\ ——L7 Plant (MVAR)
AN %
\\\\ . ——19 Plant (MVAR)

Q[MVAr]  0.000 . . - . . . .
0.700 0.750 0.800 0.850 \\fmso /Nﬂ 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
\v ——5T2  Plant (MVAR)

——18 Plant (MVAR)

-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P14 Plant(MVAR)
-625.000
-750.000
V [pu]
10-2025CA-ModMedNoct-Lluv_6004
Minimo Margen de
750.000 Reactivoi-122.27MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——12B Plant (MVAR)
375.000

——1L3 Plant(MVAR)

250.000 f ——14B  Plant (MVAR)
/ ——16 Plant (MVAR)
———17 Plant(MVAR)

125.000

—— 18 Plant(MVAR)
T y ——1L19 Plant(MVAR)

Q[MVAr]  0.000 .

0.700 0.750 0.800 1.100 1.150 110 Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
——ST2 Plant(MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P14 Plant(MVAR)
-625.000
-750.000

V [pu]




10-2025CA-ModMedNoct-Lluv_6005 i e
inimo Margen de

750.000 Reactivo:-134.93MVAr

625.000

—— CASO BASE

500.000
——1L1 Plant(MVAR)

375.000 \ \ % ——1L2B  Plant (MVAR)
——13 Plant(MVAR)
250.000 \\&\ \ / ——14B  Plant (MVAR)
——16 Plant (MVAR)
125.000 \\\\\\ A /V ——1L7 Plant(MVAR)
\\\x % ——18 Plant (MVAR)
Q[MVAr]  0.000 T T ; " . : . \ ——L9 Plant (MVAR)
0.700 0.750 0.800 0.850\\\ 0.950% 1.050 1.100 1.150 110  Plant (MVAR)
-125.000 - \

——ST1 Plant(MVAR)
——ST2 Plant(MVAR)

-250.000 ~——P1 Plant (MVAR)

P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)

~500.000 ——P7 Plant (MVAR)

~—~—P14 Plant(MVAR)
-625.000
-750.000

V [pu]
10-2025CA-ModMedNoct-Lluv_6008
Minimo Margen de

750.000 Reactivo-191.57MVAr
625.000

—— CASO BASE
500.000

——11 Plant(MVAR)

——12B  Plant (MVAR)
375.000

—~—13 Plant(MVAR)
250,000 ——14B  Plant (MVAR)

——16 Plant(MVAR)
125.000 ——17 Plant(MVAR)

——18 Plant (MVAR)

y ——L19 Plant(MVAR)

Q[MVAr]  0.000 : r r r r .
0.700 0.750 0.800 0.850 0.900 o.éi

T

1.050 1.100 1.150 L10  Plant (MVAR)

-125.000 ——ST1 Plant(MVAR)

——ST2 Plant(MVAR)

-250.000 A ~~—P1 Plant (MVAR)

P2 Plant (MVAR)

-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—— P14 Plant(MVAR)
-625.000
-750.000

V [pu]




10-2025CA-ModMedNoct-Lluv_6009

Minimo Margen de

750.000 Reactivo:-177.53MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
——13 Plant (MVAR)
250,000 . —— 4B Plant (MVAR)
——L16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
// ——18 Plant (MVAR)
Q[MVAr]  0.000 - r : r r . . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 1.050 1.100 1.150 10 Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
= ——ST2  Plant (MVAR)
-250.000 = ~—=—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~——P14 Plant(MVAR)
-625.000
-750.000
V [pu]
10-2025CA-ModMedNoct-Lluv_6018
Minimo Margen de
750.000 Reactivo:-120.85MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
/% ——13  Plant (MVAR)
550,000 . ——L4B  Plant (MVAR)
\\ % ——1L6 Plant(MVAR)
125.000 A ——L7 Plant (MVAR)
/ ———18 Plant(MVAR)
Q[MVAr]  0.000 : ‘ . . . ——19 Plant (MVAR)
0.700 0.750 0.800 1.050 1.100 1.150 10 Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2 Plant(MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
——P14 Plant (MVAR)
-625.000
-750.000

V [pu]




10-2025CA-ModMedNoct-Lluv_6173

Minimo Margen de

750.000 Reactivo:-100.79MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——12B  Plant (MVAR)
375.000
——13 Plant (MVAR)
250.000 ——14B  Plant (MVAR)
——16 Plant (MVAR)
125.000 . ——L7 Plant (MVAR)
/ ——18 Plant (MVAR)
Q[MVAr]  0.000 " : . : : . . \ ——L9 Plant (MVAR)
0.7 0.800 0.850 1.050 1.100 1.150 110 Plant (MVAR)
-125.000 - ~ ——ST1 Plant (MVAR)
W
~—=—ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
~500.000 ——P7 Plant (MVAR)
~—~—P14 Plant(MVAR)
-625.000
-750.000
V [pu]
10-2025CA-ModMedNoct-Lluv_6182
Minimo Margen de
750.000 Reactivo:498.24MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——12B Plant (MVAR)
375.000
——13 Plant (MVAR)
250,000 ——14B  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——17 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 " : " . : y . . \ ~——L9 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 / 1000 1.050 1.100 1.150 110 Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
——ST2 Plant(MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 ~——P7 Plant (MVAR)
~—~—P14 Plant(MVAR)
-625.000
-750.000

V [pu]




10-2025CA-ModMedNoct-Lluv_6840

Minimo Margen de

750.000 Reactivo:-132.58MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR
375.000 == ( )
/ ——13 Plant (MVAR)
250.000 \ \k ——L4B  Plant (MVAR)
\\\\ Wf\ ——16 Plant(MVAR)
125.000 \ \ ——L7 Plant (MVAR)
\\\ jV ——18 Plant (MVAR)
Q[MVAr]  0.000 : \ N . . . ——19 Plant (MVAR)
0.700 0.750 0.800 1.050 1.100 1.150 10 Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P14 Plant(MVAR)
-625.000
-750.000
V [pu]
10-2025CA-ModMin-Lluv_6001
Minimo Margen de
750.000 Reactivo:-34.02MVAr
625.000
500.000
—— CASO BASE
——11 Plant(MVAR)
375.000
~——128 Plant (MVAR)
250,000 \\ ﬁ ——13 Plant(MVAR)
-\\\\\\ // ——14B  Plant (MVAR)
125.000 \ \ ——16 Plant (MVAR)
\ /*P< ——17 Plant(MVAR)
Q[MVAr] 0000 . . —~—18 Plant (MVAR)
0.700 0.750 0.800 1.050 1.100 1150 |9 plant(MVAR)
-125.000 110  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




10-2025CA-ModMin-Lluv_6002

Minimo Margen de

750.000 Reactivo:-34.24MVAr
625.000
500.000
—— CASO BASE
——11 Plant(MVAR)
375.000
~—~—128 Plant (MVAR)
250,000 L= —~—13  Plant(MVAR)
——14B  Plant (MVAR)
A
125.000 ——16 Plant (MVAR)
——17 Plant(MVAR)
Q[MVA] 0000 . . ., —~—18 Plant (MVAR)
0.700 0.750 0.800 1.050 1.100 1150 9 plant(MVAR)
-125.000 110  Plant (MVAR)
——ST1  Plant (MVAR)
-250.000 —~—ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
10-2025CA-ModMin-Lluv_6003
Minimo Margen de
750.000 Reactivo:-33.22MVAr
625.000
500.000
—— CASO BASE
——11 Plant(MVAR)
375.000
~——128 Plant (MVAR)
250,000 A == ———13  Plant(MVAR)
\\\\ K ——L4B  Plant (MVAR)
125.000 \ : \ / ——16 Plant (MVAR)
ﬁ ——L7 Plant(MVAR)
Q[MVAr] 0000 . . —~—18 Plant (MVAR)
0.700 0.750 0.800 0.850 1.050 1.100 1150 |9 plant(MVAR)
-125.000 110  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




10-2025CA-ModMin-Lluv_6004

Minimo Margen de

750.000 Reactivo:-31.9MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
——128B  Plant (MVAR)
250,000 ~ ——13 Plant (MVAR)
/ ——14B  Plant (MVAR)
~ ...
125.000 \\ ——16 Plant (MVAR)
ﬂ\i\& / —— 17 Plant (MVAR)
Q[MVAr]  0.000 : » 7 . . . ——18 Plant (MVAR)
0.700 0.750 0.800 1.050 1.100 1150 9 plant(MVAR)
-125.000 L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
10-2025CA-ModMin-Lluv_6005
Minimo Margen de
750.000 Reactivo:-35.93MVAr
625.000
500.000
—— CASO BASE
\ ——L1 Plant(MVAR)
375.000 g
\\\ o ——L2B  Plant (MVAR)
550,000 Al /g;;,,*f ——13  Plant (MVAR)
\\\\NN /// ——14B  Plant (MVAR)
125.000 \ / ——L6 Plant(MVAR)
\ //'/—’ ———L7 Plant (MVAR)
Q[MVA]  0.000 . . AN ——18 Plant (MVAR)
0.700 0.750 0.800 0.850 1.050 1.100 1150 |9 plant(MVAR)
-125.000 L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




10-2025CA-ModMin-Lluv_6008

Minimo Margen de

750.000 Reactivo:-55.39MVAr
625.000
500.000
A\_ —— CASO BASE
—
ﬁg‘ ——11 Plant(MVAR)
375.000 L
74 ——128  Plant (MVAR)
250,000 /,w ——13 Plant (MVAR)
7@‘\‘ ——L4B  Plant (MVAR)
125.000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
Q [MVAr] 0.000 . . . r r Y ——L8 Plant(MVAR)
0.700 0.750 0.800 0.850 1.050 1.100 1150 9 plant(MVAR)
-125.000 L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
~500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
10-2025CA-ModMin-Lluv_6009
Minimo Margen de
750.000 Reactivo:-57.98MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
——L2B  Plant (MVAR)
250.000 ——13  Plant (MVAR)
——14B  Plant (MVAR)
125.000 ——L6 Plant(MVAR)
——L7 Plant (MVAR)
Q[MVAr]  0.000 " " " " " " " T ) — L8 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.050 1.100 1150 |9 plant(MVAR)
-125.000 L10  Plant (MVAR)
NN ——ST1  Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




10-2025CA-ModMin-Lluv_6018

Minimo Margen de

750.000 Reactivo:-34.34MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
——128B  Plant (MVAR)
250.000 \ é ——1L3 Plant(MVAR)
——L4B  Plant (MVAR)
A
125.000 s ——16 Plant (MVAR)
——L7 Plant (MVAR)
Q [MVAr] 0.000 r —_—— ——1L8 Plant(MVAR)
0.700 0.750 1.050 1.100 1150 9 plant(MVAR)
-125.000 L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V [pu]
10-2025CA-ModMin-Lluv_6173
Minimo Margen de
750.000 Reactivo:-33.83MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
——L2B  Plant (MVAR)
550,000 ——13  Plant (MVAR)
——14B  Plant (MVAR)
125.000 ——L6 Plant(MVAR)
/,///;‘// ——L7 Plant (MVAR)
Q[MVAr]  0.000 : : : N \// : : . 18 Plant(MVAR)
0.700 0.750 0.800 0.85 \owso%moo 1.050 1.100 1150 |9 plant(MVAR)
-125.000 —== L10  Plant (MVAR)
——ST1 Plant (MVAR)
-250.000 ——ST2  Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




10-2025CA-ModMin-Lluv_6182

Minimo Margen de

750.000 Reactivo-82.61MVAr
625.000
500.000
—— CASO BASE
——11 Plant (MVAR)
375.000
/ZZ ——12B  Plant (MVAR)
550,000 ——13  Plant (MVAR)
/// \ ——L4B  Plant (MVAR)
125.000 / ——L6 Plant(MVAR)
// \ ——L17 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . . . ——18 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 /1.000 1.050 1.100 1150 g plant (MVAR)
-125.000 / 110  Plant (MVAR)
AN
\/>/ ——ST1  Plant (MVAR)
-250.000 ~——ST2  Plant (MVAR)
4 P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000
V[pu]
10-2025CA-ModMin-Lluv_6840
Minimo Margen de
750.000 Reactivo-33.81MVAr
625.000
500.000
—— CASO BASE
——L1 Plant(MVAR)
375.000
——12B  Plant (MVAR)
250.000 3 \ S ——13 Plant(MVAR)
\\\\X\ / ——14B  Plant (MVAR)
125.000 \\\ \ /4 ——16 Plant (MVAR)
\ ——L7 Plant(MVAR)
Q[MVAr] 0.000 T T — ——1L8 Plant(MVAR)
0.700 0.750 0.800 1.050 1.100 1150 |9 plant(MVAR)
-125.000 110  Plant (MVAR)
——ST1  Plant (MVAR)
-250.000 ~—+—ST2 Plant (MVAR)
P1  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 P7  Plant (MVAR)
-625.000
-750.000

V [pu]




